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aLntu 1. aNPUYULNHB3UL U4LUNY

1.1 Uplninpuinwyhb onh wwpwatunptph wqnbgniginibp ququuinnipphwhb b
hwiwygywdé inbnwywjwapttnh ghyitph wluwwnwbph Ypw

Uplninpuwiht onh obGpdwuwnhdwbh, 2020wl L hwpwpbtpwywb fjunbGwynepjwb
thnihnfunegnibbtpp nOBG0G wtnwippbn  dESNLRJWGO  wqagnbgnipntt qugqwunnipphbwhG
nbnwywjwopbtph (4SS) L hGnbwpwp GOGwlk npwGg hhdwlb Ypw Ywrenigwé
hwiwygdwé ghyltpnd  wfuwwnnn - nbnwywywbpbtph  wpynibwybunnipyub L
wpunwnpnqwywinigwa  Jypw  [1]:  4SS-h L hwiwygjwséd  wnbnwyuwywbph
wpuwnpnqwywianigwl ypw hhabwywb wagnbgnipnib nibh yndwpbunp G6pddYnn onh
obGpdwuwnhdwbp, huy £020wlb wqnbgnigintbp Ywpnn t hwdwpdtp wybih phs Yupunp:
Undwpbunp  06p66ynn  onh  hwpwptpwlwb  funbwdnigjwb  thnthnfunipjw
wqnbgnipintp gpbipt wbbwl £: Wuwbu, 1 °C-ny onh 9tpdwuwnhiwbh pwndpwgniip
hwOgbglnud £ hgnpnipjwb 0,50...0,90 % wOydwh [2], dhbsgntr hwadwnywihb wpdtphg
8020wl 1 dpwn Gwagniudp ptpnid £ hgnpnepyjwb 0,10 % woydwb: hGs yGpwpetnynid
onh hwpwptpwywb funbwynipjwbp, wwyw npw 1 % thnhnfunigintbp hwbgbglnid
hanpnipjwa 0,01 % L wybh wwywu thnthnfuntpjw [3]:
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UY.1.3 Uplnnpuinwyhb funbwynipywb wqgnbgnipintbp @SS hgnpnipjwb ypw

UY.1.1-1.3—nd ywwnytpjwdéd gpwdhybbpp gnyg GO nnwihu @SS-h hgnpnigjwl L
npw Yndwypbunp dwuwnigdynn onh  otpdwuwnhdwOh, &020wlb L hwpwptpwywb
funbwynipjwb thnihnfunipntbGbtph dhol Ywwp, 2EGGpw| ElGpephpu () pGybpnpywl
wpuwnnnipjwb MS7001 quqwunnipphlwihb tnGnwywywbph hwdawnp[4]:

{wpyh wrelbind, np QSS-h yndwpbunp dwuwnigdnn onh hwpwptpwywb

funbwynipgjwlb L A020wl  thnhnfunipyntbbbph wgnbgnipyntbbtpp wnbnwuwywbph
9



hgnpnigjwlb ypw qqwihnptb thnpp G0, hGswbu Gwb wb hwuwinp, np dpbninpunwihb
A0pndp nwpyw  pOpwgpnid  fuhunn  hinthnfuneentbObph  sh GOpwpyynid, npwlg
wantgnipntbGGpp inbBnwywjwbph ypw Ywnbih £ wphwdwpht:

aSS wpnynibwydtwnnigwb  gnigwbh206ph ypw  Yndwpbunp GGné6Yynn  onh
obpdwuwnhdwlh wqnbgnipintop pEpdwé £ 0Y.1.4-ntd wwwnytpwd gpwdphynid, nphg
Gpunid £, np dpGninpunnwihb onh oGpdwuwnhdwlh (t3) pwpdpwgnidp hwbgbgbnud | @SS
ogunwywn gnpénnnigwlb gnpdwygh (0QQ) (174;) L oguwwp hgnpnipjwlb gnpéwlygh
() OJwqgoiwl, hGinbwpwnp Gwl JweGihph, onh L 9tpintpjwl inGuwywpwn dwfuubph
(B;,B3t,q+q5) OGSwguwl [5]:

Nass @ By Boy Gass

L

ts

LY. 1.4 Undwypbunp 06p&é&Ynn onh obpdwunhawbh wqnbgnipnibp @SS
hhdbwywh tuGpgGunhywywb gnigwbh06ph ypw

Undwpbunp dwuwnnigynn onh obpdwunhdwbh wanbgnipintp QSS-h hgnpnipjwb
dpw wybih funpp nuunudbwuppGine hwdwp, nhunwpytbp npw waqnbgnipntbp onh
utnuddwl wypngbuh ypw: Rwbh np @SS-h Yndwpbunpp dwiuuntd £ innipphbh unbnéwdé
hgnpnipjwlh  dhOsk 60 %-p, nwunh  gwOlwgwéd dhongwenid, npp dhinjwdé  §
Yndwptunpnid onh ubnidwb ypw dwjuuynn wfuwwnwbph Gjwgbgdwlp, hwbgkglnid L
wapnne inGnwywjwaph ogunnwywp hgnpnipjwb wytiwgdwh [6]:

Undwnpbunph wfuwwnwbpp Ywpbih £ GGpywywglt] hunlyw) pwbwdlny’
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L=C,(T,—Ty) = cprl[ﬁ%'ﬁ —1): (1.1)

(1.1)-hg wybhwywn £, np T;-h pwpdpwgnidp hwbgbgbnid b ubnidwb wpngbuh ypw
Swfuuynn wuwwnwbph wybjwgiwl:

Gpt ghyntd hwydh swrOybh 2020wl wOyndbbpp YndwpGunph dniunpniy,
yndwypbunpp  wypdwb YwdbpwihtG dhwglnn wmpwywnnd L wnnepphGh Gipnid,  huy
w2fuwwnnn dwpahbabbph obpdntbwynigntbbtpp pnnibybt hwunwunnil, www ASS-h
pGpinnhOwdhywywt  wprynibwybunngntp Ywpbth £ GeplQuywgll;  huinbywg
pwOwdlny’

. L4
A - .
Cp(Ty—T3)

= ST -1 2 ’ (12)

npuntn B—0 Yndwpbunpnid 620wl pwpdpwgdw b wunhswbl k, k=CPfCV-0 wnhwpwuwnh

gnighsl b, 732 =0 wintpphlh wnihipny 0QQ-0 &, 7;; —0 Yndwntunph wnihuinpnw 0GQ-
G Lk, T3 —p OSfuwgwqgbph obpdwuwnphswlGG t winipphGh  dnwnpnud, T5-0 onh
oGpdwuwnhdwbb t Yyndwptbunph Gpnd, T; -0 onh otpdwunhdw0b £ Yndwptunph
dninpnid, Le—p wnipphlh  nbuwwpwn wpfuwwnwipt £, E-0  Yndwpbunph
nbGuwywpwp w2fuwnwbpl k:

hOswbu Gpunwd t (1.2)-hg ASS yndwpbunp GEp&SYnn onh otpdwuwinhdwlh
pwpépwgniip hwOgbgnid t @SS-h pbpdnnhGwdhywywa 0QQ-h Gwqliwl, onh
ubnidwlO Jpw Swpuudnn  wnbuwlwpwnp  wuwwnwOph  dEd6wgiwb  hGwnlwbpny:
Undwnpbunp dwunnigynn onh obpdwuwnhdwbhg ASS-h OQQ-h Ywiujwonipjwb dhunnudp
hwyqwpyjwdé (1.2) pwlwadlny, Gepyuwjwgwd t GY.1.5-nd wwwnybpgwd gpwdhynid:
Uuwnbn T3=1400 °C, % =n=0,9 L k=1,4 wwjiwbGtph hwiwp hwqwpyjwsé t onh
oGpdwuwnhdwlh  wgnbgnipnttp @SS-h 0Q4Q-h  Jpw  Yyndwypbunpnid 020wl
pwndnpwgiwl wunhdwbh 8...20 dhowywpniy:
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Onh émnmmmm[;f]
ULY.1.5 @SS ptipdnnhbwihywywb OQAQ-h ywfuywdnipinip dplninpuinwyhb
onh 9tpdwuwnhdwlhg Yndwptunph 8020wl pwpdpwgiwl tnwppbn
wuwinh8wbbGph nGwpntd

aSS yndwpbunp 0OGpééYnn onh obpdwunpsfwlh pwpdpwgdwl hwonpn

hpdbwywb wagnbgnipintp onh qwOqywdéwiht  6wfjuuh OGJwgnudb : QSS-0G, npp
w2fuwwnnid bt hwunnwunnid wyunndw b wpwagnipjwdp, hwOnhuwbnd b hwuwnwunnd
Swdwiwiht deptlw: Onh qwOgwdéwhb Swfuup Yndwpbunph dninpnid Ywnpbih
OGpYwywgll] hEnlyw; pwlbwdlny’

mg=pgV, (1.3)
npwntn V-0 onh dwywiwihb dwiuub £ Yndwptunph dniwinpnid:

Onh fuwinnigintbp YndwpGunph dntinpnid(eg: )ywptih b GEpyuywgbt)
pgi == (1.4)

RI_'._’
npwntn Py-p 02nud0 | yndwyptunph dntnpnid, R-0 nibhybpuw) quguihb hwuunwiunndGh
E, T3- p YndwpGunph dniwnpnid onh otipdwunhiwlh £, pz:- 0 onh fjuwnnignibl L
yndwpbunph dntuinpnid:

UY.1.6—nid wwwnybpjwséd  gpwdhyn gnyg £ wwhu  onh  funnipwl
Ywiuqwénignibp  9Gpdwuwnhifwlhg, Gpp £0pnudip hwjwuwn £ 1,013 pwp, huy
hwpwpGpwywb junGwynipintp™ 60 %:
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LY.1.6 UplninpuinwhlG onh funnipinitbp npwtu $nibyghw obpdwunhswbhg
(1,013 pwp 8620wl L 60 % hwpwpbpwywb junbwynipjwb wwjdwbaGpned)

Ququunipphbh hgnpnipintbp Ywnbh £ GpYuywgltp hEunlyw) pwbwdlny’

(1.3), (1.4) L (1.5) pwlwdlbph hwdwwnbnniihg quqwunipphbh w2fuwwnwbph

T, (1— _)—Ti(ﬁ”?ﬂ%—l)]: (1.6)
B & THA

(1.6)-n gnyg t wwihu, np qwqwuwuinipphbh  hgnpnipjwb  Gwgniip
wwjiwowynpywsé £ onh ubnidwl nbuwlwpwn wfuwwnwbph dEdwgdwdp, wninipphbh

hwdwp Ywpnn GOp gpb|’

B, B,

nGuwywpwp w2fuwwnwbph Gwqiwdp L ;;1'; wlnwdny, npp gnyg k' tnwihu Yyndwyptunph

dntuinpnid qubagqwéwihb éwfuup:

Gpb Te-n, m:— Y 'nge — 0 GOpwnpdbl hwuwnwunnib, Gwbl pGnniadh, np
yndwptunph &£020wl  pwpdpwgdwl wuwnhdwOp sh thnthnfuynid  dwuwnnigynn  onh
obpdwuwnhdwlhg Ywdwé, www nplk wnpwéd 9bpdwunhdwbh nbwpnid QSS-h
hanpnigywlb  hwpwpeGpnipntop  hwqwpyuwihb hgnpnugywbp upth £ Gepyuywgll)
hGuinlyw| Yespw’

Pei(T) _1-1C
Pei(I1S0) T,p ' (1.7)
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(1.7)-p gnyg t vnwihu Yndwptunnp GEpééynn onh obpdwunhawbh wqnbgnipinibp
QaSS hgnpnipjwb ypw, hwunwuwnnib B-h nbwpntd:

Bei (T

LY.1.7-nud wywwnybpgwé gpwdhynid ppdwé GG hgnpnipjwb gnpdwygh (pwr,}sé})

wndtiplt un (1.7)-h, Gpp T;=1400 °C, m; = 7,=0,9 L k=1,4, Yndwptunpnid £620wb
potputnp p NP 43 i i wpaunp 2

pwndpwgliwl nwpptp wunhsdwbbutph nbwpntdy:

0.E0 }
L] b 10 L3 20 23 L] 35 10
Cmh pbpdusankdull G

UY.1.7 @SS hgnpnipjwlb gnpdwyhgp npwtiu $nibyghw Yndwpbunph ubnddwb
wuwnhswbhg L dplninpunnwhb onh 9Gpdwuwnhdwbhg

LY.1.7-hg Ywnpth t Oywwb, np dbwgwdé pninp hwjwuwn wwdwbaGtph
nGwpntd, hGspwb aGd t Yndwypbunpnud £020wlb pwnpdpwgdwl wuwinhdwbp, wybpwl
wytih 066 L O6pdddnn onh obpdwuwnhdwlh pwpdpwgniihg AQSS-h hgnpnipjw
waynudp:

{wdwygdwsé  ghytph  nbwpnid Q@SS Yndwpbunp  dwuwnnigynn  onh
oGpdwuwnhdwbh thnthnfunipjwb wgnbgnigintip GYwwnynid £ Gwb unnphb™ 2ngGopwyhl
ghyth Jypw: Uwulbwydnpwwtu, OGdwgnid t 4QSS-hg ngnt rbgtlGpwunnp  wnpdnn
obpdwiht LOGpghwih pwOwyp: Wu wOyndp wwpdwlwynpwd t ASS-hg hGrwgnn
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Sjuwgqwabph pwlwyh OGwqiwdp, L dhwyla thnpp-hGs thnfuhwuwnnigynid | htrwgnn
Sjuwgqwabph obpdwunhdwlh pwpédpwgiwl wqnbgnipjwip: Npwbtu hGinlwbp, wytih
phs aninp2h b wpunwnpygnid, npp Gwbwynid £ ongGuininipphOh hgnpnipjwb 0gwaned:
UytELha, dplninpuinwihb onh otpdwuwnhfwlOh pwpdpwgniip wagnned b Gwl gnpnpawihb
ghyth  hnqwgdwb hwdwywpgh wpfuwwnwbph Yypw L pGpnd | ongGuinnipphlh
wpunwéiwb otndwunhiwah puwpdpwgiwl:

1.2. QSS Yndwyptunp dwunnigynn onh hnwgiwl Gnwbwybtph L upuGdwbtph
gGpniénieynil

Ahunwnytbp dh wpp Gnwlwyltp, npnbp Gwywwnwlwninnwéd GO 2powlw
dhowdwjph otpdwuwnhdwlh pwpdpwgiwl wwpwquwinid @SS hgnpnipjwlb wGaydwh
JGpwywbqbdwbp, nGnwywjwbaph Yndwypbunp dwuwunigynn onh hnjwgiwl dhongny
[7,8,9,10,11] : Opwlg UdG9 jnipwhwwninly wnbn bt gpwynd hnugiwl thnpdlwywl
nGnwywywbpp, npntd @SS Yndwpbunp dwuwnnigynn onh hndwgnidp hpwywbwgynid k
onh otipdnipntbp  hwnnpnbiny hnnwdéwdéynyph npnwyh funpnipjwb 26puinbphG: Wu
uGennp hpdbJwé t wyb Gplunyph ypw, np suwywd, np opw pbpwgpntd dplninpuwhl
onh obpdwuwnhfwlp wwwnwlynd [ pwdwlwbha 066 powbwylbpnid, dnun 24
funpnipjwlb Jypw' hnnwtpunh oGpdwunhiwlp gnpétwywbnid dand £ hwuwnwunniG:
UY.1.8-nid wwwnytpwdé gpwdhyp, npwtu ophGwy gnyg t wnwihu <Gnyuwuwnwlh
Uhdwnbpwn  pwnwph  onh L wwpptn funpnignLGOGpNLG hnnw6pwnh
obpdwuwnhdwlOtph  nwwnwbnudbtpp wdwewiht npll opw plpwgpnid: POswtu
Gpunud £t pEpdwé gpwdhyhg, vhGs onh obpdwuwnhdwbh thnhnfunipintbp opdwi
pOpwgpntd uwquinwd £ 10 °C, pwpdpwlwiny ohosk 32 °C, Gpp wewynuywb dwakphl
wjb 22 °C tp, 30 funpnipywlb hnnwtpuinh obpdwunhdwOp gnpdGwywbnid donwd
hwuwnwwinnia® 25,7 °C obpdwunpswOny: Liwlb hndwgiwl hwdwlwngbpp Yhpwreynid
GO SYypnwywinid L gnuupuwht  Udkphywynud  obpdnglbph,  prsGwpniéwlywl
hwdwhpbGph L funqupniéwpwbbGtnph onnpwydw b hwiwywnpgbpnty:
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UU.1.8. <{nnwiswédynyph obpdwunphdwbp wnwwpptp funpnugynbbtph ypw L onh
obpdwuwnhdwbp Uhdwnbpwnnid, 19...20 ognuwnnuh, 1999p.

Snighs Obp

UpOn npunwghl
on
S . —
. ‘Lllil; | —i Uwrpon
34
1 £ AP J/
R TS, s
B T e S R e [

504

LU.1.9. @SS dwuwnnigynn onh hnnwdéwdéynyph dhongny hnjwgdwl inbnwywjwbp

aSS Jdwuwnigynn onh ybpp Gpqwéd hndwgiwl hwdwlwpgh thnpdbwywb
intbnwywywbpp, npp tnbnwywywé § <onuunwith Uhdwnbpwn pwnwpentd, Yugdywod
£ 50 JEpywpnipjwdp 10 vd inpwiwagdnd Ynnwynpywé funnndwyhg, npp guinbynid £ 3 4
funpnipjwb ypw: <wybywy) onwaininp annud t dpbninpuiuwhb tnwp onp wyn funnnjwyh
uhond, nph Ygnwu Ynndhg nnipu Gynn onp nitbh gpbpt hnnwtpunh obGpdwunpdwbhG
hwjwuwn otGndwuwnhfwb, L wpntb dwuwnnignud b AQSS yndwptunp (LY.1.9): ABB
STAL GT10B unnth QSS-h hwdiwp Ywwwpwéd hwpdwnylbph wpryntbplbpp
thwuwinnid 660, np Gpdwé hwdwywpgh Yphpwenwdp Gpwé pwnwpenitd ypbGph QSS
ogunwywp hgnpnipjwb 1055 §Ywr wytiwgiwa [12]:

UY.1.10-nd ywuwnybpdwsé GG ASS dwuwnigdynn onh hnjwgdwl hhdbwywh
GnwlOwyltpp, npnbp pwdwbynid GO Gpynt hhdbwywb nGuwyobph™ “2wpnibwywyub
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hnjwgiwl hwdiwywnpgbp”,

Gpp syw wOdhowywb Yynbwnwywn hndwgynn onh L

hndwglnn dhowdwjph dhol, L “gninpwpwpwn hndwgdwb hwdiwywpgbp®, npnGgnid

hndwgniip hpwywOwgynid t hndwgynn dhowywjph L hnwglbnn wqgtlunh juwrbtdwl
upongny [7...11]:

Q55 wnlnn onh
hiugdiuh
Puutulpurgbin
| |
Supnuulpulpul Qrynp pupn
hrejugdul h wh
hwdulungbn o lpangbp
J I
Thug iy Uiusirpuaslyiaiti Ui Aherhn
Shly Bhig hduwlpupg b wyannLd huwiwlppgbn
| I | I
Ukusobuniubiwhl Atpdira pjusl Pupd
Uyreariiasly sty n
e nbryuwlip i atputmgra | | CfRAAA
I | | |
"'"“‘-‘-J';;‘” Upunppghl | | Uungh Srh
R, bl Yrunwlrd e d

UY.1.10. @SS yndwptunp dwuwnnigynn onh hnwgdwb dtpnnltp

Uwinnpl GEpYuwywgyned 60 npwbg wfuwnwbph hndbwywb uygpnibpbtnp:

<nywquwl pwnniGwlwlwl hwdwluwngbn onh hnuwgnidp hpwywbOwgynid L
aQSS yndwpbunp (lnpwyunh)  abo,
yYndwptunphg wrwy, stpdwhnuwlwyhs wwwpwwnh wnbnwnpdwdp: 2nipp, Ywd nplk

onh dwuwnnigdwl hwdiwywpgh onwuwwnph

wj uwrlwpwOwht wagblun Yupnn § hwOnhuwOw| gpuinh wnpjnip: Ybpohl nbwpnid
wOhpwdbywn [ Gwl uwerGwpwOwht nbnwywjwbp: Wu wnhwh wnbnuwyuwjwbpltphg
wibtlwwnwpwoéywolbpp nbbG Yndwpbunpuwyht wd  wpunppghnb  uwrGwnpwOwh
nGnwyuwywbplbn, Jwad 9bpdwhb EaGpghwih yninnwydwb hGwpwynpnigneb:
Qninppwnwin  hnywoiwl  hwdwlwngtn  wju  hwiwlwnpgbph  w2fuwwnwbph
hpdpnid pbywé L oph gninp2hwgdwl dhongnd onh hnjwgiwl hpwywbwgnidp:
Annpwpwp  hndwgiwl  hwdwlwngbph hwdwp  gnnegntd nbEG onp L onLpp

ynGunnwyuinh a9 nOGint Gpyne hpdbwywb Gnwlwylbp” wjwlnwywb Gnwlwy, nph
17




nGwpntd, onp unhwnnwpwn nwnynid £t yndwyptbunp onh dwunnigdwl hwdiwywngh
onwwmwnph db9 wmbnwywiywé ppoqwd  poholtp, L opwihh  d2nLwwwinnidp
(O2nwwwiuinniy’ funbwy onwyiht dhowywjph uwntnénid), nph nGwpntd Yyhpweynid 6o
onh  thnzhwgnighs  thnnpwytn:  <hpphnwiht  hwiwywnpgbpnid,  gninpzhwgdwb
hnJwgldwl wagnbgnigintbp hwdwygynid t npll wy inhwyh etpdwhnfuwbwyhsh htwn,
npwbu Jwint™ wyunwundnn otpdwthnfuwGwysh: Cwpnibwywywb hwiwywpagbpp hptog
htpphl pwdwOynud GG 2 fudph

-Pwg ghyny wpnibwyuywb hnjwgntiy,

-Owy ghyiny wpnibwywywb hnwgnty:

Pwg ghiyny pwnniwlwlwl hndwagnid  wju hwdwywpgnid, onh hnwgdwl

hwdiwp wbhpwdtwun onpp ypgynid £ nplt wpunwpht wnpjniphg(gbwn, |hg Ywad ény) L
ogunwgnpéynid £ yndwpbunphg wrwe inbnwnpywéd otipdwihnfuwbwyhs wwwpwwnnid
npwbu uwrOwpwOwiht wagbtw: Uu hwiwywngh hhdbwywb wewybinigntbp Gpubned
E, np wlb 2w wwpg hpwywbwgnid nibh, pwg wbuinp £ Gp6], np npw hndwgdwb
wnunblghwip Ywiugws £ oph wnpyniph eGpdwuwnhdwlhg b wnbnwbph Yihdwjwywl
wwjiwbbbphg: Lwb otpdwhnuwlwyhs wwwpwuwnh Yhpwenipinibp ptpnid £ onh
dwunnigdw b tnnpwyunned 620wl woydwb dEéwgiwh:

Quily ghlyny Yndwnbunnuyhl uwrtwnwluwyhl inbnwlhuywlpny pwnniGuwlwluwl
hnywgrnid _Uju dtpnnh nGwpnid ogunwgnpdyntd £ onh dwuwnnigdwl  wnpwywnnid
nbnunpywé otipdwhnfuwbwyphs wwwpww, npnd 2powlwreynid | uwrbwnpwbwhG

nplt  wqbOwn, npp hp hGppht hnwgdnd b uwrlGwpwOwht  nbnuwywjwbpnid:
Withwwpryniwytwn hwiwywpgp wdnbhwyh gbpubnigdwdp hwdwywpgb t, npnud
Uhpwrdnid G0 wyunntinwywiht yndwypbunp(btp) L dwytpunipwiht Ynbnthuwunnp(Gtn):
<bnniyh gbpubnuip hpwywbwgynud b obpdwhnfuwbgdwb gnpéwyhgp 25...30 %-ny
dGowglbint Owwuwwyny: Ywpbh t yppwet, dh pwlh 020wl wdinGhwy dh pwbh
wuwinhdwbwha ghytpnd, uwrltwpwOh Yyndwypbunph dwiuuwdéd LOGGpghwl Gjwqgbglbint
hwdwp: Uwrlwpwlwih wnbnwywjwbph yndwyptunpp Ywnpnn £ nlbGowg GYunpwywa
wa Jwrtihpwht hwnnpnwy: dwetihpwht hwnnpnwyny yndwpbunph Yhpwrdwb
nGwpntd wbnh Lt nbGOnd “Owpnip”  fIGULnpwywlG  hgnpnigjwlb  pwpdpwgdwl
wyGiwgned, uwwyt wybniwatbwyohy tiGYunpwtoGpghw  ywhwbeynid jninh wyndwtph
L wy odwlnwy uvwppwynpnuibtph hwdwp:  <wiwywnpgp  wwhwGgnd L
hwitlwuwnwpwn 066 Ywwhunw| OGpnpnudbtp, 066 nbnwywdwb nwpwép L pwpn
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2whwagnpéiwl dko: Ywrbihpny wpuwwnnn Yndwptunpbbp Yyppwreynid GO, Gpp Yu k.
tGpghwih  YGpwyuwbqbiwlb  Swjpwhtn  wbhpwdbunnipnit:  SEnwnpdnud £ Gwbl
wwunwwbnipjwl hwiwywnpg, uwrtwpwlwht wgtlunh wpunwhnupbphg funtuwtGnt
hwdwnp (0y.1.11):

guin &uzdub ghiy

pupdp S0jduwb gay ) R gnud
Wndwnturnn r-%_‘\'
qwnahy \(ﬂ NG ALOuswn A
) ~ ¥
-~
- [
[} 1=l
mwl.'u.lll"’-’
-_ "-..l"'-..l""\."l‘-ml‘-r'.‘-J - Shwgwgtp
an

ha i gnLghy

ndwpEwnp

gL e pp b
LY.1.11. Undwypbunpwjhb uwrbwpwlwhb nenwywjwbpny 2wpnibwywywl
hnwgiwb inbnwywjwbp
Quily ghlyny wpunnpghnl  uwrGwnwlwihl  wnbnwlhuwywbpny >wnniGwlwlwl

hnywgnid  wju hwiwywpgp wwhwGontd  obpdnipjwlb wnpjnip’ rGgtOGpwwnnph
hwdwp: Npwbu otpdnipywlb wnpnip unynpwpwp Yhpwentd G0 gqwqwunnipphbhg
htrwgnn Sfuwagwagbtpp, Ywd gninp2h, Get hGwpwdnp t: Upunppghnb uwrOwpwOwhG
aGptOwlGpp, dwulbwynpwwbu Opwbp, npnGp npwbu  uwrOwpwlOwiht  wgkbwn
ogunwgnpénid GO0 |hphnidh ppndpnp, wnwphbUtph pbpwgpnitd (wjb Yhpwrenigntd GO
unwgt] wdhwghnt qwquwunipphbGoGph  hndwgdwb  hwdwnp: “Ywlp Ywpnn GG
hnqwglt] onp dhGslk 10 °‘C: Npwbtu rtgtUGpwwnnph otpdnuywl wnpntp wpnn
Uhpwrdt] Gwbl qug Ywd tnwp onp: 20wjwéd np wyu nbwpnid 9tpdntgjwl wnpjnipp k.
tUGpghw sh Swuunitd, uwyw)b k. tGGpghw wOhpwdtwn £ wndwtph, YynGnhuwwnnph
onwuintnbtph L wy odwlnwy uwnppwynpniibtph hwdwn:

Upunppghnl  inBnwywjwbpp (GY.1.12) Ywpnn £ |h0G a6y Ywd  Ynyhwyh
wqnbgnipywb: ULy  wagnbgnipulb  nGnwywywGpp  nbh - tGGpghw)h  0,7...0,9
JGpwihnfudwb gnpéwyhg, Ynyowyh wagnbgnipjub inbnwyuwywbpbtpnid wyt hwubned £
1,15-h: UGY wagnbgnipjwb gninp2nt wpunppghnt hwdwywnpgp wwhwbonwd £ 1...1,4 pwn
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L020wlb gninp2h, huy ypyowyh wanbgnipjwlb nbnwywywbpp™ 7,9...8,3 pwn: YUpylwyn
wqnbgnipjwl hwdwywpgbpnud Ywpbth £ yhpweb, wdbih gwép £60wlb  gninph,
uwywlb nw pbpnud £ wpryniGwyGunnegjwb waydwb: Ophbwy, 2ngnt 8020wl dhGsl 4,8
pwpn hotigniip pbpnud £ hndwgnigsh wpunwnpnnuywbnigjwb 20 % waydwb: Ypyowyh
wqnbgnipjwl wpunppghnb hwdwlwngbph 2ngnt dwiuup dnun 2 wOqwd wybih phs E
hwitiwwnwsé 06y wqnbgnipjwb hwiwywngbph htwn:

Mwpg ghyiny wpfuwwnnn  4SS-06ph  nGwpnd, pwywywb tOGpghw
wpuwObunynud 2powlw dhowywjn™ htrwgnn dfluwquqtph htwn: Un LaGpghwb Ywpnn
t ogurnwagnpéyt) nplt ogunwywn OGwwwnwyny: OphGwy, @SS hbrwgnn dfuwqugbpp
ywpnn G0 wGdhowwbtu oguinwgnnéyt] npwtiu otpintpjwl wnpinup’ rGgtUGpwwnnpnLy,
ywd wpnn G0 ogunwagnpdyb] tnwp ontp Ywd gninp2h wpunwnpbint hwdwp®™ QSS-hg
htunn obpdwhnfuwbwyhsh nGnwnpdwadp:

C

Wwpunppghnl L.L;.-r:-r.uun-u.-[uumn
G wlw puw g

)| ey

on
hnyusgnighy

FwWgwqEn

cEliEnwwnnn

Yndwnpsunn

gQuigquunnipppl

LY.1.12. Upunppghnb uwrlOwpwOwiht inbnwywjwbpny 2wnnibwywywb
hndwgiwl inbnwywjwbp

Uwywib wbuwp Lt OYwwnh nlbGOwp np, Gpp wnwp 9onph Jwd  gnnppnt
wpunwnpnipjwb  hwdwn wwhwGoynid £ Onp  gGpdwhnfuwbwyhs dwytplnyplbph
nGnwywinid oguinwhwOhs Ywpuwnid, www npwbp hwaqbgbnud G0 2020wlb wGydwh
dGowgiwl, dwlwywln Gpp wn Onp dwybpunypltpp wybiwgynid GO npwbu
Jtpbwywrenigwép L npwbp hwyyh s60 wrtywéd Gwuwgsiwb dwiwbwy:

Quily ghlynd pwnpniGuiiwlwl hndwagnid obpduyhl taGnghwyh Yniunwydwdpe wju

hnwgiwl hwdwlwpap nsy whywhb dwdbphlt uwnbnénid L Yninwiynid £ gnipun
(uwenyg Jwd uwep 9ontp), npp wWhywha dwabphbt oguwgnpéynid £ yndwpbunp
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dwuwnnigynn  onh  hndwgdwl L hgnpngntbp wdbiwgbbine  hwdwn:  Uuwhuh
pOUnctpwantpny hnjwgiwl hwiwywpgp inlbwnbuwwtu ogunwywn t dhwb opjw dh
pwlh dwatphl, bhwwnywwbtu Gpp qwawplwhbt L undnpwywh dwdtphh k.
tuGpghwltph wpdbplbph dhole tnwpptpnupnbp 66 £: 20wjwé, np wyu hwiwywpgbpp
pwywywlwswdh  Gpywp  dwiwlwywhwwndwoéntd  Ywpnn GO weweowglb)
obpdwuwnhdwOh  GwlOwywih  photigniy, upwlg Yhpwrdwdp hgnpnipjwlb  dhohl
wyGiwgniip watbwtnpnla £ dwgwé pninp hwdwlwnpgbph hwdbdwwn: <wpy b G6]
Owbl, np Ywwhww) GEpnpnudbGpp L Yuwywbh pwhwgnpéiwl pwpnbgnidp 2wwn wybih
at¢ 60 dpnwwywndwdp hnjwgliwb hwiwywnpgh hwdtdwwn:
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_g Wt .'"--é K‘- 4 |
= 1 N I
L - ]
wmsies | 5T/ G
Ay rLl & __:_.': -—-t:-c:l—J :
L -}
| |
#‘;”“" UusnGiupuwOuiphl whnwlasulp
- L |
on
hagw gmeghs

guiquinnepphl

LU.1.13. 26pdwhl taEpghwh Yniinwiynid uwep 9oph inGupny

UY.1.13 L 1.14-nid O6pYuywgwé 6O otpdwyhb  tGGpghwh  Yniinwydwdp
hnjwgiwl hwiwywnpgh ufuGdwbtGp, otpdwiha tGGpghwih Yninmwydwlb uwrep opp L
uwrgh wntupny hwiwwwunwufuwbwpwn: Uwenygp wibbwwpryniGwydtun yninwydwb
Gnwlwyb t, pwOh np npw gnunh WywhwwOdwb dwywip dh pwih woqwd wytih 066
wju inhwh hwiwywngbpnid Yyphpwreynn dbwgwé hbnniybbph hwdtdiwwn:

Uwrp onipp wd wy henniyutpp Ywpnn G0 GnyObwbu nhunwpydt), vwywb wyn
nGwpnid Ywpnn G0 wwhwbeyb) dhOslk 7 wOgwd wybGih 066 Yninwydwb swywibtn
uwrgh Yyntinwydwb hwdtdwuw, npp pGpnid £ npwbg yhpwrdwb uwhdwbwdwynidbbph,
Gpp wwhwboynid £ yndwptunp dwwnnigynn onh funpp hnjwgnty:
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Rrwanghy

dhowguigen

yndwpEunp

Guiguwunnippnd

LU.1.14.26pdwjhb EOEpghwh yniinwyned uwirgh inbupny

<nyuwquwl wywlnwlwl gninppwnuwn hwdwlhuwnpgbn wju hwdwwpgbpp oph

gninp2hwgiwl hwiwn oguwgnpénid GO funbwywgdwdé ghyniinquyhb Gppwpbitphg
wqidwd poholtp, npnbp wbnwnpynud GG Q4SS UYndwpbunp onh dwuwunnigdwl
npwyuinnid: <bwpwynnp hpwgybihp obtpdwuwnhdwbh hotignidp dh Yynnihg $nibyghw L
wnbnwyuwjwlph Ywenigywdéphg, L gntu Ynndhg zpowyw dhowywinh wwjdwbibphg:
<ndugnigsh  wpryntbwybunigniip (E) YwpGih £ O6pyuywglb) (1.8)  pwlwduny
(0Yy.1.15.)

E=Ta"Tac 100 %, (1.8)

a twh
npuinbn  Ta-0  dlninpuwhlG onh  9GpdwuwnhgfwlG £, Tac-G  hnwgywd onh
oGnpdwuwinhdwbh £, Twb-0 funbwy obpdwswihh oGpdwunhaw t,

: (1]
510 15 20 25 30 35 40 45 50
Zop gbpdugwhh pEpdunnhiuG [ “C]
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UY.1.15. Mupfuhnibwunphy nhwgpwd wywbnwywb gnpnpwpuwn hnuwgdw
hwdawywnpgh hwdwn

E-h wvnhwhy wpdtipp pbywé £ 85...90 % uwhdwbbEpnid: Uw Gwlwyned £, np
hnjwgiwb hGunlwbpny onh otpdwuwnhiwlp hGwpwynp sk hwwuwnbglt) funbwy
otndwswhh 9bGpdwunhiwbhb: <nwgiwb wndtpp Ywjuqwéd t onh L 9oph 2thwl
dwytnplnyph dwytptuhg L 2thdwb wnbnnnipintbhg b wpwagnieinLbhg:

Glpwnptlp E=85 %, (AT) obpdwuwnhdwlh wayniip Yunbih b aGpyuwywglt)

AT=T;-T;=E(T;-Ty15)=0,85(T;-Ty1v5) (1.9)

Ahunwpytind npwbu ophlwy, dhowdwph 40 °C obpdwuwnpswl L 40 %
hwpwptpwywb funbwynipjwb wwydwbbtp, wpryniapnid hwdwwwunwufjuwba funGwy
oGpdwswihh  obpdwuwnhfwl™ 28 °C, UynibGOwlp wrwybiwgnyl  hGwpwynp
obpdwuwnhdwOh 12 °C waynid: vbpbnd ppwé GYuwunwenwdbbphg GloGnd, Ywnbih
wubl, np OG2qwdéd wwydwbbtpnd wjwbnwywba gninpwpwnp hndwgiwb hwiwywpgny
ywpbih £ @SS yndwypbunp dwuwnnigynn onh otindwuwnhiwlp hotiglt| 0,85x12=10,2 C-
ny:

Qrynppwpnuwin  hhpnhn  hwdwlwnpgbny Wu hwiwywpgbpp Yppwentd GG onh

ynGnhghnGwgiwh nhwhy intnwywywbph gnpénnnipntbOGpp: ULY.1.15-n1d
wwuwnybspdwé L gninpwpwp hhpphnuwiht hnuwgnigswht innbnwuwjwbph upubdwd, L
0y.1.16-ntd™ npw gnpénibGnipywlb  thnytpht  hwidwwwwnwuuwb  dLwhnfuntdbbnp
thuhfuhndGuphy nhwgnpwdh Yynw:

Srp
3 4
Up lnpnpuwghll CP @ Q ,ii’ Mough A5S8-h
on ' ' drewnp
Qnynpzwnwp hndw gngh;
Mununanin Thenunnny
gnpugneghg ebpduwhnfuwlulby
¥

A

Bnpnpzusnuwn hodw gnughg
435
biphg

UU.1.16. Qninpwinpwn hhpphn hwdwywpgh ufubdw
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hOswbu Ywnpbh b inbulb] wn GywnObphg, wnhwpww gninp2hwgliwl shongny
onh hnwgiwl wagnbgnipnibp wybiwglbint hwdwp, OGwu wwnnynn snpugnigsh
dhongny ppwywlwgynd L wnhwpwwn  punbwywqgnpynud  (1-2  0Y.1.16), npp
rbgtOGpwgynid  wnnipphGh hGrwgnn dfuwgqwabph hwyhlb, hGunn hpwywbwgynid L
onh hnwgntd wrwg Opw fjunbwywgdiw (2-3 0Y.1.16) L wwyw hpwywlwgynid £ onh
wnhwpww hwagbgnid (3-4 04.1.16):

— —
= LA
q-f'-mfu‘-'hu "

A

0
5 10 15 20 25 30 35 40 45 50
2np ppdugwiih pEpdusnhBwd [“C)

LY.1.17.Qnnpwpwp hhpphn hndwgdw b hwiwywngh thupfuhndGuphy

nhwagpwa
Bnuyhl  drpnpwwwnnd  (Vwewfyywwwwned)  uw QSS  dwunnigynn  onh

hnwgdwl dh dGpnn £, npnud wnwgpyywé onipp pwndp AG20wdp(70...200 pwp)
wfuwwnnn hwwnniy thnnpwybbph dhongnd yGpwdéynid t dznph: <nugdwb Gplnypp
wwwhndynid t oph gninp2hwgdwlb dhongny: Uw Gwlwynid £, np onh dwuwunnigdwb
npwywnnud wnknh £ nlbGanid onh hnuph wnhwpwwn hwagbkigniu:
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5 10 15 20 25 30 35 40 45 50
2np pbpdwgwih pbpd unnhtiwd [“C]

LUY.1.18. OGuhfuhndtGunphy nhwagpwa (p=1,01325 pwp)

ULU.1.18-ntd thupfjuhndbunphy nhwgpwioh ypw wywunyepgwdé £ anwwwndwl
dhongny wntnh nibtgnn wnpngtup: Onh wnhwpww hwgbigdwl Gpunyph dhongny onh
hnqwgdwl wpryntGwytunnigntbp Yuywbnud £ npw oGpdwunhdwOp snp 9tGndwswihh
obpdwuwinhdwbhg fjunbwy 9tpdwswihh oGpdwunhZwOhb hwuglbine Ak (a-wb):

Uwudwdé Gepwnyynn oph pwlwyhg L inbnwdwuhg, d2n2uuwuiniwl 3 tnwppbn

nbGuwybtp Ywpnn 60 hpwywbwgdt|

pwndn  sbpniduyghl  dynpwwuiannid  (Qninppwipuwin  hngwgnid)  wiju

nGwpntd  onh dwuwnnigiwl wmpwywn  OGpwpyynn  oph  pwlwyp
pwgwrwwbtu hwjwuwnp t onh hwgbgiwl hwdwp wbGhpwdtwn
pwlOwynipjwbp: Uu dbpnnh nbwpenid, Yyndwyptunph dnwinph dnwn 9ph
wdpnn9 pwlwyp gninp2hwgwé t (hOndd:

qbnutnigdwdp dynpwwwwnnid O6pwpyqwd oph pwbwynipintbp wyby

t, pwO wbhpwdtunn t onh hwgbgiwl hwdwp: Nwuwinh, oph npnp
pwOwynipntt  henniy Jp2wynid(unynpwpwp nsg wybp pwb onh
dwuuwjwywb Sdwfuuh 2 %), dnwinp t gnpénd Yndwpbunp, npunbin
gninn2hwgnudp wpnibwyynid £ ahGsl ybpo:

Uhowllyuwy dpnipwwuinnid wju  oGpnnh nbwpnid, oph OGpwpynidp
Ywwwnynid b (Gpwjbwy Ywd OGwpunpn dGpnnbtph hGun hwdwuwntn)
Undwptunph  utnwwnnph - ninnhg - phwybbph - dhony:  UpryntGpp
pwdwywoht 00wl L dnn  wjwlnwywb pwgdwunhiwb ubnidwip-

hnwgiwdp Yyndwyptunph wfuwunwbphb [13]:
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aSS dwuwunnigynn onh hnywgdwb gnjnipyntt nibtgnn dbpnnOtGphg pbunntip htwn
sk, pwlh np wGwp [ hwydh welb wn wwpwdibnptbp, hOswtu ophlGwy onh
obpdwuwnhdwlp, hwpwptGpwywb funbwdnipnitbp, onh hnuph L qwqwunipphbh
wpwnpwbph hwpwpGpwygnipnibn, Yywad onjw pOpwgpnLd hgnnpntpjwa
Jtpwywaqbiwb wihpwdtun dwiwlbwywhwwnywdéh wnkinnnipyniOp [14, 15]:

<nwgiwb wnGubninghwltpp yGpwpetpwy hpdbwywb gpwywbnepjwb [10,11,14-
25] hpdwb Jpw Ywagudb £t wn.1.1-p, npp wdpnnowgltnud £ pninp hndwgdw
wnbGubninghwbtph wewybinienttbpp L pEpnugynlbbtnp:

Urnyntuwy 1.1

aSS Undwptbunp dwuwnigynn  onh  hnwgdwb dGennltph  hhdGwywh

hwunlwbh06np

Utipnn Urnwytiinipyntl [@tpnipinLl
- Wwhwbgyntd £ oph wnpyntp
cwnmuwuwuwu - hwybyw 8020wl woynid

- hwdGlwuwnwpwnp htown E hpwgnpét) | hnywgdwl wnunbaghwip

Ywiuqws £ ylhdwywywh
wwjiwbbbnhg

hnjwgntd pwg ghyiny

- wwwhnynid £ wybpwppwihb - Wwhwbeyntd b uwrbwpwbwih
hnjuwgnti wabklwn
Undwpbunpwjht - uptith £ hnqwglt) onp funGwy - nuGh t
[. tGBpghwyh 466 uwywrenLd
uwrGwPWOWhG andwzw?hqibniu;umhéw:h% t:l thJjétn
- wpnyntbwybwn £ Gpp wwhwbgynt i
U’lbr[rl‘ut{lujwﬁpnlé hannNLpwG wbwgnid Bnlun hyur:ldbulj&bluur]EEnOLglmand 8020w
2upnuiwywyw Jwiwowynd(wybih pw 6..8 dwii/op)
hnjwgnid - uwrOwpwbwhb wagkOunh
- sh wwhwOenid 066 nwpwép wpunwhnuph hbn Juwywé
Junwbglbn
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Unyntuwy 1.1 -p wpnibwynipnib

Utipnn Urwytiintpyntl BtpnLp)nLh
- wwwhnyntd £ wybpwppwihb - ywhwOeynid £ 9GpdnLpjwb
hnjuwgnti wnpjnLp
Upun nQ -
punppgh _ Yuintith £ hnuwgGby onp funtuwy hwenn hpwannédwh hwdwn
uwrOwpwOwha obniWwswthh oEnOWUIhAWGhg kL guion wtwp £ 2w pwpén )
unbnwywjwbpny otpdwuwinhdwlh qug, dnwn 650 °C
wpnLbwywyw - Wwhwboynty 1
2 r;] Y lljJ  wpmynGwgbun b bnp wwhwgyna |~ 4 oUnud £ gninpawihG ghy
nqwgnt hqnpntpjwl wybjwgntd Gplwn - k1. t0Gpghwih uwwentd
dwiwGwyny(wybih pwt 6...8 dwd/on) | - Undwntunph dntnpnid 620w
hwybyw) woyncd
- wpryntbwybun £ Gpp wwhwGoynid
hgnpnigjwb wybjwgnid opblwb dh - pwnn innbnwywjwbp
anliu.ljhﬁ pwlh dwa
EaGnghwyh - gnunh wnpyniph hwdwn
ynLunwydwip - obpdwuwnhswoh Gowlwywih hokignid | wwhwboynid k Euknghwh
wpnLowywywl uwwenLd
hnqwgnti - winyniGwidBwn £, &np B ROBNGAWh 1 g ceunnh dnunpnid £620wa
GG twnpEpipILn whlugt Lng | A ECRED et £02
whywyhb dwikphl 066 ¢
- hwpwpGpwywbnpta thnpp yuwwhwnwy | - wGhOwp £ hwubb 100 %
GGpnpnuiltn hwpwptpwywb funtGwdnipw
<nwgiwl - pwnén funGwyntpjwip
wywnwlywo - hbgun hurwidwingnn tnbnwpitpnLd wlhdwuwn
hwiwywnpg - wnwagnyywé onph Gwifuu
- YndwpGunph dntunpned £G20wb
hwybyw] woynid
- 6wjpwhtn pwpn
- hwytyw hndwgniy, npp hwbgbglnud | - wwhwbeynid k onup, Yuid wyg
<hpphn hwiwywpq

E junGwy 9tpdwswihh obpdwunpdwh

uwrOwpwbOwhbt wgtklun
- pwwywbhO pway

Pwpén G2ntiwyhh

- pwywywbhb tdwh
- WwhwbOoyntd £ Yuywlh Gjwquagnyyl

- wnwapyywsé onh dwiuu
- wbhGwp £ hndwglb; onp funbwy
obpdwswihh 9Gndwuwnhiwbhg

d2nLwwwiinnid dlupnfunteint gwon
- YndwpGunph dncuinpnid £G20wb - ng wjbpwb wpnniLbwybun pwpdn
hwybyw) GJuwquagnylb wayned funGwynipjwip gnunnhOGpnid
- pwywywbhb tdwh - wnwagpyywé onph dwifuu
- Wwhwbeyntd £ yuywbh Gjwquagnyyb Q;%%ijuanhh;é{ﬁjﬁﬂnzgﬁﬁhnguwq
gbpubnigiwdp aluhnfunpini guisn
U2nL2wwjwinniy - YndwpGunpp dncnpnid 8620wl - ng wjipwl wpryntbwybun £ pwpaén
hwybyw) GJuwquagnylb wayned funGwynipjwip gnunnhOGpnid
- U2n2wih0 hnuwgdw b hwdbiwnn - hGwpwdnp £ Yyndwpbunpp
hwybyw) hgnpnipjwb wybjwgntd phwyltph Ernghw
Uhowlywy - YndwpGunph dwpnpnipintl L - Wwhwbeyntd £ Yndwnbunph

wpryntGwybuinnipynil
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hnjuwgnti - ndjwp t hpwywbwglty
sOwuwwunbujwdé inbnwywywbph
Ynpw
- hGwpwdynp t Yndwpbunpp
phwyltph Ernghw

Uryw pninp hnwgiwl nbubninghwlbphg, opwiht d2niwwwuwnnidp (L pwndn
L0nudwyhb L wybigniywyht), y6pohb dh pwOh wnnwphpht wpdwOwgnt) G0 GGpnpdw
lwjbwdwunwp ws, 20nphpy Gwfubwywb Epnpnudbtph thnppngjwl h twpptpnipynil
GOwgwd hwdwywnpgbph, win pyntd Gwl wywbnwywb gninpwpwn nbnwywjwbpbtnh
L uwrbwpwOwihl nEnwywywbpbtph:

Upunwnpnnuywbnipjwb Ywnpgwynpdwb wwhwboht gniquygywé t Gwquagniyl
Jwwhwwy OGpnpnudbGpnd wpunwnpwiph  wybGiugdwlt  wunhfdwlwpwn  wdnn
wwhwOolttnphh hwubbnt Gwwuwnwyp: Undwptunp dwuwnnigynn onh pwndn AG2ntdwhl
azniwih0 hndwgnidp wwn (wy  winbnwdnpynud £ hgnpnipjwb Ywpgwynpdwlb L
JGpwywbqbiwb gwén wnpdtpnd L pwpdp wpnynibwybGunnipjwip inGulninghwbtnh
wnpnty:

Uwulwynpwwbu, d2nwwywundwb dnuintgnidp nibh Gwuwgédwh, dtrp ptpdw
L G6pnpdwb dwuutph Gjwquanyb wpdtp: UYLEha, wyt dhwy dnuinbgnudb £, npp ptpnud
tE Jwrbhph wnGuwywpwnp dwiuuh thnpp wé&h, dh0s dowgwdéd pninp winGubGninghwbbpp
wydbiwglnd 60 wyb Gwlwywih swihny: Ywwhwnw| GGpnpnudGEph wiblwwpwg
GunngOnudp wwwhnynid | d2nwwwiuinnidp oguinwhwOhs Ywpuwnid hwyGyw wjpnid
Ywaqiwytpwbint gniquygdwdp: dbnpoht tnwphbtphb, dh pwOh hwdwygdwéd ghytpny
w2fuwwnnn - fGYunpwywywbbEn, npnGp  nOG0 wrwowwnwp  wnbfubninghwObpny
w2fuwwnnn quqwuwunipphbwihb nnwywywbpbtp L whywihb nbnwywjwbpbtp GEpnpt|
G0 02nLwwwwnnudp npwtu hgnpnegjwl yspwywbgbdwb inbfubninghw: <wdwnpyywéd
E, np wybh pwb 1000 @SS oguwgnpénid GO pwpép A0pntdwiht Ywd wybigniyuwhl
d2nLwwwunnidp:

Gnynt GE PG7241(FA) QSS-0Ephg, tpynt wrwbg hwybyw) wndwb ogunwhwbhs
Ywpuwltphg L dtYy GE D11 ngbwnnipphlhg pwnyugwd hwdwygwd ghyh hwdwn
Ywuwnwnywé ybnnidnipnibbtpp gnyg GG iy, np hndwgdwb pninp tnwpptpwybtph
hwitdwuwn opwiht d2nwwwuwnnidp Ypnud | watklbwphs wagnbgnipnibp inbnbuwywb
wuwpwibwnptph hinhnfunugywb Ynndhg, hwyyh welbind npw wbbwb wagnbgnipnibp
Ywjwbh ng whywyhb wzfuwwnwbph Jpw, dhohl wanbgnipinibp whywihG pGrGywéph
nGwpntd hwiwygywdsd thnpp Yuwwhwwy Gpnpnudbttph htun [26]:
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1.3 Uznwwwunidwl inGubninghwb @SS wnGuGhywywb hGwpwynpnigyniabtpp
pOnwyGiwl hwdwn

Undwpbunp dwuwnnigynn onh 02niwwwwnndp onh hnjwgdwb dtpnn t, nph
nGwpnid wnwagpyqwdé onipp pwndn L020wdp (unynpwpwn 70...200 pwpn) wpfuwunnn
hwwiny Owuwgéywéd thnzhwgnighs thnnpwybtph dhongny ybpwéynid £ dzniph: Wu
aznwpp hwbgbglnid £ onh hnqwgiw(, Gpp wjb gnpnphwbnid £ QSS onh dwwunnigdwb
wnpwywnh  dbe: Wu  wnbubninghwa  hGwpwynpnipnt £ wwihu  dGep  pbpbl
gninp2hwgiwdp hnwgdwb gpbpt 100 % wprnyniGwyGunnigincl, Yndwptunph dntinpnid
onh gtndwunhiwlp funGwy otpdwswihh oGndwunhdwOht hwuglbint tnGuwOyynibhg:

Shwhy pwpén &02ntdwihb dnpwiht hndugdwl hwdwlwnpgp pwnyugwé t dh
pwlh dungwhl  wndwbphg, npnbp pwpdp  &00wdp  wnwgpyywsé onip GO
dqwunwywpwpnud  thnhwgdwlb  thnnpwyltph  wpptphl, npnGbp  undnpwpwn
nbnunpywé GO onh  dwuwnigdwl  hwdwlwpgnid™  quinn wnwpptphg  hGwn:
®nyhwgnighs0GphG wbhpwdtwn £ pwndp 2620wl onip, pwbh np thnane Ywphih swip,
Gh0sL npn2wyh uwhdw0, hwitdwwnwlwb E gnpéwéywé £020wlb a wuinh&wOhb, npunkn
a tpuynbGlwp wwuwnwlynd  -0,5...-0,2 uvwhdwOO6pny, Ywudwé thnnpwyh
ntuwyhg, Gnypwswhwywl swihtnhg, htnntyh pbnipwantphg [27]: Wu thnnpwybtpp
unbnénd 6O 066 pwlwynigjwip wnwpptp swhh dwlOp Ywpehsp (50 diyd-hg thnpn
wnpwiwqsény), npnbp gninpzhwbnud G0, Gpp hnunid GG GSS onh dwuwnnigiwl
hwdiwywnpgh dhony: <gnp qwquwunipphbGwihl nGnwywjwbpp Ywpnn L nbGOwp dh
pwOh hwpnip thnnpwybtphg pwnyugwé thnzhwgiwl thnnpuywunwfunwy: Fwnpdn
L0nudwyhb  O2nipwih hndwgdwl  hwdwnp  wOhpwdtun £ wnwgpyywdé  onup,
yndwypbunph phwyttph Jowudwla L pwpdp otpdwunhdwlbwihG gnuint YnenghnG
Gplnypltnhg fjuntuwhtnt hwdwn:

1.3.1 @SS dwuwnnigynn onh u2n2uha hndugdw G yhdwywywb L thupfuhndtuinphy
gnpénlGGpp
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Onh  punOwynipintd  wwpniOwytine  ponnibwynigintp Ywjujwsé £ Gpw
obpdwuwnhdwbhg: Swp onp Ywpnn t wybih wwn funbwynipyntt Ywob| pwb uwrep onp:
LGnLwpwp, hwpwptpwywb fjunbGwynipintbp watbwpwndnl b wewynuywb L Gpaynywh
uwrp dwdbphl, L wibbwgwoépp gbpGyw wdklwng dwiwlwywhwwnydwdénty:
StnwGphg dJtpgpwé phpwywlb wndjwibbpp, hOswtu gnyg t wnpjwd GY.1.19-nud,
wwpanpny  gnigunpnd B0 pwg L snp obpdwswhtph  9GpdwunhiwbbGnh
wnwpptpneentbbBpp, npp yGphwned £ gnpnpawihb hndwgnighsGGph wynunGOghwip:

Wwphph  wnwpptp  nbnwbpbbp  GGpwenn,  Yhdwjwywb  wywydwbbbph
dwbpwiwub  Jbpinednigintbbbpp gnyg GO wwihu, np o gnpnpwpwp hndugdw
hwidwywpgbpp nO60 Gpwlbwywih wnuinbOghwy, OnyOhuy pwpép hwpwptpwywb
funbwynipntt nibbgnn wjbwyhuh  wnbnwOplGpnud,  npnbn wjwlnwpwp s
nhunwpyynid npwbg yhpwenipynitp (Fwayny, Uwjwah b wy b) [28,29]:

0 T T T T 100
Onoghpduwpwbhgied P 1 3 1 1

TEC] ke *h“"'"‘w ....... SRNN TGS SN S S T

YO SO S S g oo e I

|1.l1tl:LIL| ‘h:ﬂmm'lmh El:-\nll I,+_,_
; ; - i i : i i
0 M | ] ] 1 /I P P I B | 0
o 2 4 6 8 10 12 14 16 18 20 22 24
dundfop

UY.1.19. Uplninpunwihb wywydwbatph opGywl tnwunwbnidbtph ophbwy

Qbpdwunhsdwbh  hwunwuwnnt wOynwip  yndwpbunph  dnwinpnd Ywpbh L
v:‘.
20

)
P

0 onh nGuwywnpwnp 9GpdntGwynipyntbb t, L Ywpnn £ ytpgdt 1004 249 4%-h hwywuwn:
Npn ququwuinipphbwht  nnwywjwopbtph dnwnn, wjbwhuhp hGswhuhp &GO
wyhwghnl L npn2 wrwowwnwn wnbubninghwbtpny wpunwnpywdé nbnwyuwywbplbn,

hwyJwnyt; htinlyw| pwlwduny™ AT=

npuntn V-0 onh hnuph wpwantpnt00 &, huy €, -

yndwptbunph dntwnpnid onh hnuph wpwantpjntbp npn dwutpnid Yuwpnn £ hwulbp dhosl
175 J/4-h, npp pGpnud | obpdwunhfwOh hwunwuwnnio 15 °C woydwO: Uwywyb, 4SS-
GGpp  dGSwdwulnigwa  dnwn, Yndwpbunph dniinpnid onh hnuph  wrwybiwagnyl
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wpwanipntbp phs £ 100 dA4/-hg, nph nGwpnid hwunwwnnd  oGpdwuinh&wbwihb
wbyndp ywpnn t |poG; dhasl 5 °C:

Uonpwihl — hnywagdwl — thubfupndbunnhwl: ULY.1.20-nL8 wwuwytpdwé
thuhjuhndGunphy nhwgpwdp oguwgnpéyty t 200 4g4/ onh Swfuu nlbbgnn QS
dwuwnnigynn onh hnqwgiwb hwdwn wbhpwdtwn oph pwbwynipintbp ghwhwunbine oh

atpnn gnigunptint hwdiwn: <Gnlywy dptninpunuwht wwpdwbotpt 60 ogunwagnpnéywéd’
40 °C snp obpdwswihp otndwunhgdwb L 40 % hwpwptpwywb fjunGwynepnita (Yeun 1,
04.20): Wu wwpwlbltpnd  funbwynigjwlb  wwpnibwynipnitbp onnud  hwyjwuwn L
18,5x10° g H,O 1 Yg snp onnLd: GlUpwnpynd £, np onp Yyhnqwgdh dhOsl iy
wuwpdwboEnpht hwiwwwunwuuwb funbwy otpdwswihh oGpdwuwnhdwl, L yEpotwywb
ytuinnid onh hwpwptpwywb fjunbGwynepinitap Yhbh 100 %: 2° hnwgwg Ytwnnid onnid
funGwyntpjwl wwpnLGwynipintbp Yhth™ 24,0x10° 4g H,0 1 g snp onntt: <Guinbwpwnp,
funGwynipjwlb w)a pwlwynipynibp, npp wOhpwdtwn t wybiwglb] onh hnuphl, Gpw
obGpdwuwinhdwbp funbwy obpdwswihh oGpdwunhdwbht hwugltnt hwdwnp Yhoh 5,5x10°
® 4g H20 1 g snp onh: <euinbwupwin, wwhwbeynn oph pwlwynipintOp Yhth 1,1 Gg/i/
Uw oph wyb pwlOwynipntbb £, npp wbhpwdtun £ 200 §g/i/ onh obpdwuwnhdwlp 12 °C-
ny hobgltnt hwdwp:

qﬂnanﬂlqm.u

T, ﬁ
5 10 15 20 25 30 35 40 45 50
2np gbpdwswihh gbpduninhwh [°C]

LUY.1.20. Undwpbunp dwuwnnigynn onh a2nuhb hndwgdwb thupfuhndGunphw(
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1.4 QSS onh dwuwnnigdwl hwiwywpgh YnGdhgnipwghwih L thnnpwyh
hwunynipyntGbtph wgntgnigntbp d2nwwyuiundwl ypw

aSS onh Jdwwungiwl hwdwywpgbpp  |hGnd GG wvwpptp  duGph L
hwpdwpwnwudwb: <njwgiwl hwiwywpgtph  wnbnwnpdwbt hen Yuwywdéd onh
duunnigdwl hwiwywngbph pwpnnintbbtpp hGuinlyw b 66

e Onh O6p6SOwG pwqiwynniwbh hwpdwpwnwunid (2 Ywd 3 Ynndhg onh dniunp),
npwntn thnohwgdwlb thnnpwyltpp wtwp bt wlwbu nwuwynpytl, npwbtugh
wuwwhny bt hwywuwpwswih hndwgnid (GY.1.21):

e Dwthwqwbg Yupny wayntt nibbgnn wnwbhpny hwpdwpwnwunid, npnGp
wwhwbeond GO thnnpwyltph nwuwynpnipjwb wann thhnthnfuniginih, wwbhph
pnponLihg funtuwhtint hwdwp:

e Uwpsd wpwywnng hwpdwpwnwuniy, npuinbn Ywehth gunbybine wbnnnipyniOp
OJwqugnyGb £, wewnp £ yhpwredh thnnpuybtph hwnny nwuwynpywénigni’
hnupp  owwnhdwjwgbtint  hwdwp:  <pdbwywb nbwptpniy,  thnnpwybbph
hnphgnOwywl nwuwydnpywénipintbb £ Yphpwryned:

e pwpnnipntbbtp  Ywwywéd wpwyunh  wbunynp  fudnnnuibbph  henn Jwd
hwnpywdéwhb nrOGph wrywynipjwip:
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LY.1.21. V-4L onh dwunnigdwb tnpwyun
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Onh dwuwunnigdwl wnpwywnbph dGéwpwlwy wnwpwwnbuwyltph gnnipjwdp
wwjdwbowynpywds, thnnpwyltph nwuwydnpywdénipgwb, ninnnigjwb L opwhbrwgiw
hwiwywnpgh owywunhdwjwgiwb hwiwp hwiwfu hpdaynd 66 L dnnGlwynpdwl L thnpdh
dpw [30]:

1.4.1 ®nnpwyltph nhppp

Onnpwylbph nbnwywpdwb wnwpptn hGwpwdnpnipntbbbp wb, ophbwy onh
dwpnpiwb hwiwywnghg htuinn L fupwgnighsbtph L Yenunhg wywunwwbnipjwb Jwhwbh
dhol: Onnpwybbph nbnwywjdwb Juyph npn2nudp Ywudwds § dh pwbh gnpénbGtphg,
OGpwrjw) nbnwnpiwl hGn Yuwywdéd Ywigweh nbnnuywbnignibp, gbpubnigiwl
Uhpwrdwlb  gwOynipnibp, gnnigintt nbbgnn onh dwunnigdwlb  wnpwyunh
hwpdwpwnwuntdp, wdpnne hwiwywpgh wpdtpp L Ywphibtph dhGsl Yndwpbunp
hwultint  wnbnnwywlnigntbp:  UrYw  wwpptp  wnwpptpwylbphg, thnnpwybtph
nbGnwywiniip  fupwgnigshg wewe  wwwhnynud £t Ywpehth Yyndwptunp  hwubbint
wrwybiwagnyt  wnbnnwywOnientd pbswbu 0wl whwybunn £, L undnpwywl L
gtpubnigiwip 02nwwwwndwld hwdwp [31]:

Ownwnp dwpdth hwugpwé YOawuh hGwpwynpnipinibhg  funtuwdhGine  hwdwn,
thnnpwybtpp dhauin whwnp t tnbnwywyyto yenunhg wwunwwinipywb Jwhwohg wewe:
Npn2 hgnp QSS-O6ph nGwpenid, wpnn b wywhwGeybp Gpynt thnnpwywunwiuwnwyh
nbnwnpniy, atyp” pphpinpnn  EiGAGLGinGEphg  hGwnn™  gninpwpwn  d2nwwwundwl
hwdwnp, L gjntup” Yenunhg wwunwwinipjwb Juwhwbhg wewe dn2wihb gbpubnigdwdp
hnjwgiwb hwdwn:

Uwphih 0hbsl Yndwpbunp hwulbp onnid gunbytint imbnnuiwbnegntbp Ywnpunp
gnigwbh £, L wib wewp £ qgnianpbb hwyyh webGyh: Undnpwpwnp, donizh YuphGtpp
unwbntd 60 onh hnuph wpwagnipntbp dh pwOh dhihdwjpywbbEph pbpwpentd” 066
pwn2h nidbph hGinlwbpny: POswGu wwwnybpdwd £ 04.1.29-nid ppdwéd gpwdphyney,
Ywehth, onh hnuph wpwantgyntbp ponnibtint dwiwbwywaheongp dnibyghw £ Yupehih
swithhg [32]:
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ULU.1.22. 2ph Ywphih onh hnuph wpwagnignitbp pbGYywitint dwiwbwywahongp

npwtu $nilyghw Yuphth swihhg [32]

UDonpwwuwinow thnnpnwliGbn Shyuinntnhg L fujwgnigshg wewg. G4, 1.23, Gl 1.24:

Ujuwhuh hwpdwpwnwudwb wewybinigintop Yuwywbnwd  Gpwbned, np thnnpwyltph
wnbnwnpndp  YwpGih b ppwywlwglb; werwlg 4ASS-h YwoOgwreh: Wu nbwpntd
wlhpwdtwn £ nbnwnpbl Lu a6y $hiinn, dwrewfiuninh Ywehibtph dhiip® thnnpwybtphg
hGuinn: WO Owjuwunbudwdé £ sgninphwgwéd oph YwpehibGpp hGrwglbint  hwdwp:
Undnpwpwp, Gopwnpynid £, np OGBpwpyywé onph Yeup hbrwgynid £ win dhiuiph
dhongny: Uju hwidwlwngp O06pYuwynidu oguinwgnpéynid £ dhwjt hhb inBnwywywbpbbph
dpw, L OGnp QSS-0Gph ypw 2wun hwqywnby t wnbnwnpygnid: Wu hwdwlwnpagp, yjniu
wnbuwybtph hwitdwwn, wwhwbond £t wybh d6é pwlwyh thnnpybbn L 2wwn onip L
ntoh whwgnpédwl wybh 066 dwfuubp: Uwyw)b gpwywlnignibnid wyu hwdwywnpgh
hwdwnp GOpdwé GO wrwybnipnibbtp, hwwnywwbtu dphiinpbph 066 ptirGJwépltinh
nGwpntd wju hwiwywpgp wewowglnid £ onh npnwyh Gwubwywb funGwy dwppniy,
npp hwOgbgOnid £ guinn tnwppGph zwhwgnpnéiwl dwdwbwywihongh wytiwgiwa:
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thnnnullGp 3hiwp  fupwgnighs
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LU.1.23. dhuinphg L fujwgnigshg wrwe thnnpwytbph wtnbnwnpnid

ULU.1.24. dhpuinphg b jujwgnigshg wrwe wnbnwnpywd thnnpwybtph w2fuwunwbpp

Upnipwwuindwe thnnpuwlGbn phyuinnpnn  LGdGauintbnh L fujwagnigsh dhol: Uw
pwpép A0ndwyhb d2n2uhb hndwgiwl hwdwywnpgbpnid wiklwhwdwfu Yhpwrynn
ntnwywjdwb nhppl £: Wu unnhwh nbnwywjnudp (04.1.25) wwhwbonid £ by Ywa Gpynt
on 4SS Ywolqwreniy, L onh dwunnigdwl hwiwywnpgh 2w phs thnhnfunigynLbbtn:

SGnwywjiwlb wu inhwp wwpunwnhp b gbpubnigdwdp Gn2wht hndwgiwb hwdwn:
Stnwnnt| thnnpwybtpp fuignigshg wewe Gwbwynid £ Ywpehibbpht ww) wybih 2wwn
dwiwbOwy gninp2hwbwint hwdwn dhask Yndwptunp hwulbp: Uju inGuwyh hhabwyw
pENNLRINLOp Yuwywlnid ' Gpwlbned, np fujwgnighsh JwhwOBnph ypw hwdwpeynn yenwp
déwglnid £ Yndwpbunph fuqiwl hwywbwywbnipnibp, pwOh np wl 9ph hbwn
Qwpnpygntd | L wogbnud yndwptunp, Guntiny phwybtph ypw:
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LU.1.25. thnnpwyltph tnnbnwnnpnid dhiuinphg htuinn® jujwgnigshg wrwe
Uonwpwhtt thnnnwyGbn — phywnnpnn — LGdGGuinbbnhg L fujwgnigshg — hGunn:
{wwnywwtu gbpubnigdwdp hnjwgdwl hwdwp, wju nhppp” wOdhowwbtu wnphg

ww2unwwinn  typwbbtphg wrewe, wdbbwiwy  hGwpwynpnipnca £ Wu
hwpdwpwnwuniip ywhwGoynid £ fujwgnigsh L tinpwyunh funGwywgniihg funtuwdhbint
hwdwp (GY.1.26): LEpPOWO hwdwn uwbqweh dwdwlwywdhongp L onh dwuwunnigdwb
hwdiwywnpgh wohpwdtwun thnthnfunigntGbtpp hhdGwwbaned Gdwb 66 Gwfunpn tnhwhG:
Uu nbwpntd sh wewowlnid futnhp fjuiwgnighsGGph thnpnt Yndwptunph phwybtnhb
Guuntgiwl hGwn, pwig Ynsdwwinyned t YwehbtGph gninp2hwgdwl hwdwp onnid guinbybint
dwiwlwywaihongp:

Uonwpuwyhls  thnnpuwiliGbn — phyuinhg  hGuwnn L fywagnigshg — hbun: Npny

nGnwywiniabtp, hwwnywwbu hgnp guqwuinipphGuwht nGnwywjwbpbttnh hwdwp,
OGpywywglnid 66 oph GEpwpydwl Gpyne nhpptp” wewohlp” wbGihowwbu qunn
wnwpptphg htwnn, 0hGsl fujwgnighsp, L Gpypnpnp™ fujwgnigshg htuinn® gbpulnigdwb
hwdwn (0y.1.27):

$hiwp fupwgnighs  nnpuwlyGbp
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ULU.1.26. Onnpwylbph wrnbnwnpnid jujwgnigshg htunn
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dhunn pnnnwlilan gy wgnighs thnnpuwlbtp
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UU.1.27. hnnpwybEph inGnwnpnid fujwgnigshg wewe b hGun

LY.1.28-nLd pEpywé E thnhwglnn thnnpwywunwiunwyh nhpeh
owwhdhqughwjh onphGwy, npp hhdbdwé £ Ywpehlbbph swihh Upw, npwtu onh hnuph
wpwagnigiwba pnibyghw L gninphwgiwld wpnynibwydtbunnigiwb Yypw, npwtu Yuwphih
onntd  gunlbybint  dwiwlwywdihonghg $nibyghw: Wu nbwpnid nhunwnpyytp GO
thnnpuwwnwfuwnwyh Gptip tnwpptn nhpptp’

Unwohl gnunip: Onh dwwunnigdwl hwidwywpgh quinn wtwppGphb dnw,
npwntn onh hnuph wpwagnipntbp dnun 2,5 &4/ t, L Ywphh onnid qunGytint
dwiwbwywaihongp Ywquind £t dnuin 1¢nly.: Uu nhppp hhaGwywbnid
Uhpwrynid £t gninpwnpwn hnjuwgnighsGph hwdwp:

Gnlnnnn gnunp. lupwgnigshg hGunn, npuntn onh wpwanipntbp Ywqgined L
anun 12,7 d/f: Uju nhppp Onybwbtu Yhpwednid £ gnpnpwnpwn hndwgdiwb
hwiwp L Gwl hwdwygywdsé™ gninpwpwn L gbpubnigdwip hndwgniilbph
hwdwnp: Ywphih onnd gunbytint dwiwlwywdiheongp Ywqind £ dnun 0,4
agny..

Gnnnpn gnunp: Undwpbunph onh O6pé&ddwl dwOhdninht wlhihowwbu
anun: Wu nhppp wnhwwht t gbpubnigdwdp hnjugdwb hwdawp, L Yuphih
onntd qunOytint dwiwbwywihongp Ywagunud £ 0,2 dynl-h Ywnagh, huy onh
wpwagntgntbp hwwuwn £ 12,7 d/4y:
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UY.1.28. Onnpuywunwfunnwyh nhpph owyunhdwjwgniip hhdGywdé ywphGeph
dGonipjwb ypw, npwtiu dnibyghw onh hnuph wpwagnipyntbhg, L gninp2hwgdwl

wpryntbwyGunnipnibhg, npwtu dnibyghw wphih dhbsl Yndwnptunp hwulbip onh
hnupnid qunGytint dwiwbwywihonghg

hOswtu  JGpbnd  OGpYwywgdty  t,  0Y.1.28-p hwuwnwwnnud L, nn
thnnpwywuwnwfunnwyh nhppp onh dwunnigdwlb hwdwywpgnid wbwnp t pbupdh
qgnianptl:  Qnnphwgdwl  Gpywp  dwiwbwyh o666 Ywpehbbph Ypw  nlbbgwé
wwpwnnpuw| wgnbgnipjwbt L Ywpehh ohGslke YyndwpGunp hwulbip onh hnupnid
gunaytint dwiwlwywuihongh uholu wbwnp k hwydwnyyh owwnhdiwiy
hwpwpGpwygnipntt:  Onhwgdwld  thnnpwywwnwfunnwyh  wbnwnpndp  gqunn
tnwnnGphb dnunn (wrewohlb gnunh), npwntn onh hnuph wpwaniintbp thnpp £, pGpnid £
wphih onnud gunbybint dwiwlwywihongh dGoéwgliwl, hGnlwpwp wybh (wy
gninp2hwgiwl hnqugdwb wpryntbwybunnipjwb: Uwywyb thnpnt wdwp wnihnhuwtpu t,
L thnnpwyh ypw wrwowgwéd 066 Ywphh dwydwb wpwagnipnibp wybih 066 t, pwl
thnppbphbp,  hGunbwpwp  wbnh GO nlbGOnd YwphG6ph pwfunidbbn L
JGpwadphwynpniilbbn:

ujwgnigshg  htwin - thnnpwywwnwfutnwyh - wbnwyuydwde  (GpYnnpn - gnwnh),

Jepwiohwynpdwb  Gpunypp  Gwlwywihnpbb  0wgbgynid £, wwjdwbwdnpywod
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thnnpwyh 2pphb dnun onh hnuph 066 wpwagnipjwdp wrwowgnn Yupnn wwjdwbltpny,
npp pEpnud E YwpehGph ynunnpdwb wpwgnipjwb d6éwgdwb L thnpp YwphG6ph onh
hnuph wpwagnigntbp pbnnibGint dwdwbwywahongh  thnppwgiwb: UGS L thnpn
wphbtpp wwpwdéynd GO wnwppbp  ninnnugintbbGpny  hnuptph L pwfundlbpp
pwywywbhb pswbnid GO:

1.5 lun(wy utnunLd

funbwy utndnuip (Gpynt nGwptpnid £ gbpubnignid L Yndwpbunph dhowbyjwy
hndwgnid oph GGpwnpydwdp) wnbnh b ntbGGnud QSS Yyndwptunp YwehEph dwwunnigdwb
dhongny: QSS yndwntunpp, htswtu hwynbh k£, dwiuunid £ qugquunnipphbh wpunwinpwé
hanpnipjwl GwOwyuwih dwup, npp Gwb Gpunud £ 04.1.29-hg, npp gniyg £ trnwihu hpb L
Onp inBnwywywbpbbph 2wpph hwdwn Yyndwpbunph dwuuwé wfuwwnwbph dGénLpNLOP
gwqwwnipphth  hgnpnipjwb  hwdtdww:  QGpubnigiwdp  hnjwgdwb  hhaGwyw
wrwybnipntop Yuwywbnud £ ubnidwb ypw dwiuuynn wpiuwwnwbph 0Jwgbgiwb dbo,
npp wnbnh £ nlbGOnud yndwptunph ate oph 2wpnibwywywb gninp2hgiwl hGwnbwbpny:
Ujniu gnpénGGGpp npnbp  pGpnud GG hgnpnipjwb wybiwgdwb  hGinlyw G 607 1)
gwgqwuwnipphtny  wuwwnnn dwnpilh 6wjuuh wyGiugnid L 2) ququwunipphOnid
wfuwwnnn fuwrGnipnh oGpantbwynipywb dESwgnd: Shwwiht gbpubnigdwO pwlwyp
pOYwé £ 0,5...2 % uwhdbOBpnLY” Yndwptunph dneunpnid onh dwfuuh GYuwundwdp:

tunbwy ubnidwl Yphpwrdwb gunwithwpp wjGpwb hhb £ hOospwlb np @SS-GGph
unbndénudp: Wu dbpnnp ntoh wybih (wy wpryntbp @SS ghyh ypw, pwb dhowbywy
hnygdwdp UYndwpbunpp, pwlh np onhg dJbpgwéd otnpinipjwl pwlwynipinilp wyu
nGwpnid JGpwnwpddnd L ghyy gninppnt winbupny: tunlwy ubndnudp ng  Ohwyl
aGowglnud £ wprynibwybunnipnitop vipdwé ubnidwl wunhfwOh nGwpnid, wy) Owbl
dwéwglnid £ ghyh ubnddwl wj)b wunhfwbp, nph nGwpentd wpyntGwybuinnipyniOp
hwulnid £ wewybiwagnyOhb, tnnipphbh dntinpnid inpjwié obpdwunhdwOh hwdwp [32]:
Qpwywoinipjntnud ppdwé GO0 066 pwlwyh JGpnidnigintbbbp L thnpdbwywb
hGunwagnunnigintbbbph wpnyntbpbbp fjuwbwy utnddwb yepwpetbpnyw [33-49]:
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LU.1.29. Undwypbunph dwjuuwé wfuwunwbph Yuwugwénigintbp tnnipphbh
dncuinpnid 9GndwunhdwOhg tnwpptp @SS-GGph hwdwn

Uygpbwywb wpuwwnnipnitbOpp Yywwywé GO onwlwdtph wndhstph oph
OGpwnpydwdp pwn2h dGdwgdwb ntuntdbGwuhpnipntbbGph hGwn, npnbgnid gnyg | tnpdwié

pwpépnipjwl, Uwiuh pyh L dpbninpunuwihlb £620wlb wanbgnipyntGO6pp oph 06pwpydwdp
pwn2h Ywpgwynpdwl Jpw [34,35]: Qninphwgdwl  wywpwdibnph (oA/6) wnpywé
wpdbph hwdiwp oph OGpwpyiwdp wuwunwiph O0jwqiwb swihp Ywpudws sk
yndwptunph ubnidwl wuwnhgfwbhg: UYGhG, Yndwpbunph GOGpuntd gnpnp2hwgnidp
wqagnnud b w2fuwwnwbph pun wunhgwObtph pw2fudwb ypw, L dhohlt wunhswbbGtpp
wytih G0 ptrOYnid: lvwrbdwb L gninp2hwgdwb wypngbup 06é wagnbgnipjwlb wnwy L
Undwptunph GpYypwswthwywb swihtphg L wpwanipinibhg [36]:

dwiwlwywyhg hGunwgnunipntbbtpp gnyg G0 wnwihu, np hpwywb funbwy
ubnddwl wnihwpnwh gnighsp wybih thnpp k£, pwl gnp utinddwb wpngGuhlp, npp
pGpnid £ ouGnddwl wfuwnwbOph jwgbgdwb L yndwptunph Gipnid 9bpdwuwnhswbh
OJwagbgiwl L ubnudwl wprynibwybunnigjuwlb wybjwgdwb: tunbwy ubndnudp wybih
wpryntwybwn £ 066 ubnidwl wunpswblbph nGwpenty, L ubnddwl wunhdwbh L
gninn2hwgiwl gnpdwygh inpwé wpdbpltph nGwpntd, ubnddwb wfuwwnwbpp Ywnnn
E OJwqb| L nwrGwy snp onh hgntGunpnw ubnddwb hwdwp ywhwboynn wuwwnwbphg
tL phs: UdGlh (wy gninpzhwgiwl wonbgnigwl Yupbih § hwulb] YwehlGBnph swihtbph
thnppwguwl dhongny [37]:
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tunGwy ubnuintd oguwgnponn 115 Udwn QSS-h (Hitachi Frame 9E) dwlOpwiwul
wlOwihinhy L thnpdbwywb hGunwgnuinegintp gnyg £t wnwhu hgnpnipgjwbt 10 % L
wpryntwyGunnigjwb 3 % wé, 1 % gbpubnigiwl nbwpenid: Mwpqgtgywdé dnnbip gnyg L
unwihu np wnbnh niGh ng |phy gninpz2hwignid Yyndwptunph 17 wuwnhdwbbGtphg hGwn, Gk
Ywphh npwdwaghép 066 § 30 dyd-hg: Uwyw)b 20 diyd-hg thnpp YwphlGtph hwdwn
gninpzhwgnidp |phy £ YndwpGunph GGpuntd [38]:

Undwnbunph géwjht dhwswih Jtpinionipynibp, npp hpwywbwgyb) £ plnnibbiny
gwqwjht hwuwnwwnnioh, wynihpnw wpnynibwybunnegywlb L phwybtph wpwagnipjw
hwuwnwuwunnibnigyntbp Yyndwptunph wdpnne Gpywjbpny gtpubnigdwb nbwpniy, gnyg
nybl, np hwunwuinnib 2620wl 9GpdntGwynipintbp b wnihunpnwh gnighsp nlbGOnwd GG
wrwohlt Ywnagh thnthnfunigintt Yndwptunph Gpywbpny gninp2hwgdwl hGnbwbpny
[39]:

Uwuwnwpdt]  wybh dwOpwdiwulb nwuntdbGwuhpniginild, npp ogunwignpénid En
Gnpynt wbwhwnpy dnnblo6p gbpubnigdwdp hnwgdwl hwdwn, nhuwnytiny ubnndwh
wuwnhdwbh, Ywpehith dGénipjwb L wnihunpnw wpryntbwybunnipjwb wgnbgnipyntbbbpp
yndwptunph  wpfuwwnwbph dJpw: Urwohl dnnGintd, npp ynsgybp b pnGwiwywa,
Undwptunph Gpywbpny onw-onwihG fuwrbnipnp nhuwpyyty b pGpdnnhlwdhywywa
hwywuwpwyzrwénipjwb dte: Uw Gpwbwynid t, np YwpehG6pp 2wwn thnpp G0 L
unddwl wpngbup sh pbpnud pGPONnhGwdhywywb  thnthnfunipnibOGph:  Gpypnpn
annGnid, npp Ynsdnud £ Ywphiwhb dnnbl, hnGwjwywb dnntih uwhdwbwthwyniaatn
G0 nhuwpydb: depniénigintbbbpp gnyg 60 wrnwihu, np wewybiwagnylt hnupp, nph
nGwpnid wnpjwd ubnddwl wunpdwbh nbGwpntd, yndwpbunph Gpenid 60 |hOh
ywpehibtp, ywpudwé kb ubnidwl wunhfwOhg L wynhunpnw wpmyniGwybunnipnibhg L
npw wnpdbpp wybih 066 t thnpp wpnynibwybunnipjuwdp Yndwyptunplbph dnun: Lwl
wnihinpnw  wpryntbwytbunnigjwb  thnthnfunigjudp wwydwlwdnpjwd  wnbuwywpwp
w2fiuwwnwbph Gwqiwb thnhnfunegintbp wbbwb £ 2 %-hg thnpp 9ph hnuph nbGwpntd
[40]:

Undwptunph wunh8wl wre wunhdwb nwuntdbGwuppniginibp gnyg £ wwhu, np
GGpwpydnn  oph  pwlwyh wdGiwgdwlb hGuin  Yndwpbunph  wuwwnwbpwih
wwpwabwptpp wnpdynid G0 nGwh wybih pwnpdp dwiuu L ubnidwb wunhgwb: lunbwy
utnddwb nGwpnid onh Swhuuh wybiwgnidp wwjpwlwynpdwd £ gninp2hwgdwl
hnwgdwb htwn L wyb wybht b pwb GEpwpydnn oph pwbwynignibp [41] :
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Uwuwnwpydt] GO hGunwagnunnipnibObp yndwptbunp opph GEpwpydwdp wnwppbp
wuwinhdwbbGpnd L Yyndwptunphg wrewe: Uprynibpnid wwpqyb) £, np GGpwpydwb
wunhidwbp Lu Gowlwynigntd nbh wpmynibwybwnnipjwb ypw, pwbh np thnpdbwywb
yndwypbunph hwiwp witbwwpnynibwybun wunphdwb unwgyb) t 3-pnp, npp Gwl gnyg
E wvwihu, np pnl yndwptunph dte GGpwpynwdp wybih wpynibwybun £ Yndwptunphg
wrw9 GGpwpyniipg [50,51]:

GE Frame 7EA quwqwunipphGh wuwuwnwOph Jpw hhdGjwé  wkbpn-
pGnANnhGwdihywywb dnnbih nuuncdbGwuppneginibp, YndwpGunph wunhdwbOBp 9nh
GEpwpyiwl hGnlwbOpbtpp nuunudGwupptine hwdwpn, gnyg t wwihu, np wnwpptp
wunhidwbobn hwyunGynd 60 ny Gwpuwgéwihb Yenbpnud, wrwohlt wunhdwbbbpp
pGpptrGYyntd GO, huy dGpohbtlGpp  gbpptrGYnid:  SYywp  wninipphbh hwdwnp
nwuntibwuppnegintp gniyg £ vwihu np oph pwlwyh wybjwgnidp pGpnud £ 17-pn
wuwinhdwbh juqiwb uwhdwOhO dnunbgdwl, npp gnyg t wnwihu, np GEpwunhdwbwhG
GGpwnydwh nGwpentd onh pwlwyp wewnp £ qgniznptl pbunpyh [52]:

Bhwybtph dwytpbnyph Yypw Ywpehbtph hGwpwynp wagnbgnipinitbp pbpnud L
2wuwn thnpp swihh Ywph6ph wOhpwdtnnigwb™ 1...5 dgd [53]: dappyuwhb-prGynid
nbGubninghwih Yhpwrenidp, npunbn pwpdp 2020wl trwp onipp thn2hwgynid £ appywhb
thnnpwyh dhongny wrwowglnid £ 2,2 Jyd YuphiGGnp jwpnpwunnp wywjdwaatpned: Uyu
winbGubninghwb Yyhpwredt)  oh 2wpp QSS-G6ph hwdwp win pyntd” GE Frame 6, Siemens
V94.2, L ABB 9D [54-57]: YbpohUhu hwdwn 2 % qtpubnigdwl nGwpnid unnwgyned t 14
% hgnpnipjwl wybiwgnid: Unynpwywb dppyuht thnnpwyh Yppwentdp gniquiygyuwéd
tnwp onh hbwn pbpnud £ dnun 10 wbgwd wytih thnpp tnpwdwagséh L 1000 waqwd thhnpp
Swdwih YwprhibGph wrwowgdw [56]:

Atpubnignuip, hwdtdwwnwéd  gninppwpwn  02nwwwndwb hin nlbp
wrwybinipntt pwlh np wb pnyp t wvwihu onp hwuglb] hwagbgdwb, dplninpuwihl
pwpdn hwpwptpwywb funbwynipjwb L gwén snp obpdwswihh  oGpdwuwnhdwbh
wwjdwbbotpned, wwjiwbwynpywé thnpp Ywpehbtph 066 pwlwyny, npp pGpnud £ wpwg
gnnn2hwgiwa:
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1.6 U2nwwjwwnnid ogunnwignnénnbbph gnpétwywt Gywwnwrenidbbn

1.6.1 2ph pwliwywywlh ywhwGoltpp

Qninpawpwp a2nwwywnidwl hwdwywngh hwdwn wbhpwdtn oph pwbwyp
Pnibyghw £ yhdwywywb wwypowbbtphg L hGwpwynp hwuwlbih oGpdwuhiwbwhb
woyniihg: Spwé dpbninpuuwihb thuhfuhndbunphy wwjdwbotph nbwpenid wwhwboynn
oph pwlwyp qOwhwwnbint hwdwnp Ywnbih £ ogunybp 04.1.30-ntd  wWwnytpywo
anwdhyhg, npwntn gnyg t wnpjwo oph wyb pwlwynipnilp, npp wlhpwdtawn £ onh
obpdwuwnhdwOp funbwy otipdwswihh Gjwquwagntybt otpdwunhgdwbh (WLRVL) 15 C L 30
C wndbplbph hnwglbint, snp L funbwy obpiwswhtph otpdwunhfwbibph (V)
wnwnpGpnipjwl 2...15 °C wpdtpltph hwdiwp: Wu gpwdhyhg Gpunid £, np ophbwy onh
obpdwuwnhdwlp 45-hg 30 °C hotglbint hwiwp wwhwGoynid £ dnunnwynpwwtu 5 %
wyt| onip pwb 30-hg 15 C heobtiglbint hwdiwp: Gpt Gwl nhunwpyynid £ gbpubnigniy,
oph 6wfuup Grwlwywihnptl wybwond t: Unynpwpwp gbpubnigdwl nGwpntd oph
dwfuu/onh dwfuu hwpwpebpwygnienitp sh wagbnid 2 %-hg:

75

UU.1.30. 2pdwunhdwlh hotigdwlb 5...15 °C dhowywpnid tnwpptp onh dwiuu nlbtgnn
QSS-06ph gninpwpwn hnjugdwb hwdwn wwhwO9ynn oph pwlwynipjwb Ynwhun
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1.6.2 2nh npwywywb wywhwaelbp

Uonwwwunidwl  wnbnuywyjwbpbtph  oph hwidwn  wwhwO9ynn  hhdbwywb
npwlwywb gnigwbh206pp ppwdéd 60 wn.1.2-nud: Gt oph npwyp wwhwbolbtphb sh
hwiwwwuwunwufuwonid, wewowlntd | Gowlwywih 4owu yndwpGunph Jpwnlbph L
pwndn oGndwunhdwlbwihb hwwnywéh Yynenghwjh inGupny: 20wjwdé np wn.1.2-p twihu
E oph npwyh hhdbwywlb wwhwOolbpp, pwyg witlwiwy wnwppGpwynd wbwnp §
Jtpglt; ASS wpunwnpnnh Yndwptunph wrwlg wbGowwndwld |Jwgliwb 9nh hwdwp
wwhwOoynn  wwhwbolbpp: Unwapyywdé onipp unynpwpwn pannibbip £ Uwyuyl
wwpwnwnhp wywjpiwo £, np hnqwgiwl hwdiwywnpgh pninp funnnjwybtpp L npwbg
Uhwgniibtpp |hGeG sdwbgnunynn wynnwwunhg:

Unyniuwy 1.2
aSS onh hnwgdwl hwiwywnpgtpnid yppwrynn oph npuyuywb wwhwbolbip
2ph npwyh gnigwbh Updtp
2ph pH 6,5..7,5
Anudwpwihbt wyhbn dwpohbotp 5 g

(1nt6ywé L spntéywé)
Anidwpwihb wiwiwh
aGunwnbtp L wy dGuinwnObn,

nnpnGp Gwwuwnntd GO pwpdp 0,5 dg/
obipdwuwnhAwlwihG Ynenghwihl
Lwnnpnntbwynientb 0,5... 1 JOohud

1.6.3 Ounnwn dwniOh hwugpwé yawu

Pwlh np thnnpwyttpp wnbnwnpwdé G onh hnuph dG9, thnnpwyh Ywd
thnnpuwywunwfunnwyh yndwnltbwinh dhongny owwp dwpibh hwugpwé Yunwbaghg
funtuwhtGint hwdwn wbwp t dhongttp aGrOwnpyyth: Ungnpwpwn thnnpwybtpp
wnbnwnpyntd G0 hnuph gwép  wpwagnipntbbGph  gnunnd™  $hpuinpbphg hwnn:
Onpéwnynidbtp onh L oph hnuph wewewgnwdé yhppwghwih b npwihg thnnpwyujhl
hwiwywpgh ww2unwwinigywb dhongwreniilbp wtwnp [ dGrp wrlGytlh, hwingybint
hwdwp np hwdwywnpgp ynhdwbw: QGpubnigdwdp hndwgiwlb hwdwlwpgh nGwpnty,
thnnpwyltp 60 nmbnwnpynid wbdhowwbtu Yyndwptunp onh dwwunnigdwb dwbhdninh dto
unynpwpwn hnphgnOwywb hwppnipjntGnud: - ©npdép  gnyg £t wwihu, np &hwn
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Owpuwgéiwb dhongny ownwp dwpibh hwugpwé YOwuhg Yuwpbh £ hGunnpto
funtuwihby:

1.6.4 QSS Yndwptunph dnLinph uwrgwywinty

<njwgiwl hwdwywnpgh YJwrwjwpdwl hwiwywpgp wbwp [ wydunindwn
Uspwny wlowwnh hwdwlwnpgp, Gpp Yw  uvwegwlwwl Juwlg, Yuwywsd
obpdwuwinhdwbh unwwnhy woydwb htwn Yyndwptunph dniinpnid onh wpwagwgiwb htu,
npp hgnp @SS-GGph dnun hwulbnud | Uwjup pyh 0,5 wnpdtph: Npny hwdwywngbn
wbowwnynd GG 15 ‘Chg, swywd np npwbu 0wquwagnylt obpdwunhsdwb Ywnbih §
noGOw) 13 Cp: Npn  wpunwnpnnbtp hpwwwpwynd 60 hwwuwrguwuwwwndwb
hwdwywpgbph  gnpéh npdwb  9Gpdwunhfwb-hwpwptpwywb  funbwynipnt
hwpwpGpwygnigntbbph  wrynuwybbp: Gpp  d2nzwywundwlt  hwdwywpgp
yndwptunph dntnpnid nibGGnd £ 100 % hwpwptpwywb funbwynigintt dhosk 10 °C
ywnptbh £ hotight| oGpdwunphidwlp: Uwywyt wybh woywnwbg gnuinid (hOGnt hwdwp,
13 ‘C-h dnunn obpdwunpswO0EnG GO unynpwpwp ogunwagnpdynid npwtiu pnywwnptih
GJwquantyl, pwOh np wn nGwpnid wpbih £ Juunnwh |hOG] uweguywdwb Juwbgh
pwgwyuwnipjwb uG9:

1.6.5 Spwywnnh opwhtrwgiwl hwiwywpg

SQnwhtrwgiwl hwiwywpgp wtwnp b inbnwnpywé |hbh fujwgnigshtG dnun L Gwbl
yndwptunph O6pwédiwl hwpdwpwOph dnwn: WO wtuwp b Owfuwwnbuwd |hbh
2wnniowywywb opwhtrwgiwl hwiwnp: YWpGhwddwb Yeuinbpp Ywpnn G0 pGuinpyb) Gwl
thnpéhg Gl oG ny, hhatytiny Gwb npwyunh Ywrnigwdépwjhl
wrwOdGwhwunnyipintbbtph ypw, npp wpnn £ nibGow] wybwhuh inbnwbGpbtp, npuntn
wpnn t hwdwpyb] onipp: <wuwnniy wnbuph uGgdGOwnlbbp Ywnpnn GO0 wnbnwnpyb)
hwuwnwyht, onipp nbwh opwhbrwgliwl hwdawywnpg ninnnpntnt hwdwnp 0Y.1.31:

Lwwnniy  npwnpnipintt wbwnp £ onwpddh  Yyndwptunp onh  dwunnigiw
dqwbhdninh hwuwnwyh npGhwddwbp: Npn2 nGwptpnd, wjlnbn hwjwpdwd onpp
ywpnn t wbgbt] yndwnptunp (0Y.1.32): Wn nbwpbpnid hwwnniy dhongwenidbbn wtuinp L
Uhpwrytl Gnpdw| opwhtirwgnid wwwhnybint hwdwn:
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thnnpwyltiph qétip

fuwgni ghs

Swunntly wnbuph ubgdklwm

UY.1.32. Undwptunph dwbhdninnid hwwpywé onip

1.6.6 Undwptunph fjugnLi

Undwptunph  fugnudp  wybih 2wwn fubnhp t gbpubnigdwdp  hnwgdwl
hwiwywpgbph hwdiwp: <phdGwywb nbGwpbpnid, gbpubnigdwb oph pwbwyp dh thnpp
wdb] bt wpuwunwiph pOpwgpntd YyndwpGunph (Jwgdwl hwdwp pnywwnpbih oph
pwlwyhg: Abpulnigdwb wanbtgnipinibp thanud £ wyla, np Yndwypbunph nhwapwah Yypw
wpfiuwwnwbpwiht  YGuinbpp dnntbnd GO fjuqiwlb qéhG: 2npu GE Frame 7EA
guwquwunipphGwihb inGnwywjwbpbtn, nonbp wfuwwnnud GG gpubnigdwdp hndwgdwb
hwdwywnpgbpn 4 wnwpyw pbpwgpntd s60 nibbgt, YndwypGunph fjuqiwb nplut nGwp,
hwwnywwtu Gpp gbpubnigiwl wunhfwOp pGyws £ 0,5...1 %-h uwhdwbOGpnLd:
Unynpwpwp wfuwwnwbph plpwgpnid  YndwpGunph  Jwgiwl hwdwywpgh ¢onph
pnyiwwnpbh pwlwyp pbywsé £ (pGnd 0,4...0,5 % Ohowywjpnid hhdbwywb hgnp
nbtnwywjwopbtph  hwdwp: Lnybhuy a2nwht hndwgdwb  hwdwp  Yndwpbunph
dnitinpnid obpdwunhfwoh pwfujwéniginttp L thnthnunigjwl wuwinhfwlp wtuwnp L
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hwwinty  nunudOwuppyh Ywewdwpiwl  hwdwwpgh  OGwfuwgédwl  hwdwn:
QGpubnigdwlb nGwpntd, nbnh £ nlbGOntd inBnwywjwbph wiuwnwbpwihb uwhdwGh
thnthnfunintb, hoswbu Gplnud £ 0Y.1.33-hg [58]:

Gilp Gl gnpduwlihg

L ]

puguwh grm Luwhdwh \ > __\__..L";-i:‘ilq&uﬁhlﬂtmrf i
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G uwhduG A |
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LY.1.33. Undwypbunph fjuqiwb uwhdwbh thhnthnfunipyntd yuwywdéd gbpulnigdwdp
a2nwhb hndwgdwb htwn [58]

1.6.7 Undwptunph dntuinpntd 9bpdwunnhiwlwiht wahwdwswniena

UrnwOgpwiht Yyndwptunnpbbpp nbG0  dninnph  9GpdwunhgdwOh L &6p0w
wlOhwiwswihnipjwb huinwy swhnpnohs: lwlnhpbbp ywwywé phwylbph pperiwl hbwn,
npnGp  Ywpnn G0 wewowlw] (wlwédwdw| wnwdwnnuiltph  wwwdweny:
U2nwuywundw b hwdwywpgbpp Gwfuwwnbuynid 60 lmwpptp wunhgfwbGGGph hwdwp, L
JjnipwpwOgjnip wunhdwla nioh  dhnnpwywwnwfunwyh 4ypw thnnpwybtph  wybwhup
nwuwynpjwoénipntlt, npp wwwhnynd £t oph  hwibdwwnwpwn  hwdwuwpuwswih
pw2funid: Uw Ywplbnp nhuvwpynid £, pwOh np yndwptunph fuqiwb qquynibnegnibp
wpnn t waqnyb obGpdwuwnpswlwhl  juhunn  wOhwdwswhnipntbhg: Yw  Gwb
swhnpn2hs ywwydwdo ynidwptunph dninpnid oGpdwunpdwbh Yunpniy thndhnfuntgjwi
htuwn, uwyw)b d2nwuwwwnndp Gppbp sh Ywpnn pbpGp wu swdhnpnzsh gpwquOgdwa,
GnyGhuy hnwgdw b hwiwywngh ypwpwiht wiowwndwb nbwpnty:

aSS yndwptunph dwbhdninh dto otpiwunhiwbwiht wnyhsbGpp unynpwpwp
s60 wnbnwnpynud wylwbu, np gnyg wnwl  oGpdwunhiwlbwhlt  nwpwnh
wlOhwywuwnwswihnipniop: Npn tnbnwywjwbpttph dnwn, npnGp nlOGG pwpn Lpwyu,
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A020wl L oGpdwunphdwbh qquih wihwdwswhnigntGbtp wewbg hnuwgdwb £ wpnth
gnjnigintt muoko, L wlundnp 60 9bpdwuwnhdwbh  wdhsGGph dho 2 °C
tnwnpGpnigintGbtpp: Npny tnbnwywywbpbtph dnunn wnyhsbbpp Ywpnn G0 wnbnwnpqwdé
LhGG| hnuphg htient gnunnhGGpnud: Uju inhwyh pwywl wbhwdwswhnigntGbGpp Ywnpnn
G0 wdbih wybhwun nwelw)p d2nwuwwndwt hwdwwpgh Yhpwedwb wpryneGpniy:
Gpp obpdwupswbwihb inyhsGbpp funbwywOnid G0, npwbp uyunid GO vnw hpwywbhg

wyth gwon swhnudbbp, wn wpnpbdhg funtuwdtine hwdwp hwpywynp £ Yhpwet]
hwunniy wwunwwbhs JwhwOObpny Yywhwdnpdwé inyhsObn:

1.6.8 Onh dwuwunnigdwl wnpwyuinh nhunnwpyniibtp [59]

Onh dwunnigiwlb inpwyuinhlb htbg yGpwpetnynn dh pwbh hwngtn ywb aanepwhb
hnwgiwb nGwpentd, npnbp whbwp bt nhunwpydbb: dYpwywenigynn tnbnuywywbpbtph
nGwpentd, Ywpnn t hnGwjwywb hpwyhgdwy sihoh “hnGwwyuwl” wywydwbotp unwbwnt
hwdwp, ntunh hwytaywwn thnfughonidbbn G0 wbwnp: OphGwy, Ywpnn £t wGhOwn haG|
gwnlt, tnpwywnh wdpnne wqwun (wjbnigntt wewbg nplut Ywenigwdéph L wpnn GO
thaG]  wjbwhuph fuwbGqwpnn hwOqwdwbOpbtn, hOswhuhlG £t wnipphGhg  weniny
nwpwgiwl funnndwybtpp (unynpwpwnp weyw G0 wyt nbnwyuwjwbpbbpnid, npnbp
npn? w2fuwinwbpwihb rGdhdbbpnid wypdwb fugh ywjdwbbuGpp Ywpgwynpnid G0 onh
wenuibtpnd):  UYLGha, npny  wnbnwywywOpbtpnid Yhpwednd GG wnphg
wuw2unwwinipjwb JwhwOtp, npnbp wju nGwpnd YufuwwnGb npwtu Yninwyhsbbp
wrwowgltiny onh dGé Ywphi0bp: Npny tnnbnwyuwywbpltbph Yndwptunph dntinpnid onh
dwunnigdw b npwyuinp nbh ynGwdl Ywenigdwép, nph ypw hwdwpynn Ywpehibbpp
ywpnn G0 hnut) nGwh YndwpGunp: Uwyw)b Ybptph pyh wanbgnipgjwl ywwndwreny, 0k
wpwagntpntbbtpp hwdwfu pbpnud G0 YuwehEph Ynunnpdwb L hGnbwpwn win wypnpitdh
wuwinhdwbp Gqwquwany0l t: Uznwht hnjuglwl hwiwywngh dwunwywnpwpp wtunp
E wmGnywy |h0h wu wpnptilbphg L hwdwywpgp OGwuwqgdh npwbp GwquaneGh
hwugUtnt Gywunwendbbpny:
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1.6.9 Urnwlgpuyhl Yndwptunph fuwithwOnid [60,61]

Uwplbnp bt wnwpptpt] plwywb dwewuninh L d2nwwywundwlt  hwdwywpgh
wrwowgpwé pwnnnipintb06pp: POwywh pwpdp funGwynipintip L Yrhdwywywb
dwrwfuninp unynpwpwn wewowlnd b ghptpbtpp L Jwn wewynuywl, uwpnn GG
wrwowglt]  dhiinptph  nhdbptbghw; A6020wbG  wnwpptpnipywlb  hGn uwywd
wlowuwnnuiltp L npn nbwptpnud nudbn wnuninindwé  dhiinpbpp pbpynd GG L
wrwowOntd £t npwag fugney, htnbwpwp L Yyndwpbunph fuwthwbned: Uwyw)b Geb onh
dpiinpdwlb hwiwlwpgp  wuwwnnd o Gnpdwp,  02nwuwwwndwld  hwdwlwpgh
wrwowgpwé funbwynipjwlb pwpdpwgniip sh wybiwglnid yndwyptunph fuwthwbnidp:
Undwptunph fuwhwbOndp wybpwb jnipophbwy k jnipwpwibsjnip tnbnwyuwywbph hwdwp,
nn wOhowp b Ywlfuwwnbub, npw Jwppwghép: WO nbwpnid Gpp hwdwp 1
wrwlgpwlywip niOh jninh wpunwhnup, uw hwdwwnbnwé pwpdnp funGwynipjwb hbun
ywpnn t ptpt; YndwpGunph fuwdhwbdwb: Uhbsk hnqugdwb hwiwywpgh pnnwpynidp
Ywnlnp £ fupwgnighsGenh jwy (wlwip, npwbugh ubfudh dznizuwndwl hwdwywngh
Upwgniihg hbwnn wyn Ybnunh yndwptunnp GEppwithwbgnidp:

1.6.10 Undwpbunph phwyGbph trnghw [62]

Uwpntp gninpwpwn hnwgiwb hwiwywpgbpnid, hwdwywngh wwpwdtunpbpp
ywnpth £ ywpgwynpt] wjbwtu, nn dwewfuninp dhisl Yndwypbunph dntuinpht hwultip
hwuwnwwnwwtu gninpzhwgwdé |hoh: Uwyw)t hGwpwynp £, np npny Yuehbtp dntwnp
gnnpotl Yndwpbunp: <wdibtdwwnwpwn thnpp swihh (15...20 dyd-hg thnpp) Ywpehih
hwdwn, ntuntdGwuhpnegynitbGbtipp gnyg G0 iy, np wyb dgunnid £ hGwnlb) onh hnuphG:
Uw 0wl 066 Ywphlbbph wrwowgiwld htun Yuwwywd fubnhp™ wnph nbd wwjpwnh
Jwhw(btnph L yndwptunph dnwinph Ynbwdl dwuph ypw, pwyg ghpuin Gwfuwgddwl L jwy
opwhtrwgiwl hwiwlwngh dhongny Ywnbih t funtuwht), wn fulnhpbGphg: Ywnpunp
Gz61, np gbpuGnigdwdp hnwgiwl hwidwlwnpgbpnd  w2fuwwnwbOph thnpdp gnyg L
wnwihu, np nudbn tenghw sh wewowbnd (0Y.1.34, GY.1.35), L npn2 wpuwnpnnGtp
OGpYwynLiu wewownyned 60 hndwgdwb wyn wnklubninghwb hptbg GSS-06ph hwdwin:
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(=) (@) Ly.1.

34. GE Frame 6B junGwy ubnidwdip QSS-h yndwpbunph phwybbph trnghwih
wunhiwb: (w)- wrwohl wunh&wbh ghwyh dwyn, (p)- wrwohl wunhdwbh phwyh
dhobwdwy, (g)- wrwohl wunhdwbh phwyh hhdp

LY.1.35. Upuinnd GT24 QSS-h yndwptunph wrwohlb wunhidwbh ghwyh yphswy

1.6.11 @SS onh dwuwnnigdwb wpwyuinh Ynenghw

Unwagpywdé oph ogunwgnpéniip Ywpnn £ nbgpwnwglb; onh dwuwnnigiwl
wnpwywnnh wpnbl phuy nbgpwnwgwd, dwywé hwwndwdébbpp, 66 funbGwynipynilp
hwuwnwwnwwtu Ynenghnb gnpénb t: Pwdwpwn Gnpngnudbbph L 0GpYawb dhongny wyu
wpnpEdp wpbh £ ybpwglb: SS316L sdwlgnunnynn wynnwwuwh Yhpwenipinitlp onh
dwunigdwl hwiwywpgnd qOwind wyGiwond £, pwbh np swwdé wybh OGS
Jwwhwnwy  Gepnpnudleppb,  wu  nbwpnd  whwgnpéiwb-Gnpngdwl  dwfuubkpp
qawihnptb Ypsdwunynid Ga: MGuinp £ Gp6], np 2w lnpwyntbp w2fuwwnned 60 wpnta huy
Jwuwn Jhgdwynid, hbswtu opptwy wwwytnpwdéd k GY.1.36-ntd, L uplnp § wynwhup
hpwyh&wybtph 2unnynidp dhbsk gnpnpawpwn hndwgnid hpwwbwgObp:
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UY.1.36. @SS onh dwuwnnigdwl tnpwyuinh ynenghwh Gapwpyywd hwundwéh inbup

1.6.12 Undwptunph phwyltph L dwéyniyph yhwunid [63]

Npny @SS-06n, npnGp nLbbgt] GO gEpubnigdwdp hndwgdw b hwiwywng, nibbgh]
G0 Yndwptunph dwéynyph yawunidbbp dh pwth werwohl wunhgfwbaGpnid: <hdGwlyw
nGwpbpnid, uw Ywpbih £ hwuglb, GJwquagnyOh thnnpwybtph £h2n nuuwynpnipjw,
wnpwywnh L onh dwunnigdwb dwOhdninh dbe oph hwdwpniilbphg funtuwhtintG
ninnywé L dh pwbh wy shongweniiGtph dhongny:

Unenghnb 2powyw  wwjdwbbGpp, hOswtu ophGwy pinphnbtGpp Ywd HCI-h
htwnptpp Ywpnn 60 wewowglb, ppywht dhowdwp L hGunLwpwn Swéynyph
Jowudjwdéplbn: Onh dby wwpnibwydnn  wnuinunnpsGtph  GnyGhuy 2w thnpn
pwlwynipintlp  hwdwfu Jupnn £ pGptp 2w ppwiht dhewdwph  Yndwptunph
phwybtph hwdwn: Uw fulnhp £, npp whwp kb niéyh onh phinpdwl hwiwywpgh
ynndhg, hwwnywwbtu wgptuhy wpmnibwptpwywb dhowyuwiptpnid: Qtpubnigdwdp
hnJwguwl nbwptpniy,  hpwdhsdwyp wbuinp £ hwzqupydh nbwp we nbwp
glwhwuwnbiny phwybtph L npwbg swéynyph wryw ntubninghwbtpp:

YOwulbbn hwugbbint hGwpwynp gnpénbbGpp GEpwend 6O

e gbpulnigiwl swihhg wyb] Ywa ng hwiwwwwnwufuwb Yyhpwenegintl
e thn2hwglnn thnnpwybbph ng £hpuin nwuwynpywénipnil,
e onpwhtrwgiwl hwiwwngh woywuwnwnnipntl,
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e Unenghnb  wywhy  dplbninpunwihlt wwypdwbbGnp, npnbp  Ypbpth
prRrYw)GnLrjwl htnlwpwn L wéynyph Juwultpp:
Npn nbwpbpnud, Get phwyh uygpbwdwuh dwéynyph Ybwujwéplbbp wpntl
wryw GO O2nwwwwnidwld hGinbwbpnd, wwyw npwlp Ywpnn 60 qupqwlw] ybplncd
OYywpwapywé gnpénbutph wewnipjwb nGwpniu:

1.6.13 QLpulnigiwdp G2nt2wiht hnwgliwb hwiwywnpgh Yhpwenigjwip QSS-0GpnLd
phwybttph hnugiwb onh hbwin Yuwwywé nhinwpynwiGtn

Uwuwnwpdt 60 dwlOpwdwulb nwuncdbwuppnegnibbbp QSS-h L Yndwptunph
wfuwwnwbph Gpypnpnwiht onh  hwidwywnpgnid hwunwwnntd uwd  dhnthnfuwywb
wwpwibwnpbph onh ogunwgnpéiwb nbwptpniy, npnbp hunnwynpta gnyg 60 wnwihu,
GpypnpnwihlG onh hwdwywnpgh wagnbgnignibp 620wl hwywpdwbt Jpw (04.1.37):
ULU.1.37-ntd GYwwnblh weq, wrz L wez Yenbpp, npnbp GGpYuwywglnud GG onh wrdw
wntbntpp, dhOsgntr “Onunp” L “Gp” —p OGpYwjwgbnud GO YndwptGunph dnwtwnph L Giph
yunpywéplbpp hwiwwwunwufuwbwpwn: 8020wl pwnpdpwgdwl gnpdwyhgp wtwnptn
inbnwiwutpnid onpdwiwgdwd £ hp snp ubnddwO wpdtpbtpny: UYGhwyin t, np snp
ubnidwlO  hwiwp  OGwpwwnbujwsé wnbnwywjbpbtpnuy, OGpwpyynn oph  pwlwyp
uwhiwOwthwyynid £t uwwywd  GpypnpnwihG onh  hwdwywnpgnid  hnuph
thnthnfuntgwdp, Yyndwptunph 2020wl hwywpdwb hwnywdébtpp thndhnfudwdp, fugiw
uwhdwbh thnthnfudwdp L wyb: AGpubnigdwdp hndugdwb nGwpnid, 2020wl L
obpdwuwnhdwlh hwywpdwb wypngtup Yndwptunph wuinhdwbOGpnd thnthnfuynid £ L
npn ntwpbpnd Jwpnn [ wwhwoytb] wenudbtph pnnnibwynipyntbp wwwhnynn
thnnpwybtph dLwhnfunipntb [64]:
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LY.1.37. 2620wl thnthnfunipynibp Yyndwptunpnid, dniuinph onh Ywpgwynnhs pghwyttpny
(w) L wrwbg (p) nninipphbOGpNLY

UY.1.38-ntd wywuwnybpywé Lk yndwyptbunpnid 020wl hwywpnidp wunhdwb we
wunh8wl gbpubnigiwdp hnjwgiwl L wrewlg npw nbwptpnid [64]: <nphgnbwywl
wrwlgpnd ywwnybpdwsé L 00wl hwdwpdwl hwpwptpwywb ¢hnthnfunipynitOp
yndwypbunpnid L gbpubnigdwlb pwlwyh wdh wagnbgnignip npw Yypw, L Gplnd L
wrwoht L dhohl  wuwnhfwbGbph  pErOwpwhntdb nu Ybpohlt  wunhgwbGbph

gtpptrGnudip:
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= usniaGgpw) b0 nbnp Undunbunpnud

LY.1.38. gbpubnigdwdp hnwglwb nbwpnid Yyndwptunpnid 020wl wybjwgdwl
thnihnfunegynilp [58]
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1.7 {nywgiwl hwdiwywpgtp oguwgnnénnltph wnnbuwybuinltp L thnpé

CUnhwlnp wrdwdp, d2n2wiht hnjwgiwl wpwywnhy hpwywlwgnuibtph
thnpdp pwywuwlhb npwyw £, hoswbu wwwgnigyned £ ytpghG wnwphbbph dh 2wnp
QSS-06pny (1000-hg wytky), npnbp ywhwynpdwé GO0 wyn hwdwywpgbpny: QSS-GLph
annGutph gnigwyp, npnGp nlO60 hndwgdwb donwiht hwdwywnpg GEpnpdwd Gppnpn
ynnuh dhongnd, wwngnpn gnuyg Lt wnwihu dnwinph onh  dznpwihG hnwgdwb
hpwywbwgnitip @SS wpunwnpnn pninp hgnp poyGpnegnlbbtnh Yynndhg (wn.1.3): MGwnp
E GG, np Gpyne O2niauhl0 hnwgiwl L gbpubnigdwdp  GnpwihG hndwgdwb
hwdiwywnpgbpp hpwywlwgdt) GO (wyt wfuwnwbpwiht inhpnyph ASS-GEph Ypw
(Pwqhuwihb, whywhb, wwng ghyind, YngblEpwghnt Ywi hwdwygdws ghyltpny L
wylb): Ugbpt wn.1.3-p sh OGpwend QSS  wpuwnpnnltph Ynnihg GOGpnpYwo
hnjwgiwl hwiwywngbpp:

Unyniuwy 1.3
Gppnpn Ynndih dhongny GGpnpdwé dnepuwhb hndwgdwb hwdwlwpgbn
nLbotgnn @SS-06ph gwby

Uwrwfujwwwuwnntd
aSS wpwnwnpnn aSS dnnt| mbqﬁgajﬁgg}gﬁbnh
rhy
Alstom GT26, 13D2, 13E, 13E2, GT-11N, GT-10B, Tornado, 9D, GT24 26
GE-Frame 5 5271, 5361, 5371, MS5001, 5001P, GT11 62
GE-Frame 6 6001, 6531B, 6541, 6541B, 6551B, 6561B, 6F, 6101FA 59
GE-Frame 7 7001, 7001E, 7001B, 7001C, 7121EA, 7061EC, 7191F, 7121FA, 347
7221FA, 7231FA, 7241FA, 7661, 7821
GE-Frame 9 9161E, 0171E, 9FA++ 18
GE-
wyhwghnl L LM2500, LM5000, LM6000, LM6000PD, LM2500PE, PGT10 28
wy b
Uhpuntphoh M701-F, M501G, MF111AB, MW-701D 6
FT4, FT4 TwinPac, GG4/FT4, FT4-A5, FT8 TwinPac, GG4A9
MrGwn L Nthwn) Twin, TP4-2C1 51
Nnyju-Nnju 501KB7, AVON, SK30, RB211 7
UnjupSnipphtq Mars, Mars100, Centaur 50, Taurus 60, Taurus 70 10
Uhutlu- V64.3, V64.3A, V84.2, V94.2, V94.3, W501F 31
Ytkuwnhughwniq
Uhdkuu- W191G, W251B11, W251E, W501AA, W501B4, WH E4-2, W501 37
Yhkuwnhughwniq D5A
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1.7.1 Unuinph onh gninpwnwip dzntwwjwwnntd 80 Uduin hgnpnipjwidp Yngtltipwghnh
ghyiny wzfuwwinn ASS-h ypw

8-dwijw wiuwnwbpwhlt ywpwditwnptph Yunpdwépp, npp wywunybpdwo
0Y.1.39-n14, gnyg £ vnwhu wyu 80 Udun hgnpnipjwdp GSS-h Ywpunp wfuwunwbpwhl
wwpwibwnptph  thnhnunegnip 1ISO wywpdwbOEph  hwitdwwn  wewlg hndwgdwl
a2niwihb hwdwywpgh L npwinyg: <njwgiwl hwiwywnpgny wfuwwnbihu Ywpbih L
winbult) dhohOnid 2,5...3 Udwn hgnpnipjwb wybiwgnid: Lwb tnGuwlbh GG Yyndwptunph
Glpntd otpdwunhfwOh L npw htuin Juwwdé 2620wl wayntdp hndwgdwl hwiwywnagh
Uhpwrdwl hGnlwbpny: Gpp hndwgiwl hwiwywpgp wbhowwnynid £ (d¢ 5-hG dnw),
QSS-0 atrp t pGpnud hp snp hgnpnegynibp: Wu indjwbbpp ybpgytp G0 wyu QSS-h
Jtpotpu inbnh nibbgwé hhdbwywb Gnpngnidphg hbunn:

i 1] = dE EE o] {41 =]

18

Glinudp Unduy. bypoed,

Uhpuwifugnh pbpd.. F
2 ¢ P REEAZddE .

Ignprupil, Uduwm
Sbpd. Ynduwy byprd, F

B i
[ Fe

ULY.1.39. Untuinph onh gninpwnwn hnwgdwb wanbgnipinttp 80 Uyun QSS-h
Ypw

1.7.2 QGpuGnigdwdp G2npwiht hnwgiwO hwdwywnpgh Yphpwenidp Frame 5
QSS-G6pny YyngblEpwgiwl wnbnwywywbph ypw

funbwy utnidwb Ywd gbpubGnigdwdp d2nwht hndugdwb inbnwywywbph
wrwohlt Yhpwenipynibp tnby £ 3 Frame 5 QSS-0UGph (Onwn 73 §g// onh dwfuu) Upw [65]:
Uju Yyngtbtipwghnb pinyp inGnwiywyywsé t Nhdy| pwnwpenid, YUninpwnn, UUL, npp nibp
Gpywp L snp wdwreltp: Yhunwnpydtp tp Gwb wwbnwywb gninppwpwp hndwgnighy

nGnwywjwbOpp, pwg npnanid Ep Juwywgdtp wnbnwnptbp nuinnwyph  gbpubnigdwdp
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hnqwgdwl doniwhl hwiwywpg, hwyyh webtind gwoén Ywwhww, OGpnpnudbtnn:
<nwgiwl hwiwywpgp pwnyugwdé t 540 thnnpwylbphg, npnbp pnyp GO0 wnwihu
gnudwnpwiha dnuin 1 Yo/ oph hnup 40 pwn £G0wdp, npp wtwihu GO 3 dfunguwhG
wnawtpp:

Upnynibwybunn  Yspwny  hwuwlBh  (wupbpld 100 %  gninp2hwgdwb
wpryntwyGunnigjwadp) funbwy obpdwswihh  oGpdwuwnhdwllEpp  nwunwbynid GO
21...37 °C wnhpnypnid: LY.1.40-p gnyg t wrnwihu @SS dhoht wpunwnpwbpp <niihu-
Ubwwubtiptp wihultph pbpwgpnid: Wu gpwdhyned, Gepplh Ynpp (W), gnyg £ tnwihu
pninp 3 wnbnwywjwbplbtph dhoht wpuwnpwlpp wrwlg hnwgiwld hwdwlwnpgh
wfuwwnwbph: Uhohlt (R) Ynpp gnyg t vnwihu Julbpuwwnbujwd wpunwnpwbpp, bipb
hndwgiwb hwiwlwngp wwwhnyh funbwy obpdwswhh dhohl 9GpdwuwnhdwbOtpp: G4,
JGpowwtu (Q) Ynpp wyu inbnwywywbpbbph hpwywb wpuwwnwbph Ynpla £ hndwgdwb
hwidwywnpgbpny: (R) L (9) ynptph dhol tnwppbpnipIntip Wwjdwbwynpwd t Gznih
utnddwl wpngtuhl dwulwygtint (junGwy ubndnud) wqgnbgnipjwip: Uju hwdwywngh
GGpnpdwlb nOnbuwywb yepineéniginitbp gnyg bt wndbp qbh G pbpdwl 3,2 wdpu
inbnnnipyntl [65]:

13500

15000 "FJ/,,_#J-Q
: P

p=

B &

\

Q5SS dhghl hqnpnugynul

12000 5 : :
hntihu ognuwn. ubuyun.

ULY.1.40. Frame 5 QSS-h ypw wrwohb gtpubnigdwdp hndwgdw
hwdawywnpgh Yphpwenipinibp [65]
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2. G4S-LGMh UGhuuSuLLU3hL NEdhULENE 33 ELENGUILUULUNGHN UNYU
mMu3uuuLEMh Ssulduu3nrub8: 6MAELU-h 3UUULB8YUS 8hulLnd LN tuNaurLNYL

2.1 33 tGEpquhwiwlwngp

Swjwuwnwlh Swlpwwbtwnnipjwl tGGpgwhwdwlwpgp Gwfuwaqdéyb| L
2whwagnnoytbi| £ npwtiu wybih 066 tuipquhwdiwywpgh tunphpnwjhlG Uhnipjwb Spwbu-
UnJywujwb tGGpquhwiwywpgh dwu: Stnwywjdwd hgnpnipynilbpp L pwfuhs gwlgp
dowyytp, L qgnpétp GG dGY dhwgyw EGGpquhwiwlwpgh YJwqind: Iwjulwb
tGGpgwhwiwlwnpgh wnwbGdbwhwwnynipynttd wyb £, np Iwywunnwbnid gnpdGwlywbned
sywh tOGpgbwnhy hwlwdénlbp, npwlp dunwwbu GGpdndybp G6: Npwbu wynwhuhpa,
wpwwnpnn  hgnpnepyntGbbpp Ywenegytp GG GGpypdnn Jwebhplbpnd  wfuwwnbpnt
GYywwnwndwlp [66,67,68]:

Uwluwyh, Swlpwwbtwnnipjwl ElGYunpwluwywbbtpnid inbGnulywywé
hgnpnup)nLbbbpp qbipwqwbOgnud  thG  GGpphG uwwenwip L wpwnwnpywé
ElGywnpwtbtpghwih ah dwun (20-25%) wpunwhwGynid tp hwplwG
hwlOpwwbwnnipynLGGtin [67]:

LhGGind 2powwwinwéd wéhuwonpwélwihlt hwlwdénbbph hwpniun wwwnlObp
ntbtgnn  GpypGGpnd, Swjwuwnwbh wwpwépnid  Juunwpdwd  Gpypwpwlwlywb
hGunwagnunip)nLGbtipp gnuyg G0 wnybp hwlwdén Juebhplbph thnppwehy wwpwplbbp,
npnbp sniGG0 Gowlwlywih nlnbuwywb wpdbp, nlObG0 gwdép Ywinphwlwlnpjntd L
Ywpnn GO0 Yppwndb] uwhdwlwhwly wwhwGowny pwdwpwpbint hwdwp: 3IGnbwpwp,
npwlp nbwnbuwwbtu pwhwybiwn s60 wpnynLGwhwGbne hwdwp [67]:

Wuon, 3wjwuwnwbh Iwbpwwbtwunnipynibp, GGpphl rGunipubtph hwyhb, Ywpnn &
pwywnuwpb GGpphG pGnhwOnip wwhwOownyh dhwjl 35 %-p, htnbwpwp Gw dGéwwbu
Ywhujwé £ GGpynpdnn tGGpqwyhpbtphg: 3wpy b Gwl G626, np tGGpqwiubwinnnipjnilp
Swjwuwnwbh  nbnbGunipynilnid 2w wybih gwép qupqugiwl wunhdwb nibh
qunquguwé tGpynpbtph gnigwOhGbph hwdbdwn:

tunphpnwjihlG Uhnipjwb thintquwbp hGwnlbg 33 tGGpqwhwidwywpgh dqhwdwip
wwjdwbwynpywé tGGpquyhplbph GGpancddwb nddwnnipjnLbbtipny L
wpryntbwpbpwywb dGrGwnpynipjniGbtiph Yynndhg EGYunmpwywl EGGpghwh uwwrdwb
Yupniy Ypdwuinnidny:

Wuop, Gwwuwlwninnwé pwpbthnfunidGbphg  hGunn, 33 tGGpqbunhlywih
plwqwywnrp nbwnbunpjwb |hnyht L wpnynibwybn gnpénn plwgwywnbbphg dGYHG E:
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33-G |hnyphb Sdwoéyncd £ GepphG 2niywyh ywhwOowpyp b wpnwhwbnid £ GYunpwyw
tGGpopw  dpwuwnwbG, hGswbu Gwb ppwlwlwglnid £ thnfuwlGwynid Pbh3-h  hbwn
thnfupwhwybitn hhdntGpGtpny:

UjGniwiblwjbhy, nbnwlwjjwdé hgnpnipyntGbGtph 066 dwup hhG £, L ywhwGoned k
wpnhwywlwgnd  Ywd  thnfuwphOnud: SGnwywywd  hgnpnipyniGGbph 38 %-p
wfuwwnwGph dto £ wybih pwb 30 wviwpfr Atpdwyhb b GYnpwlwywGabpnd wnwolbwjhh
nGnwywjwlplbpp  hwubp G0 200000 jwhwgnpédwl  dwiwpwlwyh L sGG
hwiwwwwnwufuwbnLd hwdwfuwphwjhG plnnLywo nbfubhywlwh L
plwwwhwwlwlwb Gnpatphb: 3pnpntGyunpwlywywbbbph nbnwywjwbpbbph 70 %-p
w2fuwwnwbph d6p b wybh pwl 30 wwnp, (50%-p wdbih pwl 40 wiwnh): 33-h
ElGyunpwywl EGGpghwih thnfuwbgiwl nbnwywjwbpltiph dhohl wwwphpp 45 wiwnppl t:
220 4d (wpdwl tGYnpwhwnnpniwb qébph 90 %-p wwhwlnid GG Gpwlwnnignid:
Unwhw hwdwpyny, gwép (wpdwb GhpwlwjwhbGtph 42 %-p qunbGynid GO whpwywpwn
nGubthywywla Jpdwyniy, dnn 14000 wywnnunpwludnpdwnnplbp qubynd GG
gbipptinOdwd Yw pbipptinGjwd wuwnwbpwihb yhdwyned: Npny indjw GGph hwdwdw)
2006-2011 pp.-h npnipjwdp, 33 LGYHnpwlwywbbbph wfuwnnibwy  nbnwyuwiywé
hanpnipyntlp  Jwginud £ 2120-2420 Udwr, dhGsntn  wnbGnuywywéd gnidwpuwjhl
hanpnipyntbp Ywaquat) £ 3091 Udwnnr (wn. 2.1.) [67,69, 70]:

Unyniuwly 2.1.
33 tGGpquhwiwywpgh nbnwywjywdé hgnpnipyntGObp [71]
Stnwlwjwé hgnpnepyncbbtin , Udwn
Qtndw)hG 1610
UhontyuwjhG 415
3hnpn 1066
CaGnhwGnLp 3091

dbGpp GYwpwagpwéd ywwndwnbbphg hGwnbnwd £ 33 wpnwnpnn hgnpnepyniGGtph
wnpnhwlywbwgiwb, ybpwynnigdwb ywd thnfuwph0dwb fjuhuin wbhpwdtnnipnibn:

UWn wbhpwdtnnipintbhg GioGind, 33-nd Jwenegdtp L 2whwqnpédwb GG
hwbdbyt) Gpyne Gnp 2nqliququihl EGGpqwpnybbp Gplwbnid L Ipwgnubned:

33 tOGpqwhwiwywpgh ppwlwl wywuwybpp nbulbint hwdwp nhnwpytlp 33
[wbpwjihl SwnwjnipjntbGbtpp Ywpquynpnn IwbdbGwdnnnyh hpwwwpwywd ndjwbbpp
2012p.-hG 33-ntd wpnwnpwé b wnwpywd bGynpwlwb tGGpghwih dwuny [72]: Cuwn
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wyn nyuwbbph uqijwé 2.2 wnynuwyp gnigunpnud b 33 EGGpgwhwdwlwpgned
2012p.-h0 wnyw hgnpnipynLGGtpn:

Unyniuwly 2.2
33 tGtpqwhwdwywpgnid werlw hgnpnipyntGbtipp 2012p.-hG
Uzfuwwnnibw
2 | COnhwnep,
Shy Luijw nbnuywyjwé
Udwin
3gnpnepynch, Uduin
“Ipwq ALY PPL 400
“Gplwbh AEY” OPL (Pnqbiquq. 990
Sbpdwjh ghyrnd wfu. tGGpgwpny) 1060
“[waqnwb-5”
nean 440

“[quyNniugququpn” ORC

UhontywjhG “[ujyuywb UEY” oPL 385 385

«Uhowqgquwyhb tGtpqbwnpy
Ynpwnpwghw» OPL

360*

3hnpn 740

«Npnunwbh 3EU3I» OFPL 380*

*1 Shnpnk GYnpwywywbabph hgnpnepyniGGtpp wojwbwlwGGbtphg wwpptpynid G0, pwbh np mwpyw Yunpdwépny, 3E4U-h
whjwlwlwb prGwépp thnthnfudnid £ Yuwywé onpwjhh rGunipubbiph utignGuw)bnepjwb hbwn:

Ujuwhuny, 2012p.-h npnipjwip, wnpbih £ hwunb, np 33 LGYunpwywywbbtph
w2 fuwwnnibwy wnbnwywyywé hgnpnipynilp Ywaqdnid £ 2185 Udwr:

Nhunwpyblp, pbt  hOswbu t wnbnp  nGEGnd B EYnpwywG  EGBEpghwh
wpunwnpnLpjw pw2funLdp 33 tGGpgwhwiwlywnpgnid’ twppbp inbuwyh
ElGYinpwlywjwbGEph dholi:

COUnhwlnp wndwdp, EGYwnpwywb tGGpghwih wwhwlpwnpyp wwwnwbynd L
ywhuwé nwpdw tnwlwyhg, wpwpw onphg L opdw dwihg: WO wybh pwnpdp E
gtiptluyhl dwatiphl, pwl ghztipp, L wybih gwép b wpwpdw Ybinphl optiphl, pwh
wpwpyw  wpfuwwnmwbpwihlG optiphG: UdnwlG L &dnwl EGYunpwwwhwbownpylbipp
hpwphg wdbih fuphun GO wwppbpdnuy, Jwpudwé  ebinnigdwlb L hnwgdwh
hwdiwlwnqgbph Yyhpwrenipjnibhg:
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LY. 2.1. 33 tGGpquhwiwlwpgned f GYnpwlywb tGGpghwyh uwywndwb dwdwjhb gpwdhy

o 5§ 5 888 &8 8ff

wealfuslisp
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LY.2.2. 33 tabpgwhwdwlwngnid b Eynpuwywh tGepghwjh uwywndwb twpbywb qpudhy

21 L 2.2 GYwpbBpnud ywnybpywéd qpudbhybbpnid pbpdwdéd GG £ GEHnpwlwh
tGGpghwjh uwywniwb dwdwihb L ubgnbwihG nwwnwOnwdbtpp 33 tGGpgwhwdwlwpgned
2008p.-h wnyjwb6pny: LY. 2.3-nd GEpYuwjwgwé £ 2008p.-h0 33 EGGpqwhwiwlywnpgh
tlGyunpwluwb totpghwih wwhwbgwnplbtipp Gpynizwpph L Yhpwyh optiphl wwwnytipnn
anwdhyp:

60



123 4% 678 9101112131415 16 27 08192021 22 2324 dhadd

uy. 23. 33 CthGpgwhwiwlwnpgh LGYwnpwlwb  tGGpghwh  wywhwbowpybtiph
qnwdhlltipp tpynizwpph L hpwlh onptinh

Swpptin  wbuwyph  fGYpwywywbGbtph  Ynnohg  wwpdw  Yupuédpny
ElGywnpwtGGpghwh - wpnwnpnipjwlb  nbGuwGynibhg  wwwybpp  2011p.-h hwdwp
GGpYuywgywé t 0y.2.4-n10:

=1 Uhenilusht

2 2bpdwihh
3 3hnpn

W4 ®npn hhnpn

ms Uy

LY. 2.4. 2011p.-hG 33-nLd wpnwnpwé b GYnpwlwb EGGpghwjh pwfunidp

LY.2.4-nud GEpYuywgwé gpnwdhyhg Gpunid £, np 2011p.-hb 33-nLd wpunwnpywéd
ElGUywnpwywb EGEpghwyh 34,7 %-p wpnwnpdb £ wnndwyhG b GYunpwyuwywbnid: 32,3 %
L 264 % wpunwnpdbp £ eGpdwihlG L funpnp hhnpnE GUunpwyuwywGaGpnid
hwiwwwwnwufuwlwpwnp: O©npp 3EY-Gpht pwdhb £ pGybGnd rwpblwb wpnwnpwbph
6,2 %-p: LUwpwgpwé wnfwuwihG hwpwpbpnipyntGGbpp  hGnbwlp G0 wwpyw
pGpwgpntd hpwlwbwgywé hgnpnipyntGGbph pw2fudwG:
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Agnpnipjncbbtiph pw2funidp Yuwhujwé £ nmwpw Gnwlwyhg, qbhg L wnwolbwjhl
tGGpowhgnpnipjntGGtph - wwwpwuwmwywlnep)nibhg:  UnndwihG b Gynpwyuwywbp L
thnpp 3tU-Gpp wfuwwnnd GG npwbu pwghuwihbG hgnpnepyniGGtp: Npnunwbh 3EY-Gph
Juwuywnp wfuwwnnid £t npybu whyuwihG hgnpnepyniGbtin éwéynn, huy [WEY-Gpp®
dphowllwy: UlkwO-3pwqgnuwb 3EY-Gpp Yuwubwnh  wpfuwwnmwbpp ubignOwha £, wyl
wfuwwnnud £ npwtiv pwghuwjht dhwjlt npnqiwl ubgnOhlG (wdwn-wpnib), L npwbu
whywjpht 0hwgwd dwiwlbwy:

hOswGu Gpunud £ 0U.2.5-nid wwwnytpqwsé qpuwdhlybtphg” L wiwnwiht L
dutinwjhlG optywh EGGpquuwwriwb qpuwdphybbpp wnwbdbwbned GG npnwyh dwdkiph
ntnh ntGbgnn Yunpney watpng L upney waynwdbbpny:
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LY.2.5. 33 taGpgqwuwwndwb optlwb gpwdhybtpp nhwyhy wiwnwihb L ddtinw)hG
onptiph hwdwp

33 hwdwp, hGswbu pninp UM GpypGaph hwdwn, whwjhb pteh 6wéydwb hwnpgp
hwitdwwnwpwp Gnp fuGnhp £ Yw wwypdwlwynpywé t Gpwlny, np dhbsl 1980-85pp
tGGpgwhwiwlwnqbiph pbrh qpudhybtnb wsph GO payt; pwjwywb OGS funnipjwip,
huy funphpnwjhG dhwgjw| hwidwlwnpgp Ytahnpnbwgywd Juwnwwpdwdp hGwpwynp
nwpdptp  thnfuhnuptiph  dhongny  hwppbightp nw: CGn  npnud YuywOGGpp
aGéwidwulbnipyntGb - wpfuwwnb]p t pnippopjw wnwybiwgnylt  hgnpnipjwlp  dnwn
ptnOJwénipjwidp:  3wqwnbw  Ep wpwowlnd  vwppwynpiwl  pbrOwpwthdw
wbhpwdtinnipyniG:

dGpohlG  Gpynt  wwulwdywybbph  pGpwgpnid,  EOGpqwhwidwlywpgbipnid
tGGpogbwnhywlywl  uwppwynpnidGbph, L wpryniOwpbpnepjntnd wpunwnpwywa
uwppwynpnuibbph - wwwnpbbph  wnwowgiwl, dhwgjw] hwdwlwpgh wpnhdiwd,
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w2fuwwnwlpwiht opjw Ypdwwndwl hbnlwbpnd 33 EGGpquwhwiwlywpgh pbnh
gpwdhybtpp funnnepynibbtpp Gjwqgb) Go:

Optlwb ptrh gpwdhyh twhwb wlhhwiwswihnipnilGp dhown unbinénid £ npnawyh
pwnnnipjntbbbp tGGpqwhwiwlwnpqgtiph L Ywjwbbbph wfuwwnwbpnid: UhGsntin UM
GpynGGph EGGpqwhwiwywngbipnid wju pwpnnepntGbtind wrwyb) twlywb GG, pwbGh np
gnnponn YuwywbbGpp wwunpwuwn 3606 thnthnfuwywb pGrGdwépny wfuwnbni:

Nftunh  pOwlwlG E np 33 EGGpqwhwdiwlwpgp wwwpwuwn & wyuopyw
wwjdwabbphG:  LwpyhGnd  wnbnwywywé  hgnpnepyntGbbpp ywwnpwuwn  s6G
thnthnfuwywb ptinGwépny wpfuwnbinib: Wuwbiu dh 2wpp Ywjwbbtpnid yuwpuwbbph
Gwquwanylb wbhubhjwwbu pnyjwwnpbh  pnGdwépp EypwlwihlG  funnnuybtbpnid
2nowlwnnipjwl  funnnpnudbbph Juwbgh wwwdwnen  uwhiwlwhwyynd
npywépwjhlG hgnpnipjwl 65-80 %-ny: Cwuwn JuwjwbGGbph opwiwlydwl ufubdwbbpp
Gwhiwwbujwd 360 wgpGquwnlbbph  gwénp  pLrGwénipjwip L wwppbpwpwn
ywbqbbgnuubbpnyd wfuwwnbine hwdwp [73, 74]:

Ptnh gpwdhybbipp whhwiwswthnipjwl hGunlwbpny wnwowgnn
pwnnnipjntGbbph Jtipwgiwb wfuwwnwbplbiph dte £ dnlnd Gnp L GYunpwywjwbbtph
hwpdwntigniip ptinh fwywl nnwnmwbnudbtinnd w2 fuwnwbpha:

Cun  YwlOpuwwnbunwdGeph UMI  GpypGetph  tGGpoqwhwdwlwnpqgbph  pbnp
gpwdhybtph  wlhwiwswhnipntbbbpp wwywquwjnd ns 0hwyld YuwwhwywOybo wyl
Juwybiwlwb, L npwlp wbwp b wwwpwun |hOGO Gowl wwjdwbbtpnid hnuwh L
2whwybn wfuwwnwbph:

33 tOGpqwhwiwywpgh uwwniwl gqpwdphyh funnpjnibp  wnwwnwbynd
0,787...0,793 Jwpuwé wwpjw Gnwlwyhg, npp pwywlwbht d6é phy E: Optlywa
ptinOJwéph qnpdwyhgp (wawlwywh ptrh hwpwptpnipjntp wnwybjwaqgnyb ptinh)
wiwnwjhb optiphb wqunud £ 0,55 huly ddtinwjhG opGphl® 0,58:

UWuwhuny 33 tGEpquhwiwlywpgh hwiwp wpnhwywh b ptinh gpudhlh whytiph
Swéyowh pubtnhpp: Wn weniind wnwbd0wyh wnbin GG qgpwynid quqwwnnipphGwjhb L
2ngiququunipphlwyht nGnuywjwlpbtpp, npnGp odnywéd [hGGind wuwn pwpdn
QwlbpwjhlG hwuwnynipynibbtpnd, wpwg qnpéwnpyynid GG, Gnylbwhuh wpwqgnipjwdp
ywbqlbbtgynid GO L wwn wpwq pbe GO0 hwywpnid: Lywd nbnwyuwywbpbbpp 2wwn
hwpdwnp GO0 quawplwjhl L Yhuwqwaqwplwjhl gnunnid wfuwntint hwdwp: Phwpyb
wju gnnntd  hwonnnipjwdp  Ywpnn GO0 wpfuwwnb] Owb 3EY-Gpp, Gpb opbLlwl
Juwpgwynpiwb opwipwpbtiph ogunnwlwp dwywp nw pnij| nw:
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Ququwuwunipphwjhl  wnbnuywywbpbtpp, hGnblwpwp Gwb npwbg hhdwO Jpw
wfuwwnnn 2nqbququiht wnbnulwjwbpbbph hgnpnipynilp Gowbwywih wqgnbgnipjwl
nwly GG 4SS yndwpbunp GGpédynn onh stipdunhdwbhg: Niuwnh, quaqwplwjhl Juwd
Yhuwququwplbwjhl ntidghdbtipp nhnwnpytihu wGhpwdbwn £ hunwly GYwwh webb] wn
Ywhujwénipynilp: Ujniu Ynndohg, Yndwypbunp Gtipddynn onh hnugdwl hwiwlwnqbiph
Uhpwnnipynilp, hGwpwdnpnepyntd £ wwihu Yupny  wybiwglbp hgnpnepynilp L
hwwnwuwbtiu hwpdwnp £ Yppwet| pbinh gqpudphyh qugowpbwjhb dwubipp uwhnih wbagbbne
hwdwp:

2.2 GAS-GEph w2fuwwnwbGpwyhG ntichdGtipp

Swydh wrGbin Gwhunpn pwdbnud OG4wpwagpywép, Ywpbh £ wub, np 33
tGGpgwhwiwlwnpgnid  quqwuwnipphbwihG L nqbiququwihlt  wGnwyuwjwbplbpp
Gywwwlwhwpiwp G0 oqunwagnpét] quaqwplwjhl L YhuwququpelwihlG qnuinhGGpnid:
Un nGwpnid Gowé wnbnwyuwywbpbbnb wfuwwnned G0 thnihnfuwwb pbrGJwoépbtinny,
pln npnud hhdGwywOnud wijwlwywb ptn0dwéphg pwdwlywbhl gwdén: LYwquagnyl
hwGdbwpwnpynn pGrGJwépp  hwiwwywuwnwufuwlnd £ pnywwptbih - GJuquqne)b
ptin0Jwéphl, npp 4SS-GGph nbwpnid wwn wybih thnpp £t 2ngbinnipphGuyh
mbnwywjwbplbtph  hwibdww:  UypGhwyn £, np ny  wOjwlwlwb pLnGJwépny
wfuwwnbihu, inbnwywjwbpltph wpryntbwybunnipjwb L taGpgGunhyuywb
gnigwlhGGpp pGyGnud GG: Wn wenwdng wnwGdOwOnid 60 dhwyl wyl pngbiququihG
inbGnwywjwlpbbpp, npnGgnud Juwpuwjwlwl wqpbGqwunnid Gwfuwwnbuywé b hwybipjw
wjpned, wyn ntwpentd ptinh gpudhyh hnthnfuwlwl hwindweébtipp Yuptbih £ Ywpquynpti
qwqwuwunipphlwiht  wbnwlwjwbph dhongnd, huly Ywpuwjwlwlb wgpbquunnd L
2nqtintdwyhG ghypnd ywhbp wojwlwywb ptrGwép, npp ptipnud £ gninpawhG ghyih
wnpryntbwybwnnipjwl ywhwywbdwh, npb £ pGpnud £ wdpnnp 2nqbququihb ghyih
wpnyntbwytnnepjwb wybih thnpp wGlydwl, pwlb oquwhwbhs Ywpuwyny ufubidwjh
nbwpnty:

OquwhwOhs Juwpuwbbpny hwiwlygywd ghyitpnid 2nqbinnipphGGGnld wnwyb)
2whwybtin wpfuwwnnid G0 oqunwgnpébiny uwhnn wwpwdtnptph® uwhnn GynLy, uwhnn
pipdwuwnhdwb wpngtup, wuhlpl npwlp w2fuwwnnud G0 “sywrwdwpybiny”: Gnant
wwpwuibwnpbpp ywypdwbwynpdwéd GG dhwjlb quqwuunipphbhg htinwgnn Sfuwquaqbph
pipdwuwnhdwlny L Swfuuny: b wwpptpnip)ntd GpG0p, np wjwlnwywb 2AEY-Gpnid
2nqbnnipphlwihG nGnuywywbpbtpp gwlywgwéd ptinh nbwpntd wfuwwnnud GG pwpd
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gninppnt $hpudwd wwpwidbinpbpnd: “w  hGunwglnd £ dwubwyh  pbrGJwéph
hwzwnyGtpp, pwbh np upbih b 2ngbwnipphlp b jwpuwjwlywb wapbiquunp hpwphg
wOywhu nhunwpyt” gninpane @Gpndp L obGipdwunphdwlp Gwfuwwbu hwjnbh GG:
Quqaquwuwnnipphlwjhb wnbGnwywjywbpOtph nbwpnid hwpy t hGnud oqundtip nunnhs Ynptiphg
[75]:

dwiwlwlwyhg, wnwlg hwybpyw; wpdwl hwiwlygwdé ghytpny wfuwwnnn
ElGyunpwlywjwbh OQ4-0 hpdlwlwbnd jwhujwé £ @SS-h OQQ-hg:

Ly2.6-nd Wwwybpjwé t hwdwygywéd ghynd ELGEYpwlwywlth L npw
quwqwuwunipphbwihlt  wnbnuwywbph 0AQ4-GGph Ynptpp h  hwdtdwwnnipyntt @SS-h
GnihOwy ptinGJwéph OQQ-hG: Uju gpwdhynid wwwnytindwd tpyne Ynptiph Gdwbnipynilp
thwuwnnud £, np hwiwygdwd ghyh 044-0 nplk YGnned dnin 50%-ny pwnép t GSS-h
0QQ-hg: Ujuhlpl, 4SS-h L GS-h wpunwnpwlpbtph hwpwptpwygnipynilp d0nud
hwitdwwnwpwp hwunwwnnib ptrGywéph nne tnhpnip)nLd:

B4 4SS-h L wdpnny tGGpqwpnyh OQ4Q-GLpp 2w wpwqg wiynd GO wwpned
ptrOjwéph wOyiwb hGwn: Mw wwypdwlwynpwé £ ququuinipphlGh  hgnpnepjwb
uwpqwynpiwl hGwn  (nnipphbhg  wnwe obGpdwunhdwbh  thnthnfudwdp): Uwulbwyh
ptinOJwdéplbph dwdwlwy, dhwihubn nbnwlywjwbpltph nGwpnid, onh dwfuup dGnLd
gntipt  hwuwnwuwnil, npp pGpnud £ wnnpphlbhg wnwe  ptipdwuwnhdwbOh  waydwb
ptnOJwéph hotigdwlp gniqwhtin: Uw pbpnud £ obipdnepjwlb  hwnnpndwG  dhohl
ppdwunhdwlOh wOydwb, L hGunbwpwp 044-h wGlydwh: Wu Gpunyph nbd Yupbh E
Yhpwnb|] hGunlyw| dhgngwnnidbbpp

¢ LJwqtight| onh dwhuup dwulwyh ptrGwépltiph nbwpnid
e Uh pwlh QSS nbinwlywjt|

Onh dwfuup Ywnptbh £ Gwqbighb) hGnlyw) dhpngunniibtpny
e Undwypbunpnid wnbnwnpbp dntwnph Yupqwynpynn phwybtn
e Luwfuwwnwpwglb] dwwnnigynn onp
e Oquuwaqnpét) Gpywnwbgp nbnwyw)bpbtp

65



100 +— -
-
/,
i
Sl - N I E—
, [
0 50 100 150 %
PIP“‘M
LY.26. 4SS-h L Swiwygdwsé ghyindy 2[AU-h 04QG-h  Ywpudwénipynilp
ptinGjwéphg, ------ QS,  -hwdwygywé ghyl, PP_as100 -hwpwpbpwlwh

wpunwnpwp, n/r]qsmo -hwpwpbpwlwb 0QQ [74]

Undwptunph dnuwnph Jwpqwdnpdnn phwlybtpp hGwpwynpnipyntd GG wnwhu
hotightiy 4SS-h  hqnpnipyntbp  dpbslk 80-85 % wnwlg wnipphlh  dninpnid
ptindwuwnhdwbh thnthnfunipywb: Ywlhg gwén hgnpnipintGGbph nGwpnid dfluwquqgtiph
pipdwuwnhdwlp wbtwp £ hotight), wnipphbh dGpohlG phwybtph qbpwnwpwgniihg
funtuwthbnt hwdwp: LY.2.7-nd ywwnybpdwé G0 wpnmwnpdwdé hgnpnepynlGGtph L pwpd
qnLnn2nt wwpwdbkiptiph Ynptipp:
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LY.2.7. 3wdwygywéd ghynd  wfuwwnnn - L GYwnpwlwywbh 4S-h L GS-h
hgnpnipntGGGph L pwpd gninppnt wwpwdbinpbph  Juiudwdnepinilp
Ywjwhh ptinGdwéphg
P_« P_u -hwiwlygwé EGYunpwlwjwbh hwpwptpwlwb hgnpnepnclp,
P_csP_as - GS-h L GS-h hgnpnipjntGlGGph hwpwpGpnepinibp, P_peP_rco -
pwnu 2ngnt hwpwpbpwlwb 8Gynuy, t_ge-pwnd 2ngnt obipdwunhdw

50 % -hg gwép pbnGYwoépltnh dwiwbwy pwpd 2ngne Gonudp wwhynid £ qpbpb
hwuwmwuwnntb yngGwnnipphbh Yuwpgwynpnn thwlwbGGph dhongny:
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ULY.2.8-ntd ywuwnybipwé t hwiwygwé EGYunpwlwywbh dwulwyh pbrGjwédph
04Q94-h ywhujwdnipjnilp pbrojwéphg wywwnytinnn Ynpp 4SS-h 4ndwpbunpnid dniinph
Ywpgwynnynn phwylbph nbnwlwjdwdp:
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LY.2.8. hwiwygwsé EGYunpwlywjwbh dwulwyh pbrGdwéph OQQ-G GSS-h
Yndwptunpned dncinph Yuwpqwynpynn phwybbph wnbnwlwjdwdp
------ - wnwl(g YndwpGunpnid dnunnph wpqwynpynn phwlybtph 4SS-ny
hwiwlygwé L GYHnpwluwywa, - Undwypbunpnud  dnuwnph
Ywpqwynpynn phwybtipn 4SS-ny hwiwygywé k| Yunpwlywjwa,
UUl@-9- yndwypLunpnid dnitinph wpgqwynpdnn phwlybtph gnunh,
P_«P_w -hwiwygdwé EGYynpwlywijwbh hwpwpbpwywb hgnpnepjnilp,
N_vN_uo -hwidwygywé EGYunpwlywywbh hwpwptpwywb OQ4:

QnjnLp)ntlh ntGh OQQ-h GUwwnbh dGéwgny, pirGwéph gpwdhyh nno Gplywpny,
h  wwpptGpnpinth wyt  wnipphGGGph, npnbp  Ywpqwynpynud G0 dhwjl  dnwnph
ptipdwuwnhdwbh Ywpqwynpdwdp: Onh Gwhuwwnwpwgiwl wnwybnipjntlp Yujwbnid £
Gpwlned, np w0 hpwlwbwgbbint hwdwnp syw nput wnwGdbGwhwwnniy nddwnnipniG:
Uwlw)b wbhpwdbw t obpdnipjwb wnpjnip:

Npwbtiu onh Gwuwwnwpwgiwb otpdwnpjnip Ywpnn £ hwlnbu qu) oquwhwGhs
Ywpuwjhg JGpgynn gqwép 600wl qninpphG: ULY.2.9-p gnuyg Lt wwhu onh
Gwhiwwmwpwgiwdp fGYnpwywjwah 094-h  Ywpujwoénipynilp  ptrGjwoéphg: UGS
ptinOJwdéplbph nbGwpnid onh Gwjuwwnwpwgnidp wwihu bt wybh 066 ognuwn, pwl
Yndwptunpned dncinph ywpquwynpynn phwybbph wnGnwywjnidp, pwjg wju hwdwlwnpagp
nLbh pbpnip)nl, npw wprynitGwybnnep)nilp pGyGnid £ 2powlw Showydwjph onh pwnép
ptipdwuwnhdwbbtph nbwpnid: Onp Ywpnn £ vnwpwgybp dhGsk dnn 50-55°C wnwlg
Yndwptunph fjuqiwl uwhdwbh wagdwo:
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LY.2.9. 4SS-h Uyndwpbiunp dwwnigynn onh GOwjuwwnwpwgiwl Yhpwndwip

hwiwygqwé tGYunpwywjwbh O0Q4-0 dwulwyh pbrGywébtph nbwpnty:
------ - wnwlOg UYndwypbunp Jdwwinigynn onh  Gwjuwwnwpwgiwb
hwiwywpgh 4SS-nd hwiwlygywé b GYnpwlywjywa, - Yndwpbunp
dwuwnitgynn onh Gwpuwwnwpwgliwl hwiwywpgny 4SS-ny hwdwlygwé
ElGYywnpwlywywh, OLI-G - Yndwptunp dwuwnnigynn onh Gwhuwwnwpwgiw
hwdwlwngh gnnponLObnLpyjwG gnunh, P uP_uwo -hwiwygywé
ElywnpwywywGh hwpwpbpwlwb hgnpnegynibp, N_vA_w -hwdwlygywé
ElGYwnpwlywjwbh hwpwpbpwywb OQQq:

S8wép pbrGJwoépltiph nbwpnd yujwbh OQ4-h wnwyb] OGS pwpbiwydwh
hwubbint hwdwp wbwp t Yhpwet] 0h pwbh 4SS-GGpnY hwdwlygywéd ghytip: Uw
hGwpwynpnipyntb £ viwhu dwulwyh ptnGwéplbinph nbwpntd wlowwnb| 4SS-GLphg
atyp Ywd dp pwlhup: Upfuwnwbph dbe dGwgwd GSS-GLpp pwpnibwynid GG wpfuwnbg
GnihOw| Ywd pwpdn ptrGwépbtnny, innipphbh dncnpnid pwndp otipdwunhdwbGbnny,
npp L ptpnud £ pGnbwGnip OQ4-h pwpbiwyiwb: 4 @SS L 1 GS nibtgnn hwdiwygywé
ElGyunpwlywywbh  0Q4-h  Ywhujwénipnitbp  ptrGdwéphg:  Uwjywbh  hgnpniepyniln
GJwqbgynid £ hGinlyw Yepw®

UhGslk 75 % pbrOJwép, pninp 4  A4SS-06Gp0 £ hwdwuwpwswih
ptnGwpwihynid GG,

75 % ptinGwéph ntwpnid @SS-GGphg dGYp Ywbqwnyned ,

UhGslk 50 % pLrGwép, wfuwwmwlph dby dOwgwé 3  4SS-GGpp
hwwuwpwwbiu pinGwpwithynud Ga,
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e 50 % ptnOJwéph nbGwpnid Gpypnpn 4SS-G t Ywbqwnyniy, L wjuwbu
2wnnilwly
Wu upubdwih Yhpwndwlb nbwpnid, yuywbh OQQ-GGpp 50 %, 75 % L 25 %
ptnUJwébtph nGwptpnid ypwynhynpbl hwwuwp GG GnihOw| pGrGjwéph OQGQ-hG:

2.3 bpLlwGh QEY-h Gnp Yurnigwé EGGpqwpnyh GYwpwagpnipjniln

33 tGGpgwhwiwlwnpgnid gnpénn otipdwihb EGYnpwlywjwbbbpp dGdwdwuwdp
uywnb] GO pptlg wfuwwnwbpwihlt rbGunipubtipp, Ywd qunbynd GO0 npw uwwrdwb
GaphG: GpblwGh 2[AY-h wnwohlG™ 50 Udwn hgnpnipjwidp wagpbquwnp hwGaGyb)
2whwagnpéiwl 1963 pywlywbh dwpwinh 31-hG: PGsp Jywyned £ Gplwbh AEY-nLd wjuon
qnjnipjntb nlbgnn uwppwynpnudGtph L $hghywywlb L pwpnuywb dwwénipjw
Swjnpwhbn wunhdwbh dwuh:

XX nwph dbpohlG wpntld wpnhwywb tp nwpdbp GpREY-h - wpnhwlywlwgiwb
wbhpwdbinnipnilp: Upfuwwnmwbpwihl yhdwynid qunbynn RWEYU-h ng pnluyhlt dwup
dhwgpltph  wpnyniGwybunnepjwlb  Jpw  wOgwllwih  wqnbgnipjntd thG gqnpénid
dtGnGwpynip)ntbbtph wpnynibwpbpwlwb hwGgnygh  (wnweohlt hGpphlG  «Lwhphwn»
dtnGwpynipjwa) 2ngnt wwhwbownyh wlhhwdwswih L Gphwpwwnb nwnwpatGpp: Unwhup
Upwgph w2fuwwnwbpp hwdwlwnpgh wnbGuwytnhg nunbnid £ wbbwywnwlwhwpdwn:

Swlpwwbwnnipjwl dwjpwpwnwph 0hwy AEY-h yGpwlywrenignidp L hwlnbpdnidp
dwiwbwywyhg, pwnpdp wpryntbwybinnnpjwl vwppwynpndbtipn hGwpwdnpnepynch £
nwihu wwhwbpynn ywpwaitnptph fGYunpwywb b otipdwihb EGGpghw dwnwlwpwnt
uywnnnbtphl ayntd L wpnynibwybn ntdhabtpny, dhLOnyl dwiwlwly wwwhnybiny
pOwwwhwwlwlwb wnwyb] wywunmwynp ywdwbbtpn dwjpwpwnwph hwdawnp:

Nfunh  npnpnid Juwjywgybg  BpREU-p dbpwlywnnigt; EGYnpwtGepghwih
wpunwnpnipjwl L obpdnipjwlb yGpwywbqbiwl pwpdn wprynibwydbin  hwdwywpgh
GGpnpdwb dpongnd”™ npwhuhlG hwOnhuwGnd £ hwdwygdwdé pnqbiquauiht ghyiny
wpfuwwnn hwdwlwnpqp: GpREY-h L Ipwgnubh 5-pn tGGpqupinyh whwaqnpédw
hwOdbGdwuip 33 taGpgwhwidwlwpqgp nnepu Gywy Gnp dwywpnwyh [76, 77, 78, 79]

Jdbpwlwnnigdw 6pwanph 2nowbwybtpney, qgnjnLp)ntl nLbtignn
GOopwlwnnigwdépltinph Yhpwndwdp L pun wbhpwdtnnipjwlt wpnhwlwlwglwdp,
Jwnnigytip £ hwwynpndwéd ebpdwjhG EGGpghwjh wnwpdwdp, wnwlg |pwgnighs
wypdwl wnhwh hwdwygywé pngtiququihb ghyny tGYunpwywjwa:
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Lnp  L[GYwnpwyuwywlp  hwdiwygdwd ghyind pwqiwnwbgp EGYpwHwywb L,
pwnyugwd pynyd dtYy hwwn wnwbg [pwgnighs wnpdwb gbpdwoqunwagnpéhs Ywpuwjhg,
aGYwywb 2ngbGwnnipphbhg nu qugqwwnnipphbhg L Gpwlg qGOGpwwnnpGtphg, pyny Gpynt
qtiGpwwnnpwiht  pwpdpwglnn  wpwludnpdwnnplbbiphg™  [pwgywd  wlhpwdtin
hwpwyhg uwppwynpneilGtpny nt hwpdwpwbpbtpny: 3wagbigdwb ghyp pun wnwolbwjhb
2ngnt Gpywyph 8G0wb £, wnwbg dhowlyjw) qbpwwnwpwgiwb: UG oquwgnpédnid k
qnjnipjnth nbtignn b GYnpwywywbh 110 44 L 35 44 wbowwinhswihl uwppywépltinp:

Wb nGh 189.01 Udwnn GnopGwy EGYunpwywlb hgnpnepinth 434.9 42/¢ 9tipdwyhb
wnwpliwdp dplninpuwihG onh 12 °Ch nbwpnud L 222.87 Udin EGhunpwlw
hgnpnipyntlG wnwbg obipdwjhG wnwpiwb 0 °C-h nbwpntLy:

Lnp b GYunpwluwjwbnid npwtiu Junebhp oquwanpéynid £ dhwjb pGwlywb quqp, npG
wnwpyntd b Gplwbh ebpdwk Gyunpwywywbh’ (gnjnipjnitd niGbgnn  EGYunpwywjwi)
tnwpwdépnild qinlynn uwhdwlwqwuniwb ybnhg 0,8-1,2 UTw 6G0wdp:

GnagbtitnntpphGhg hGwpwydnp £ hpwlywbwgbb) 9tpdwjhb EGGpghwjh wnwpnud® 2,5
UTw L 1,3 UTw 60G20wdp pngnt inbupny™ wnprynibwptinnipjwb, huy 0,18 UTw GG0wdp
pipdwiwwnwlwpwpiwl hwiwnp Gwjuwnbujwé nghlG ytpgynid £ hwabigdwb ghyih
gwdén 8G0wh YnGuinnphg:

EGGpowpnyp  Ywrwdwpnudp  ppwywlwgynid £t qfuwdnp  dwulwpbbGpnid
mbnwywjwdé Uul-hg (WGGnpNOGwlywl Ywnwdwpdwb YGw): AEY-Gph nEHwJwpdwh
Juwhwlwybtph hwdwp wpnbl wjwlnwlywb nwpdwd dGGonuputdwOtGpp thnfuwphGywé
GO  Jdwiwlwlwyhg Jphnbngpwadwlbpny: 2AY-h  whwgonpdiwlb  wwjydwbGGpp
Jwrwywpynd GG owbGpwwinph nhdwg qubynn hwdwlwpgsh dhongnd, hul wdpnno
2whwagnpélwl pOGpwgphl Ywnpbih £ hGnbG WUY-nd vwppwynpdwd wwqiwhb
wpunwwwwnytpdwb wnbuwyh 80" (wjGtypwbh Ypwi:

GnqtimnipphGh  YnbntGlGuwwmnph L EGGpqupinyh  odwlnwly uvwppwynpnidltiph
hnJwgnidp  hpwywlwgyntd £t dhllnylbd  wbpubGhywywb  opwiwnwlwpwpdwl
hwdwywpgh dhongny: UG hptbhg GGpYwjwglnd £ 2powlwnent  hwdwywpg L
whwynpywé £t unpynnwlwb pwpyny pwg  wnwpwlwhnjwgnighsbpny:
Rwdwlwpqgh [pwulnigiwl Gywwnwyny oqnwgnpéynid £ phdhwwbiu wnwgpyywé onip:

EGGpgwpnyp  qfuwdnp  dwulwtlpnid  nbGnuywyywé GG ququunipphluwhG
nbnwywjwlplb n. hp qtGGpwwnnpp, 2nqbnnipphbb ne hp qtbGGpwwnnpp™ hptig hwpwyhg
odwlnwy vGuwbhywlywb L f GYwnpwlywb uwppwynpnudbbpny, urwywpdwb uGhywyp,
ELlGYwnpwlwl pwfups uwppywoéph utbywyn, YninwyhsGbph ubbyuyp b wyG:

EGGpqupnyph hpdbwywb uwppwynpnidbtiph GywpwannipynLbp’
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Qwaquuinnipphluyhl inbnwluwywip

inhw- GT13E2 MXL Ujpuwnnd dhpdwjh, wpnnibwptpwlyw, E nwuh,
GwfuwqgéwjhlG hgnpnipynil — 172Udwn MXL ntidhinid L 179.9 Udwn MCL ntdhdniy,
wwniwnwpybip — 3000 wui/p,

Swidwfuntpjnil — 50 g,

Undwptunph wuwmhdwbbtph phy - 21,

nnpphbh wunhdwOOGph phy - 5,

wntpphGh hndwgynn phwybtiph phy -3,

wntpphbh hndgynn thnnpwyltiph phy - 2,

wjpdw0 fugh phy — 1,

wjphsbtinh phy - 72:
Quiquunnipphlh qbilGGnwiwnnn

inhy — onw-ppwjhbt hndwgdiwb 50WY212-095,
wpuwnnpnn - Upuwnny,

hwdwfunipjnLt — 50 Jg,

hanpnipjwl gnpéwyhg - 0,85,

Lwnnid — 15+/-5% 44,

hnuwlph nLd — 7890 (,

wwniwnwpybip — 3000 wuip,

pLbnGtph phy - 2,
0QQq - 98.81%:

cnqliinmpphluyhl inbinwluwywip
inhy — 2ngnt wenwibtpny, Geppnndwdp L YnGnGGuwwnnpnd,
wpwnwnpnn — Nk2Ah,
pwndp 8020wl gnnp2ne Wwpwibnptp®
obipdwunhdwb — 493,7 °C,
abond — 7,02 UM,
pwndnp aG0wh qninp2nt 6wfuu — 56,79 g/,
wnnLiltn *
Ywpqwynpynn —290,1 °C, 1,46 UTw,
sywpquwynnpynn — 396,6 °C, 3,46 UTw,
Gbppnnynn 2ngh’
60nLd — 0,45 UM,
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obipdwunhdwi — 264,4 °C,
6wfuu — 7,46 4ag/,
aG2nudp YnGnGhuwwnnpnid — 0,0058 UTw,
hanpnipyntlt — 38600 4duwn:
cnqlitnnipphlh qbGlGGnwwnnn
nhy - Gnwdwq, uhlppnl, unwnhy gparhsny,
wpwnwnpnn — SNk2Ah,
rwpnid — 13,8+/-5% {4,
hanpnipjwl gnpéwyhg - 0,85,
putinGtiph phy - 2,
hwdwfunipjnLt — 50 Jg,
wwniwnwpybip — 3000 wuip,
hndwglnn oph sbpdwunhdwh — 35 °C,
Uhwgntd - wunnwadl:

2.4 QSS otipdwjhl hwydwnpyh dtpnnltiph ntuntdGwuhpnepynil

hOswbGu L Ynwu pnpnp ququunipphGwyht L hwdwygywéd wnbnwlwjwbpGtpn,

Gplwlh hwiwygdwé EGGpqwpinyp Gnylwbu wninudnud £ wwpw pbpwgpnid GSS
yndwptunp  dwuwnigynn  dplnnpuwght onh  obpdwuwnhdwlh pwpdpwgniibbphg:
W uwwnmwlph Gywwnwylb £ ywpgb] nwpbywb Yunpdwépnd wyn wgnbignipynibp Gplwd
pwnwph wwjdwbbGpney, hOswbu Owbl hwdwpytbp hnqugiwb funbwy hwdwlwpgh
Yhpwndwb wgntgnipjntGp nbGnbuwlywb ywhwybnnipwb tnGuwbyynibhg:

fuGnpp NLddwh hwiwn whhpwdtw £ 4SS obpdwjhb hwydwpyh wybwhup dtGpnn,
npp hGwpwynpnepynit yunw hwpyh welbp hnduwgdwb hwidwywpgh YhpwnrdwO hGwn
Ywwdwdé pnpnp thnthnfunepynlGltipp: Uynwhup hwdwpluwihb dGpnnhyw qunGGint hwdwp
wju wwpwagpwdpnid Yuwwnwpytb) £ gpuywbnepynibned pipdwé 4SS ptipdwjha hwqwpyh
atpnnbtiph ntuntdGwuhpnepyncG:

QSS otipdwjhbt hwydwpyp yGpwptpjwp welw pninp gpuywlnepinined Gwfu L
wnw9 Owpwagpynud G0 4SS wnbuwlwl L phpwywb ghytpp, L npwlg pOGnipwanhs
atonipynLGGGpp [80-85]:
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ULY.2.10. Mwpg 4SS hnbwjwlywb ghyg

Wuwbu, 04.2.10-ntd pbpdwé £ @SS nbuwlwb ghyp T-s nhwgpwincd, huly G4.2.11-nLd

hpwyw ghyip, npp hwzyh £ wrbnd wninipphlnid L YndwpGunpnid pGpwgnn wynpngbubtiph
wOhwlwnwnpdthnipjnibp L hhnpwyhywlwb Ynpniunbbpp ququunwpbbpnid b wypdw

fugntu:

T4

L 4

LY.2.11. Mwpg GSSghy| hwyyh wnwé 2thdwl b wyp whhwlwnwpdtiih Ynpniunbbpp

Uyuwhup ghynd wfuwwnnn 4SS ufubidwb ptipdwé £ GY.2.12-nc0:
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LY.2.12. @SS wywnq ufutidw

Mwpq 4SS ghyh hwdwp YndwypLunpnud dwfuuynn L wnnipphlnud unbinéynn
w2fuwnwbpbtpp hwiwwwwnwufuwbwpwp Gaipyuwjwgyned G0 hGnlyw| pwlwdlbbpny

Wy=mon(h2-h+)/ny, (2.1)
Ws=(mMon+my)(has-ha)ns: (2.2)

SGwnLwpwp untindywd oquuywp wfuwwnwbpn hwjwuwp Y hbh®

W= Ws- Wy (2.3)
Upfuwwnnn  dwpiGh obpdwuwnhdwlp 2s Ybwhg 3s pwpdpwglbint  hwdwp
wwhweynn Juntihph dwiuup hwywuwp mw%: (2.4)

Nrunh ghyh wnpwpwwnn otipdwiht 0Q44Q-G GEpLywywgynid £ hGnlyw] pwbwdlh

W

dhongny’ Nass=—" (2.5)
meL.'

Undwptunph L wnipphGh OQQ-GGpp GEpYwjywgynid GO hwdbdwwnnipjwl dby
hantGupnw wypngbiup GUwwmdwip

hos—h,

Ny (2.6)
hg—hy |
UE—— (2.7)

Udd nhwnwpytlp 4SS hwydwpyh dwbpwdwul dGpnnlGpp  pbipdwé
gnwlwlbnipjwlb dGe: Unwohl nhwmwnpyynn dbpnnp “TpyxHunn A. M., MazotypbuHHbIEe
yctaHoBku -nLli ptipdwé vbpnnl t [84]:

Ujuintin nhinwpywé £ 4SS ghyy T-s nhwagpwinud, npp pGpdwé £ 04.2.14-nLy,

wnwlg hwyyh wrbGint 8620wl Ynpneunlbbpp onwjihb L ququwjihbt wpwywnbpnud, npnGp
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uwlwjl hwydh G0 wrOjwé hwpdwpybbpnud: a YGunp npnpnd £ onh uyqplwywh
wWwpwuibwnpbpp  Yndwpbunph  dnwnpnud (Pa, Ta): ab-0 hwiwwwuwnwufuwlnid
Undwpbunpnd onh ubtinddwl wpngtiuhlG dhOsk Py L T, wwpwdbwpbpp, huy ab’
hwindwoép hwiwwwwnwufuwlnd £ 0hGsk Gnylb JGpolwlwb  6Gpnd  hgnkGppnw
utinddwlp L Ty 9ipdwunhdwbhG: be hwndwép hwdwwwwnmwufuwGned £ wypdwb fugnid

ptipdntpjwl hgnpwp dwwnnigdwlp, nph dwdwlwy onh stipdwuwmhdwlp wénwd £ Tp-hg
ahOsl T:

LY.2.14. Mwpq 4SSghy| T-S nhwgpwinid

Ppwlwlnid wypdwb fugnd nbnh £ nlGGOGned 8600wh wOyntd hhnpwyhywywa
Ynpnruinbbiph hGnbwbpny, wjn ywwnidwnny P<Py: bwnbih £ gpb’

PC=}L1Pb, (28)

npwintn A4-p qnpéwyhg &, npp hwyp £ wnbnd yndwyptunpph L wypdwb fugh dhol. onwjha
umpwywnh L wypdwb fugh hhnpwyhywywb Yynpneunbtipp® 44=0,97...0,98:
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cd hwwnywén gnyg £ wvnwhu innpphlnud quigtiph pnwpdwydwb ypngbiup dhGsl
Pd aGnLd: Snipphlhg htiinnn inpuyunned §6dwb YnpniunGGph hGnbwbpny Pe>Pa:

Pa= 42Pg, (2.9)

npwintin A2-p gnpédwyhg £, npp hwadp £ wrlned Yyndwyptiunp onh dwunnigdwb hwdwywpgh
L wnnipphGh GrpwjhlG npwywnh hhnpwyhywywb ynpniunbtpp® 4,=0,96...0,98:

Undwptunpntd L wnipphlnud &Gpnudbbph . hwpwptpnepyndGGGph - hwdwp
hwiwwwwnwufuwbwpwnp Yupnn Gap gpb|’
€=Pp/Pg, (2.10)
0=P//Pq: (2.11)
Gpb qptlp A=11A2, wyyw Yuunwbwbp®
O=AE: (2.12)
QSS oquwlwn nGuwywpwp wfuwnwbpp Y hap®
H=H-Hy, (2.13)
npntn He-0 winipphlnid 1 4@ quagh pOnwpdwlowl  wfuwwnwbplb E, huly Hy-G
Yndwptunpned 1 &g onh utinbdwl ypw Swhuuynn wfuwwnwbpp’
Hin=Cpq(Te-Ta), (2.14)
npntin  Cpg-0 L Cpop-U hwilwwwuwwufuwlwpwnp quwagh L onh UhohlG hgnpwn
otindnLOwynipyntG0Gn0 GG, yGpgynid G0 hwilwwwwnwufuwlb wnjniuwyabphg:

JdtGpohl Gpyniup Yupbih £ GGpYuwywgll] Yyndwptunph L wninupphbh hgntGunpny
0QQ-GGpph dhongny’

_he—hg _ CpglTe-Tyl 1Ty
3 T -
Ro—hge fpg'~rf_r|ir:' T Ty’

(2.16)

=hbt_h|1_fpﬂ" ':TEII.‘_TIJ.} — l'_hr—lra_ (2 17)
hpha Cp(Ty-Ty)  Tp-Tg

hantGunpnwyh hwywuwpnidbGGpp ininepphGph b YndwpGunph ypngtubtph hwdwnp

i:gmﬂﬂ’ L:Emg, (218)
Ty Tae
kpa—1 k-1
npuntin Moy M= :.;. ; (2.19)
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Oqunytiiny (2.16)-hg, (2.17)-hg L (2.18)-hg Yuunnwlwbp’
T,=T.(1-(1-6 "4)ng), (2.20)

gmor —q

Tb=Tr1(1 +

): (2.21)

My
(2.20)-p L (2.21)-p hwauh wnGtind, (2.14)-p L (2.15)-p Yunbih £ gnbp

Hun=15Cpq Te(1-6 ), (2.22)
Hu=n—fcponTa(smm —1): (2.23)

Wpdw fugnid dwnnigwéd inbuwlwnpwp 9tpdnipynilGp npnpynid £ ¢ L b YGwnbpned
tOpw|whwbbph tnwppbpnipjwdp’

Ar=—c, (T. — T), (2.24)

L

Nuw —0 hwzyh b welnd Junebihph ng |phy wyjdwl L nbwh 2ppwlw dhowdwyn
wntinh nLbtgnn 9tipdnipjwb Ynpneunbbpp, 1,,,=0,97...0,99:

8hyh O449-0 wpwnwhwjwnynid £

N=(Hs — Hy)lq,=H/q,: (2.25)

Ljwpwagpwdé dGpnnp wybih jwy wwwnybpwglbint hwdwp unnpl nhinwpytbp
npwlny npbt GSS hwdwpyh ophlGwy, npp pGpdwé £ neuntdGwuhpynn qpuywbnipjw
aGo:

Npwtiu Gluytwnwiht nywbtp hwOntu G0 quhu’

e QSS L. hgnpnipynilp,

e wnLpphOhg wnwy dfuwquqtiph ebpdwunhdwn,
e Undwnbunph dntwinpnid onh ptipdwuwnhdwp,

e Undwypbunpnid 8620wl pwpdpwgliwl wuwnmhd@wn,
e GU20wl Ynpniunh wuwnhdwn,

e wyniwh fugnid ptpdnipjwl ogunwagnpéiwl gnpdwyhgp,
e wnLpphOh dGuwWOhywlywb OQAQ-G

e qbilGpwuwnph £. OQQ-G

e Undwnbunph hgntGppny OQQ-G

e winipphOh hgntGppnw OQAQ-G

* wpwwhnuptiph qnpéwyhgp
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e Jwnbhph wypdwl unnphl pwbGynpwlwb oGpdnepnilp

Glwybwnwhh GGpdniéynn ngjwy £ hwdwpynid Gwb a6y 4q qugh wypdwl hwdwn
wlhpwdtiwn onh GJwquwaqn)b pwbwyp® 15,5 4g:

[w2qwpyh Yuwwnwnpdwb hGppwlwbnepjntbp hinlyw (Gt

1. hwqwnpydned £ onh otipdntGwynipyniln” c,=R/m pwlwdlnd, npuntin

R=0,287 42/q4), huy m=0,28, c,=1,025:
Sw2dwnyynid £ yndwpbunpp Gpenid onh oGpdwunhdwbp
Ty =Ts(1+(E™1)/ny):

Yhwnwnpldnn ophlwyh nbwpned” T,=407,98 °C:

Undwpbunph dniwnpnud L Gpenid onh thpwiwhwbtph hwdwnp oguynid GGp snp
onh L mpdwd Jwnbihph hwdwp pGpwé wnyniuwyhg, npnud inpdwé G0 onh L Jwnrbihph
hanpwn otpdntbwynipyntbGbtpp L EGpwiwhwlbpp  wwpptp  etpdwuwnhdwbbbph
nGwpnid: SYw ophGwyh nbwypnid’

hs=-10,0342/q,
hy,=394,7 2/q.
[w2qwpyynid £ ubinddwb wpngbtiuh pbpwgpnid onh hgnpwn 9tpdntGwynipjwb
0hohl wpdtipp™ Cps=(hg;- ha)/( ty-ts)=1,0299 :
B2gpnyned t m-p° m=R/C,s=0,2787 L Ty-n" Ty =405,36 °C:
B2qnnynid £ hy-p hg= hy (405,36)- hy (25)=416,98-25.08=391,9 42/q -
2. 3wdwnpyynd £t onh wdbigniyh gnpdwyhgp’ o, nph hwidwp Gwfuwwbu
hwdwpyyned £

hon= Non(1200)- hon(25)=1305 4:2/q,
hetu= eru(1200)- hen(25)=1452,78 4,3/,

Qj??'.u."‘l.'.l' Ll:lhf-."! hi." I:l LD}hﬂ‘l.'.l'
o= L .-il. "
o Litog hf."::l '

pbnncbtind, np hy=0, Yunwlwlp’ a=2,9503 :
3. SnipphGhg wnwy dfuwgquwgbtiph tGpwwhwb hwdwpyynid £ hGnlyw) pwbwdlny

1+L,

o= o g or=1357,25 /g -

4. Snipphlnud pnwpdwydwb ynpngbiuh wwpwadbwnptph npnznidn:
SnipphGh Genid quqabiph gtipdwunhdwbp npnpynid

Ta=Tc(1-(1-6™Nw)=560,24 °C :
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Snipphbh Genud Sfuwquqbiph topwiwhwb hw2dwpybint hwdwp, npnagncd GG
puwin wnyntuwyh dfuwgquwatiph L onh thpwwhwtpp Gpeh 9Gpdwunhdwbned

hon= on(560,24)- hon(25)=560,37 42/,
hchF horu(560,24)- hcru(25)=614.0,6 l/.Q/l/q L

Ohuwquwqbpp tGpwiwhwb wju Gpyniuphg hwydwnyyned £ Gnylb pwbGwadlng, npnd,
np hwdwpyyned £ ninepphlGh dncnpnid EGpwwyhwl®

hs=0,35355 hep,+0,64645,
hon=579,35 :

Rw2qwpyynid £ wnipphlnd plnwpdwlydwb wpngbunid  Sfluwquqbiph  dhohG
hgnpwp ptipdnLGwynipynibp’

Cra=(he- ha( tets)=1,2159 4AUqy) :

Wpdwl wpqwuppltiph dGe onh SdwywjwihG wwpniGwynipjnlp npnpynid
htunlyw| pwlwélny’

_ _agle-1)
o 1+gia—1)’

npnbn g = i—"—::ﬁ=o,92747, ¥, =0,643098 :

UWndwb wpqwuhpbbiph dn Gyncywn dwuuwb b quqwjhb hwuwnwwnnibp’
He = Hopfon + anl(1— 1,,)=28,69,
R,=8,314/28,69=0,2898 42/lq4),

Mq-h G2qnnywé wpdbipp YhGp'
mq= Rq/ Cpq=0,2383 :
Qtpdwunhdwbp wmnipphbhg hGnn
T4=1473(1-(1-15,22%°%)0,88)=581,48 °C :
Un opdwuwnhdwbp Yhpwnenid GOp npwtiu yGpetwywb b npwlny npnnud’
hon=hon(581,48)- hon(25)=583,95 42/q,
hen= her(581,48)- her(25)=640,29 4244 :

UjanihGunb 62gpnygnid £ hg-h wndtipp
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hq=0,35355*640,29+0,64645*583,95=603,87 42/q:
5. 14q qugh plnwpdwlyiwb w2fuwwnmwbpp nnntpphbnud’
Hw=hc-hd=753,38 42/q-
6. UYndwpbunpnid 14q onh utinddwl Ypw dwiuuynn wfuwnwbpp’
HU=hb-ha=401,93 42/q-
7. 4SS wpfuwwnwbpp [hutinh ypw'

Hi=Hwns-bH,=354,60 4.2/q,

npwntin b=22*2r)—0 98279

1+alg

8. 4S8-ny Sfuwquaqbinh dwfuup® Gn=Ny/(Hen,)=287,18 Lq/y:
9. 4SS yndwpbtunpny utindynn onh dwfuup® GU=bGwn=282,23 Lq///:
10.dwnbihph dwiuup’ B=—2-=6,346 {q/i/:

1+all

Lywpwapywé dtpnnp Yhpwebh s& dGp weol npdwié fulnph (ptédwb hwdwn, pwbh

nn-

e QSS L. hgnpnipntbp hwlnhuwlnud £ Guybnwiht ndyu: Utp weol npdwé
funph nbtwpnid 4SS hgnpnipyntlp wbhwjn £, nunh w0 wbwnp £ |hGh
hw2dwnpluwyhb indjwi, wyp ng GruytnwihG:

e QSS dwwnigynn onh topwiwhwih hwqwpynid hwdh sh wrGnid onh dGp
wwpnibwyynn punGwynipjntbp, npp dwunnigynn  onh  hndwgdwl  funGuwy
hwiwywpgh nbwpnid fuhun wbOhpwdtin £, pwGh np Gpp hwyqwpyynd
hnjwgiwl hwiwp ywhwboynn oph pwlwynipyntlp wbhpwdtizn £ hdwlw onnd
0ahOsL funbwywgnidp wwpniGwyynn oph pwlwynipynibp: PGswtu Gub nw ptipnid
t tGpwwhwyh hwdwnyh ufuwgwbph: Gpp qnpénud £ 4SS Yndwpbunp dwwnnigynn
onh hnqugiwl hwdwlwpgp, yYndwyptunph dninmpnid onh hwpwpbpwywb
funGuynipynibp hGnud £ hwwuwn 100%-h L funGwynipjwlb tGpwiwhwih hwaygp
swnlbp pbpnud £ ufuwwlph dGéwgiwh:

e Onh L Sfuwquqgtiph tGpwiwhwih hwddwb wnyniuwywihl twpptpwyp ptipnud k
npnwlyh ufuwwbph:

e 1 4gquagh wpdwb hwdiwnp wbhpwdtiznn onh Gjuwquantyb pwlwyh wnynruwyuwhb
wpdtipp Lu pGpnid £ npnwyh ufuwwbph:

80



e Juwnbtihph tGpwiwyhwl pOnnibynd £ hwydwuwp 0-h, npp Gnylwbu pbpnud

ufuwjwbph:

Qpuywlnipjntlnd ppqwé  nhwwnpydnn  hwonpn hwqwpyh  dGpnnhlwynid
wnwownyyntd £ 48S  wnipphlnid  quatiph  pnwpdwydwld  wpngbup  pwdwb)
hwwndwdbbph, pun wunmhdwbGtph, npp pGpnud £ hwdwpyph d2unnepjwb 0GdwgiwG[84]:
Uwlwjb wyu dGpnnned Lbu wnbw GG Gwiunpn Gpyne dGpnnlGphG hwwnney pbpnepyniGGGpp:
Lwb dwiwlwywyhg GSS wpunwnpnnlGbphg ny JdGYp sh  pwgwhwjnnd  hp
nbGnwywjwliph wunmhdwbGtph dGynudbGpp LW hwpwpbpwywb OQQ-GGpp, L hwynbh GG
Opwjl Owhubwyw L yGpetwywl ywpwibunnptnnp:

Nhunwnytlp dGY wy dGpnn, ppqwéd qpuywbnipjwb vty [85]: Mthwnwpytlp GY.2.15-
nd pbpdwé  GSS  wpfuwwnwlpwiht  upudwh L T-s  nhwgpwdnd  npw
pbpinnhGwdopywywb ghyrh, GGpYuwywywé GY.2.16-nL0, pUnipwqgptpp L npwbg
JGprniénepyniln:

SR

2.15 Mwng 4SS wuwnwbpwjhb ufutidw

k
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2.16. Mwng 4SS ptipdnnhbwdhyuwywb ghyp T-S nhwgpwdntd

Undwptunpned onh 8020wl pwpdpwgiwl wunh@wlp L tninipphbnd fuwquiqtiph
6020wl hptigdw b wunhdwbbtpp hwiwwwnwufuwlbwpwp Gauwbwyyned GG

1= Pun/Pu, (2.26)
Tas= Puw/ Pun, (2.27)

npntin hwiwwwunwufuwlwpwp Py—0 L Py-0 Yndwyptunphg hGwnn L wnwo onh
a02nudlbbnG GG, huy Ppw—0 L Py =0 ininupphlhg winwe L htivnn quigbiph aGznudbtipp:
UWpdwl Ywadbpwynid onh 6020wl thnpp wOynudp wwjdwbynpdwd “Yndwypbiunp-
qwquwjhl wnipph0”  wnpwynh wtpnnhGwohyuywb  Ynpneunbbpngd  qOwhwwnynid
hGwnlyw| gnpdwygny’
M= Puow/ Pup: (2.28)

buly A2 qnpédwlygny qlwhwwnynid GG yndwpbunp onh dwunnigdwb hwdwlwpgh L

innpphbh Gpnud wtinh nlGtgnn hhnpwdhyuwywb YynpniunGtpp:
Snipphlnud - wpfuwwnnn dwpdbh  plnwpdwyiwl wnbuwywpwnp  w2fuwnwbpn
hwdwnyyned £ hGnlyw| pwlwdlny

Has=Cpa(Tsw-Tsh), (2.29)

npntbn Tse-0 L Tsp -0 hwlwwywwnwuuwlwpwp wnnipphGhg wnwy L hGwnn quqbiph
ptindwuwinhdwG6Gnh GG: IGnLbwpwn, ninepphGh OQ4G-h hwdwnp Yupbh £ gpb”
Nas= Has/ Haso, (2.30)
npwntin Hase-0 dfuwquqgtiph pnwpdwydwl nbuwwb wfuwnwbpl £ tnincpphlnid:
Lowlwwbu hwdwpyynd £ Gwb Yndwypbunpnid onh ubinidwl wbuwlwpwn
w2fuwwnwbpp, hwyh wnbG n npw 0Q9-0°
Nuy= qu/ Hq, (232)
npntn Tun =0 L Tyw-0 hwiwwwunwupuwlwpwnp Yndyptunphg htwnn L wrwy9 onh
pbindwunhdwbbbpb GG, huy Hyo—0 yndwpbunpnid onh ubinddwb wnbuwlwb wfuwwnwbpl
L:
EGGpgbnhywlywb GSS-nud  qblGpwwinph  wunwndwl  hwdwp  oquwgnpéynn
nbGuwlwb oqunuwywp w2fuwnwbpp wnpynid £ hGnlyw) pwlwdlny
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GQHQS—G;_..H;_..
——————=(1+gu)Has-Hy 42/, (2.33)

Hoss==————=
[

npntin G0 onh qulqywél b Yndwpbunph dnunpnid, G.-0 qugbiph qulqyuwél t

wnnipphGh dneinpnid, huy gu=Bges/Gy—0 Jwnbihph hwpwptpwlwb dwfuul £ 4ge/4g:
4SS wnipphGh L Y4ndwpGunph GGpphG hgnpnipyniGbGbpp  hwyqwpyynid GG
hGnlyw| pwlwdlbpny’

Nias=GqHas, (2.34)
Niu=GuHy, (2.35)

Swodwpylbph hwdwp  4ndwpbunpnud  ubnidwl  wfuwwnwbph  hwdwn
ogwnwagnnpoynil £ hbnlyw| pwlwdlp’

Hu=TonCr(m ™ — 1), (2.36)
npnbn Ton-0 Yndwpbunph dninpnid onh obpdwuwinhdwllG £, Cp-0 L Cpy-G onh
otpdntbwynpynttp b Ton-hg Ty Ghowlwypnid  dhohlG  nquphpdwlw
ptipdnLOwynipyntGGtph dhohl pywpwlwlwlb wndbplbpb GO hwiwwwunwufuwbwpwp,
m-0  Yndwpbunpnid 8020wl pwpdpwgiwlb  wunhdwlb £, Rop-G onh ququjhb
hwuwnwuinnt G0 E:

Utindnuohg htGwnn onh obpdwuwnhdwOh hwdwpyiwlb hwdwp oquwgnpdyned E
hGunlyw| pwlwdélp

th=TL,w(1 +—L"—)Z (237)

My

Undwpbunphg hGwnn onh 8Gndp Yupbh £ hwyb| ogunwagnpdétiing Yndwpbunpnud
6020wl pwpdpwgiwl wunhdwbp
Pun=Puumy: (2.38)
Ujpdwh fughyny onh dwfuup hwywuwp £ yndwypbunpnid onh éwiuuhg hwlwé 4SS
hnjwgiwl hwdiwnp ogunwagnpéynn onh wnniiltph éwfuubpp L Yndwpbunph wpunwph
pthwgniiltpny onh wpwnwhnupbph 6wfuup’
Gun=Gu-(GupntGhny): (2.39)

Pthwgniiltinny intinh nitbignn wnpwnwhnupp® Gy Ywugintd £ (0,003-0,005)Gy:
Undwpbtiunphg htinn utndjwé onh thpwiwyhwb hwdwpyynid £ onh L quqtiph
ptndwdhghlwlywlb hwwinynipjnibltiph wryniuwlh dhengnd, ytipglbiny qwagh Ywaqdp
wdpnnontpjwip hwywuwn onh L 28,97 dnGynigwp dwuwjnyd:  3wonpn pwyjny
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Jwuwwpynd £ wypdwb fughyp otpdwhG hwdwpy, nph Gwunwyb b hwqupyb
Jwnbhph éwfuup, tinipphlhg wrwe quagbinh tGpwiwhwh L onh wytigntyh gnpdwyhgp:

GUI‘UhHh+BQS(Qﬁnm‘H + hq)=5mwhmw1 (2.40)

npntin Gur -0 b G0 hwlwwywwnwupuwlbwpwn Yndwptunphg htGwnn onh L winupphl

dwuwnnigynn quqbiph éwfuubpb GG, 494/, Bqs -0 Jwnbihph dwhuul t, 44/, -G wypdwh
fughyh 9tipdnipjwlb oquwgnpédwl qnpéwyhgl &, hun,hy, b -0 hwiwwwunwufuwbwpwn

ubindqwé onh, Jwntiihph L winipphGh dninpnid quigtiph tGpwiwhwbnpl GG, 7,,-0
Jwrbthph wypdwb wdpnnowlwbnipjwl gnpédwyhgl t:
1 g Junbihph GYuwndwdp gtipdwjhG hwayblzhep Yihbh®

otyraLohyn+1(Qunypthy) =(1+ay,n Loy, (2.41)

Uju hwwuwpnidp (nuéynid £ hwonpnwywb dninbignidGbph dGpnnnyd, npw hwdwnp

wryneuwybbpnd  hwyqwpyynid £ wnnepphbhg wnwy quabph  tGpwiwhwlG L onh
wybgniyh qnpdwyhgn: dwrbihph dwiuuh hwiwp oquwagnpéynid £

Gy (B =y
Bog =t P~ Mup) 2.42
q= QErILul'u‘I'hLl__thLu ( )

[w2qwpyh hwonpn ttnwwned hwdwpyyned £ ninipphG dinlnn qugtiph dGynudp
Puw=Ponmy(1-Zeip)( 1- Zu-s)=Pyn(1- Lu-as), (2.43)

npuntin <y p-p 4SS Gpwihh npwynh hhnpwd hwlwb Ynpneunbtinh gnpéwyhgl £ {ys-0°
“Undwyptunp-wjndwh funtg-innipphGh dncnp” hwnydwéh:
Uu dbpnnnid @SS-h hgnpnipynilp qbGGpwwmnph Gentd hgnpnipjwb inbupny
hwdwnyyned £ hGnlyw| pwlwdlny
NE=(Niashuas — Ne/Mw)zg | (2.44)
npinbn Me:-0, 750 L nh}—ﬁ hwiwwwwnwufuwbwpwp wnipphGh L Yndwpbiunph
OGluwbhyulwb L qtbGpwwnnpp EGYunpwywb O94Q-0GnpG Ga:
Wu abpnnh hhdGwlwb pbpnipyntbGbpb GG
e wfuwwnnn dwpuhGbbph topwiwhwObph wyneuwyuwihl hwdwply, npp pbpnud £
ufuwjwbph
e onp wytigntyh gnpéwlgh hwzdwnyh wyntuwluwyhb dtipnn
e wjypdwl fughyh etpdwihbt hwyybyrrh pwlwdlnid hwdh 360 wnGwd nbwh
2nopwlw dhowyw)p inbinh ntatignn otipdwjhb Ynpniunlbtipp:
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e QSS Jdwwnigynn onh thpwiwhwih hwpdwpynid hwydh sh wrbynd onh abo
wwpnibwyynn funbwynipynLlp
Qpuwlwlnipjwlb dtp Owl dwbpwiwulb pGGwpyynd £ 4SS nsg hwpduplyuwjhG
ntdhaGtph hwdwnpyh dGpnnhlywb [83-85]: Uwlw)h dtGp fuGnph npjwdéph nbwpnid wnkinh
E nLOG0nd Gwhubwywb ywpwatunptph thnthnfunepynih @SS pwquwhb ntdhdh nbwpnty:
JdtGpnGjwp pbGpnipniGGbph - wwwndweny  GUupwagpywé dbpnnlbpp gwllwih sk
Yphpwrtp dbp weol npwé fulnpp [(nédwl hwdwnp: Wn dbpnnlbphg nplkt dGyp
UhpwnnipyntGp Yhwbqbtglh hnqwgiwl hwdiwlwngh wpnynLowytunnepjwb
pbipwaolwhwwniwl Ywd qbpwalwhwwnmdwb: Nunp Gywwwywhwpiwp £ Gwybp dh
atpnn, npp qtpé Y hGh Gpqwé pbipnipynLGltphg: Wn dbpnnnyd wbwp £ hGwpwynp thGh
hwoqwpytp wpdwl fughyh otpdwjhlG hwdwnpyp GOGind dhwyl aGYy hwunwnndl
wwnpwdibtwnphg wypdwb gtipdwuwnhdwbhg, pwbh np nw gwlywgwd wnnipphbh nbwpnld
ntoh  hptG  hwwnny  hwunmwnned wpdbp, npp wdoblwowwmhdw G E, L 4GSS-G
Ywpquwynpyned £ wylwbu, np wyn wndtipp sthnhnfudh: Wn Yupgquynpnidp nbinh t
nLaGOnud onh L Jwnbhph hwpwpbpwygnipjwb uwpqwynpdwdp:
Unnple  pGpdwé wngnuuwynd plnhwGpwgdwé  dund  GEpyuwjwgwéd
neuntibwuphpywé qpuywbnepjwl npwywb b pwgwuwlwb Ynndtnn:

Unyniuwy 2.3
Q4SS otipdwjhl hwdwnyh neuncibGwuhpywé dtpnnbtph wnwybnipyntGabp L
pbpnipynLGGbp
Qpulwlnipjwl wlywhbnLd Npwluwb Ynnikip Pwgwuwlwb Ynnikp
Gas Turbine Handbook -
Principles and Practices 3rd
edition (Tony Giampaolo) Spywé t 9SS nbuwlw
L hpwlw ghyitph
Gas Turbine Engineering RONnLpwanh; 260 wwnnilwynid 9SS
Handbook (Meherwan P. Wwpwakinptinh b ptindwjhG ghyth hpwywa
Boyce) gnigwbh2Gtph hw2dwpyh Yt wn Ytwn
hwiwwwpthwy GUywpwagpywé vtpnnbtin
GUwpwaqpnipnih L
hwzwnlywyhl
ADVANCED GAS TURBINE pwlwdltin
CYCLES (J. H. Horlock)
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Urnyntuwly 2.3-h wpnibwynep)ncb

Gpwywlnipjwl wajwbnLd Mhwlwa Ynnatip Pwgwuwlwh Ynnitp
Unwownyynid £ 4SS
innLpphbnud quigbiph
Gnwnpdwyiwb wpngtiuh Q4SS wpwnwnpnnbtpp sG0
Maposbie n razosble Typ6uHbl | L
P W Tty o | wbth Saqphun hwiaduinl, | puighwyunud uncphth
o pwdwbbiny wunh8wbGGph dGynibEpp
wnngbuppuwnnnipphlh
wuwnhdwObGnh
Swlnhuwlnid £ 4SS e QSS w2fuwwnnn
[a30TypOUHHbBIE YCTAHOBKM ptipndwjhG hwdwnpyh dwndhGGGpp
(TpyxHun A.L.) PWj| wn pwyj| topwiwhwlbipp
Oywpwagpywé dbpnn hwaqwnyyncd Ll
wnniuwluwhG dGpnnny
¢ QSS Yndwnbunp
Gtpééynn onh
funGwywwwpnLbGwynepjnt
Uwlpwiwub
* Dl:uwr?ﬁqr?quwé t Gp hwayh sh weGynd
e QSS wypdwl fughyniy
a30TypOUHHbIE 1 4SS wypaw hwyyh s60 wnbynid nbwh
naporasoBble YCTaHOBKU [ughbh  otinduihl wlyw dhowdwhp wnbinh
3 hwyduwnlp 2n9 9 n wntin
TEnnoBbIX ANEKTPOCTaHUUN nLGtignn ptipdwjhb
(WanesC.B.) * Lawo [ wniwb Ynpniuwnlbpp
o ptipdwuwnhdwah
hwunwnnG e UlGnpwnwpéd syw AQSS
LhG(NL thwuwnp Yndwpbiunph a020wh
pwndpwglwl wunhdwOh
Gtpééynn onh
ptipdwuwnhdwlhg
Yuwhudwénipjwlp

ClUnhwOnp wrdwdp wyb dGpnnp, npp Vwyyt) £t hwonpn gqifup 2ppwlwybtpney,
hptibhg GGpYwywglnud £ Gywpwapwéd dtpnnbGph 0h wdpnnonip)nil, npnud uwluwyl
Ywuwnwpyb 66 2inynudbbp dGpugbbpne hwdwnp yGpbnud G2dwé ptpnepntbltpp:

Lwb hwpy t GG, np GSS Undwpbunp GGpédYynn onh obipdwuwnhdwlp
wqnbgnip)nth £ pnnlnud Yndwpbunpnid 8620wl pwpdpwgdwl wunhdwOh Ypw, npp
nhunwpywé sk neuntdbwuppdwé dtpnnlGbph L Jwd gpwywlnipjwlb 069, niunh wju

fulnppb GnylOwbiu npdbp £ (hwpdtp |pténid hwonpn gncfubbpnud: Uyn waqnbtignipinilp
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wybih wybwnent nupdGbine L neuntdGwuhpbine hwdwp, hwenpn qpfuntd uwunwnybp GG
hwyqwpybtp YyndwpGunpnid 8600wl pwpdpwgiwl wunmhdwbh wmwpptp wpdbplbph
nGwpnc:

3. qQu_aUSNrrPhLU3PL SENUYUSULLLEMP ELENMGEShYULUL 8NFBULNLGLENP
LUdUSNHA3NFLLENE GMRUYU UhRUYU3Mh MU3UULLENPS

3.1 @SS-h tabpgbnpywlwb gnigwbhGtiph hwdwpyh dpnnnnhyuyh dowyncd

QSS-h otpdwjhG hwqwpyp Ywuwnwpbine hwdwp dwydt] £ hwiwwwnwubuw
uGpnnhyw, nph wpryniGpnid hwdwnpyynid 66 GSS wpfuwwnwbpp pGnipwagpnn wjGwhuh
tGGpqbGunhywlwb gnigwbhGtn, npnGg dhongny hGwpwynp £ hwdh weGb] 2powlw
dhowdwjph wwydwbbGtph thnthnfunpintGGbpp 4SS-h wfuwnwbpwihb gnigwbhGGph
ypw hwodwpyuwihGatpp hwibdwwn: Ubpnnp hGwpwynpnipjnib £ vnwhu ybipnuétp GSS-h
w2fuwwnwlpwihlt nGdhdbbpp Ywhujwé GSS  wmbnwlwpowl Jujph GnwlwlywihG
wwjdwbbtphg: Uawydws dtpnnh hhdwh dpw hwadwpluihl wignphpdp hpwlwlwgyti
t VisualBasic 10.0 dhowywypnid [Rwybidwdé 1]: Wa hGwpwydnpnip)nild £ wvnwhu plGuinpbg
QSS-h  hpdbwlwb uwppwynpnudbbpp  pOGnipwgpnn gnigwbhpbGbpp L wypdwb
pipdwuwnhdwlpn wypdwb fugnid: Iwqwpybbph d2nnpynilp dGédwgltint Guwwwnwyny
ghyrh wfuwwnnn dwpdabh tGpwiwhwbbpp L tGunpnwhwbbpp Ywd npwbg hwjnbh |hGGnL
nbwpntd hwywnwnd $nLGyghbbph dhongny aGonudp L oipdwuwnhdwbp hwdwpyynid G
OKAWSP.dIl dnilGyghwltph gpwnwpwGh dhongny: Iwpdwpybtiph hphdpnid pGlywéd
Gy.3.1.-nud ptipdwé 4SS wwpqg ghyip:
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0
Toon '

LY. 3.1. Mwpq 4SS-h ufubidw

Rwdwpybbph wprynlp GG hwlOnhuwlOnd  4SS-h hGnlyw)  tGGpgGnhyulywh
gntgwlh20bpp’

e Undwpbunph GGpphG hanpnipnilp pipwé 1 4g/4f Juntihph dwiuuh,

e ququuwuntpphbh GpphG hgnpnipnilp pipdwé 1 4g/4 Juntihph 6wfuuh,

e JuwnbthpwjhG Yndwpbunph GGpphG hgnpnipynilp pbpdwé 1 4@/ Jwnbihph
dwfuuh,

e QSS-h GtphG oquwlwp hgnpnipnilp pbpwé 1 44/ Junbihph dwfiuuh, npp
hwyyh sh wnGnLd dGruwbhywywb Ynpniunbbpp,

e QSS-h 0Qq9-q,

e QSS-h hgnpnipynitlp pbpwé Yndwptunpnid 1 4q/f onh dwfuuh:

[w2dwnyh Gluytbwnwiht wwpwdabwpbpb 66°

e npuh onh gtipdwuwnhdwl’ t,, C,

e npuhonh alynLd’ Py dpd,

e npuh onh hwpwptipwywb funGwynip)ntl’ @no, %,

e Juwnbhph wyndwl unnphb pwGynpwlw obpdncg)nll @F, 4./,
e Jdwuwnigynn qunbihph aGntd™ Pyyn, U Tw,

e Jdwuwinigynn qwnbihph stipdwunhdwh’ tye., C,

e Juwnbihph wybigntywjhl aG2nid wyndwh fughg wnwe™ AP 6, UTw,

e Uniwptiunpnid §G20wb pwpdnpwgdwl wunhdwb® Ty,
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e wnLpphOhg wnwy dfuwquqtiph oGpdwunhdwl’ tgg,, C,
e Undwpbunph hgntGwpny 0Q9° 7, %,

e ququwunipphOh GepphG hwpwpbpwlywb 09" 142, %,

e Juwnbhpwjhb Yndwptunph hgntlGunpnwy 0849 14y, %,

e wynpiwb fugh 094" 1, %,

e 6020wl whyntd wyndwhb fugnid” dPy, %,
e 6020wl waynLd ququihl wninipphGnud® 8Py, %:

SYyjwibtph GGpdnéndhg hbwnn dGpnnhlywjh  hwyqwpybtph  hGppwlwbnipjnilp
hGunlyw)| 0 £
1. 2nowlw dhowdwjnh onh hwwnynipyntGGenph hwadwny
wjniwb wpqwuhplbbph ywpwdtnpbph npnand
Yndwptunph hwadwny
Juntihpwjhl Yndwntunph hwzdwny
wjndwl fughlh hwzqwny
hwyytyznh uinnignid
4S-h hwzywny
QSS-h tGtpgbnhywlwb gnigwbhGGph hwdwpy
[w2dwnybbph wpryntpnid hGupwynp £ Ywenigtp 9SS hpwlwb ghyp I-S L T-S
nhwapwdiltnph Ypw:

© N o 0o Bk~ WD

1. Cnpowlw dhowduwynh onh hwwnlnipinGGbnh hwpdwnly

Wyu hwpqwpyp Gywwnwy ntbh qunlbbp 4SS wfuwnwbpwihb ghyh wrwohl Yhunp
wwpwibwnpbpp:

1.1 Lwpu hwdwpyynd £ dplnnpunwihlG onnud qunbynn opwihbG qninp2hGGph
uwhdwlwjpb dGzndp™ By o, 7wz Gpp 2powlw dhowdwyph obipdwunhdwlp pwpén &
273,15 G-hg, www oph uwhdwbwjihb dG2ntdp hwdwuwp b wyn gtipdwuwnmhdwbh ntwpnid
hwagbigdwl 8G20wlp: LwlGh np  dGp weol npdwd  pulnph  2ppwlwybbpnud
ncuntibwuppyned GG dhwyb 273,15 4-hg wyb| oGpdwunhdwbGbp, ntunh §jncu nGwpp sh
pGGwpyyney:

1.2 3wdwnyyned £ onh qubgqwéwihb funbwdwwwnpnibwynepynilbp, §g¢/hq°
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M P
Gho= “:;2; P;j‘tr:;tm ’ G-
npntn  Mu2o-0 b Moy-p hwdwwwwnwufuwGwpwn 9ph L gnp onh dnywp qubquéhtinh
G0, @n0-0 onh hwpwptpwlwb funGwynipyntGhb £ (Mu20=18,0152 ¢/in;, Moy=28,159 q/uiny):
Onh qubqywéwjhl funGwywwwnniGwynepinilp, hGswbu Gpyt) £ wnwohl g funtd
Yhpwnynid £ funGwy hnwgdwl hwiwywpqgh Yhpwrdwdp 4ndwpbunp dwwnnigynn onh
hnjwgiwl hwdiwn wOhpwdtin oph pwlwynipyntGp hwqwpybine hwdwn, npl £ hp
htinphb ogunwaqnpéyncd £ hnjugdwb yndwbph hgnpnepywl hwdwpyh dty:
1.3 Swdwnyynid L funGuiynipjw qubgwéwjhb L anpwjhb
wwpnibwynipyntbbtipp onnud hwiwwwwnwufuwbwpwn, %-ny’

d"!l:-‘
1_m=1+.d_gc, (32)
— Mg
X d,, (3.3)

npwntin Myo-0 Yndwntiunp dwwnnigynn onh dnpywp qubqyuéh t:
1.4 Uu hwpdwpyh dJGpontd hwpdwpyyned b funGwy onh tOopwiwhwG L
thinpnwhw (R, ., S,.,), pun uadh: Spowlw dhowdwyph onh Ywadp pun Swywih

Ywqdywé k aby wdpnng dwu snp onhg L npwb wybjwgpwé X, % opwjhb gninnoh:

2. Undwl wnquwupplbinh wwnwdibunpbnh npnpnid

Wu hwdwpyh OGwwuwwyp 14qg Jwebhph wpdwl hwiwp wnbuwlwbnptl
wbhpwdtyn onh qwlqwéh L wjpdwl wpquuhplbph tGpwiwyhwih L EGunpnwhwjh
npn2nuil k:

2.1 bpwlwlwgyntd t Gnpdw] wwydwGGspnd 1 G Juebhph [phd wypdwG
hwiwp nbuwlubnptb wbhpwdtn snp onh pwlwynipjw hwydwnyp, £47°°

v, ,=——2X (3.4)

o~ Xﬂ:_c“'}'ExH:_c CHy
npuntin Xoz o—0 b X5z o-0 ppdwélh L opwélh pwdhbGhp GG snp onnud b hwwuwn G60°
Xﬂ:_a=20,99%, X2 570,01 %,
Xew,-n CHy-h pwdhG0 b Jwnbihpnid, npp hwadwpllbiph wwpgnepjwl hwdwn
panniGdnid b hwdwuwp dGYh (Xeg, =1)
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Uwlwjbt Jwntihph unnphl pwOynpwywb stipdnipynibp Jtipgynid t ng pbi dGpwlh
hwdwnp, wy nyjw) GSS-nLd wypynn qugh unnnphb pwGynpwlywb 9Gpdnip)nclp:

2.2 3wonpn pwyiny hwpdwpyyned £ 1 & Juebihph wyptiwG  hbnlwipny
wnwwgwo quqbiph pwlwynipjntGGGpp puin pwnwnphsGbph®
wqgnunh hwdwp’

Vo w2 w™Xnz_oVo_ws /P, (3.5)

npntin Xy, o-n wgnunh wwpnitbwynepyntbb £ snp onnid™ 78,03 %,

onwjhb gninpzhbtiph hwdwp®
Vo tizo0_w=Xn2 oVo wt2Xcy, F/ P (3.6)

npntin Xg2 s-p H.0-h wwpniGwynipyntGG £ gnp onnid™ 0,01 %,

wéfuwppnt qugh hwdwnp’

Vo coz.u=Xcon oVo wtXen,, /1P, (3.7)
npuntbin Xeg2 o-p CO2-h wwpniGwynepyntGh £ snp onnid™ 0,003 %,

wpanl quagh hwdwnp
Vﬂ_ﬂr_tt.':XAr_ﬂLro_ws Lf?/[f?, (38)

npuntin X4, --0 wpgnOh wwpniGwynpyntG £ snp onnud” 0,94 %:
2.3 3wdwnyynid £ 1 &g Jwnbihph wjpdwb hwiwp nbGuwwbnptl wbhpwdtwn
onh qubqyuwép’

Lo=V, w3 = 4, (3.9)

npinbn - M- L My,-0 onh L Juwnthph dngwp quwGqwébbpt &GO L
hwiwwwwnwufuwlwpwn hwjwuwp GG* 28,964 ¢/dny L 16,0426 g/uny:

2.4 3wdwnyynid £ wypdwl wpquuhpltiph gnudwpwihb EGpwiwhwh (kg ) 9S-
hg wnwy G2Jwd ptipdwunhdwbh nbGwpncd: Uypdwlb wpgwuhpbtph Ywgup

3. Undupbunph hwpduwnly

Undwptiunph hwdwpyh Gwwuwwlyp Yndwpbtiunpnd ppwywlb otipdwlydwb L
yndwpbtunph Gentd wfuwnnn dwpdbh Wwpwabwnpbph npnaned k:
3.1 Lwfu hwdwpyyncd £ yndwypbunphg wnwo onh tGwnpnwhwl, pun wnwehl

yGwnid npnpywé Ywaqoh®
91



Sy U2AGQT):
3.2 Onh @Uynuip Yyndwpbiunphg htwnn hwjwuwp £ Yndwypbiunphg wnwo onh
6020wl L Gpubned 8620wl pwpdpwgiwl wunhdwbh wpunwnpw o
Py, U (3.10)
3.3 3wpdwpyynid £ onh obpdwunpdwlp L tGpwiwhwG hgntlGunpnw ubindnidhg
hbmn‘tgﬁ, T, hf:"m, y2/a:
3.4 NuGGOwny Yndwpbunphg wnwo L htwnn onh thpwwhwbtpp hwyqwnyyned &
yndwptiunpned hgntbwnpnw ubinddwb nGwpnid ptpdwbynidp’
Ahl=hl, — hp, U2/q. (3.11)

3.5 Undwpbunpnid hpwlwb ubinddwb 9bpdwbynip  hwydwuwnp £ hgntGupny
utinddwl 9tpdwbGyiwh L Yndwptiunph hgntGunnpnwy OQ4-h hwpwptpnipjwlp’

AR?
AR, YAy (3.12)

3.6 UtindJwdé onh hpwywb topwiwhwb hwjwuwp £ Yndwypbunph dnwinpnid onh
thpwiwhwyh YndwpGunpnid hpwywb tipdwaydwb gnidwnhl

hy=hp+Ahy, /g : (3.13)

3.7 Oquwqgnnpébind wnpdwé thpwiwyhwih L EGunpnwyhwih nbwpnid OKAWSP.dII

dnilyghwltiph  gpwnwpwlh  hwhwnwpd  $nlyghwlbpp  hwpdwpyyntd Lt onh
pbindwuwnhdwlp L tGwnpnwhw hpwywh ubintnidhg htwnn® t,, T 5., R/4qC):

4. dwnbhpuyhl Yndwynbunph hwpdwnl

dwnthpwjhG Yndwpbunph hwqwpyh Gywwnwyp npwined Juebihph hpwlwb
otipdwGyiwh L Gpnid Jwebihph ywpwdbunpnph npnznodG B Uyu hwgwnpyp Gdwb £ onh

Undwntunph hwadwnyha:

4.1 Lwpu hwydwpyynd £t Jurbihph topwiwyhwl L EGupnuhwb Yndwptunphg
wnw9 puwn dwwnnigynn Jwntiihph 6020wb L obipdwunhdwbh (Pywe, tyws)

Ry UG, S gy » 1RALQT):
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Utpwbh  tOpwiwhwih L EOGunpnwhwih  9bipdwunhdwbhg
Ywiudwénipjwl hwywplyiwl pwlwélbph GiuwybGunwihb ndyw Gepb 66°
Sw2dwnybbph pwquyhl 8G2nd L 9Gpdwunhdwl’

Po_cra=101325 7w,
To cHa=10004,
MCH4=ML{um=1 6,0426 C}/ljﬂ[

Stuwywpwp qugquwjiht hwunwunniap hwwuwp Y hbh

Ren=—2=518,277 2/(qL):

MCH4

b

alpnLihg

(3.14)
(3.15)

(3.16)

(3.17)

Pwqujhb pbpdwuwmhdwbh nbwpntd nbuwlwpwn EGnpnwhw L EGpwwhw

hwiwwwwnwupuwbwpwp hwjwuwp GO
SO_CH4=1 7.9779* RCH4=931 7,531 Q/ﬂ/q l-/),
Ho cha=3,9823* Rena* To cHa=206,393%10° 2/lql):

Swywuwnpnuibbph gnpéwyhgbbpl GO

0
—209,233731
206,925203
Bcnsa=| —135,704831
56,43685924
—13,4496111
1,39664152

/ 146,696186 = 10° \
—65,6744186+ 10°
20,2698132 = 10"
—4,20931845+ 10°
0,606743008 = 10°
acHsa=| —0,612623969 = 1071
0,430969226 = 1072
—0,206597572 = 1073
0642615810 = 10™°
—0,116805630 = 10‘7
\ 0,94095893= 10~7

[w2qwpyuwjhb pwlwélbnl 60
inGuwlwnpwn hgnpwn oGpdntGwynipjwl hwdwn’
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Cp_o_cHa_t(T)=Res™ Rcpa,

npwntin’
510 . i & (LY
Res=XiZo(acus; * TR )+Xi=1(beua_i-1 * (E) ),
npwntin’
TR=——,
TD_I:'Hd-

nbuwywpwn tGpwiwhwih hwdwp’

ho_cha (T)=/"

i
To CHa Pocra,

(t)dt + ho_cha,
mbuwywpwp tGunpnwhwih hwdwp’

G (th
T PocKa; "
So_CH4_t(T)=_Ier w “—dt + So_cra,

So_cha (P, T)= So_cha «(T)- Rna*In(

Rwywnwnd $nibyghwbbpl GO

Qbpdwunhdwn, npwbu $nilGyghw nbuwlwpwp tGpwwyhwjhg

B t « 298,15 b4
1:CH4_h0(ho)_ Tﬂﬂt(hﬂﬁ'ﬁ‘q [:tj — hﬂ, t:]

Qtpdwunhdwbp, npwbu $nLblyghw nbuwywpwp EGinpnwyhwjhg’

t < 298,15 b

tCH4_SO(SO)=lrgﬂt(5DCH4t (t) — 50,t)

B t « 298,15 4
tcHa_no(h0)= T‘ﬂﬂt(SDcH4“r (p,t) — 50,t)

Fy CHa

(3.22)

(3.23)

(3.24)

(3.25)

(3.26)

(3.27)

(3.28)

(3.29)

(3.30)

Ujuintin oquwgnpéywé root pnilyghwl ogquwgnponid £ thwlwagsh ybplnid

Gpywé wndtipp, npwbtu Ynwhnid wnwohl dnintiglwdp, L hwwnnn q6tiph dtpnnh, Ywad

Ujni Gpp dGpnnnd gqubnd £ hpwlwb npnGynn wpdtpp: Uu pninp $ncbyghwbbpp

ogwnnwgnpéynd GO Owb MathCad dwpbdwwnmhywywb Spwaph

wfuwwnwbpw)hb top pGpdwé £ hwybdwd 2-nud [86,871]:

nph

4.2 dwnbihpwhl Yyndwpbiunphg htwnn Jwnbtihph @Gndp L stipdwunhdwbp

hwiwwwwnwupuwbwpwp hwjwuwp GO
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PJ ys=Pyn+ APy, UTw, (3.31)
tyyns C

Qbpdwunhdwlp hw2dwpyynd £ Gwhunpn YGwnnd pbpdwé pnilbyghwbtph
dhongny:

4.3 3wonpn pwjntd hwdwnpyynid £ JurebihpwihlG  Yndwpbunpnid hgntlGupny
utindntihg htiin Juntihph tGpwiwhw® ki, ,422a:

4.4 Jdwntiihpwjhb 4ndwptiunpnd hgnklGuinpnw ubinddwb pbpdwbyndp hwwuwp
yndwpbiunpnhg htwunn Jwebtihph topwiwhwih L Yndwypbunp dwuwinigynn Juwnbihph
Owhubwywh tGpwiwhwih mwpptpnipjwlp’

ARGy =hy, — Ry, 4249 (3.32)
4.5 Jdwnbhpwiht Yyndwypbunpnd ppwlwb ubinddwb obGpdwbyndp hwywuwn

hantGunpnw ubnidwO pbpdwOydwl L JwrbihpwihlG yndwpbunph hgntbGunpny OQQ-h
hwpwptipnipjwbp’

282,
Ahy= 2 e (3.33)

4.6 dwnbhph tbpwiwhwl hpwlwb utindnwdhg hGwnn Y hop
hyy=h g+ Ah gy, §/q: (3.34)

4.7 Jdbpunid Gywpwapywé hwywnwpd $nbyghwbtph dhongny hwdwnpyyned k
uwnthph otipdwuwmhdwlp hpwlwhb ubindnwdhg htwnn® ¢ 4, C:

5. Ypdwl fugh huwzuwpny

Updwh fugh hwzqwpyp Guwwwy ntbh npnzbp onh wdbigniyp gnpswlhgp L
ququwunipphhg wnwe wfuwwmnn dwpdbh topwiwhwb: QGuqwunnipphlnid w2fuwwnnn
Qwpuihbp hptibhg GGpyuwywglned £ dwnniegynn onh L wypdwl wpqwuhpUtiph fuwnbnipn:

QuquwuwunipphlG dnlGint wywhhtG  wfuwwnnn  dwpdbh  9Gpdwuwnhdwln
hwOnhuwGnud £ Cwpuwwbtu tnpdnn ywpwibnn® tgs,, C

5.1 3wdwpyynid £ taz,, sipdwuinhdwbh nbwpnid onh topwwhwl

hoo asw, 42/4q.
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5.2 14yq Jwnrbhph hwdny onh wybtigntywihb dwfuuh hwwnpydwb hwdwp pninp
Gwfhunpn YGwnbpnud hwdwpywéd nbuwywpwn tbpwiwyhwbbpp pbpynd G0 Jwnbhph
unnphl pwbOynpwlwb stpdwunhdwbh npn2dwb 9Gpdwunhdwbha, wyb £ 0 ‘C-h: Hwlp
G0

hye, 4/g,
o
R ww » 42/,
%
R 4o,

B 43/q:

o 5w

14g-h hwzyny onp wybignihujhb Swfuup YLhGh®

an—liin—ﬂhﬂgﬁhi%wjmm.

gﬂﬂ_qu — "‘ = 7 . (335)

5.3 Onh wydbigniyh qgnpéwyhgp hwyjwuwn bt wybgny L wnbGuwlwbnpth
wlhpwdtin onh pwlwybbph gnudwph L nGuwywbnptt ywhwGoynn onh pwlwyh
hwpwpbpnipjwlp

@ =B (3.36)

o

Ujpdwh fughg htinnn dfuwquqtip nLGGOnud GG hGunlyw) Yuqdp®
o wy - nnup funGwy on,
(L,+1) — wypdwb wpgwuhplbp:

5.4 3wpdwpyynid £ 4S-hg wnwe wofuwinnn dwpibh tGpwiwhwh™ hgsy,, §24q:

6. Twpblpnh unnnignid

Swpdwpyh  wyu YGwnnd  Ywwwnpdnd Eohwpdbyzeh uninegned: 3widtyzeh
unnignuip Jwuwwnpdnid £ wypdwb fugh hwdowp, hwyyh weGGind npuw OQ94-G, npp
hwlnhuwlnud £ GuuytGunwiht ndju: Unnigdwb hwdwnp hwplwydnp £ dfuwquqgbiph
tbpwiwyphwb Lu ptptp Jwneblhph unnphb pwOdnpuywb obGpdwunhdwbh  npn2dwl
ptpdwunhdwbhb, wyb £ 0°C-h:
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Rwdbyzrh unnigiw b pwlwdlp nbh hbnbyw] nbupp’

) B n® sofym ¢ %

(Fop wytLla) h;:.'.-’.' + h;;’.-:.'.-’.' QLI (Fog uy T TG, . (3 37)
, A ' '
(Fog_uytLotllhye,

Wu pwlwélny hwaqwpyh wprynilpp whwp £ hwjwuwn (hGh 0-h:

7. AS8-h hwpduwnly

Wu hwydwpyp OGwwwwly ntbh 4S-nd wuwwpdnn ghyp Ywenegbp i-S L t-S
nhwapwuilbph Jpw, hGsh hwdiwp dbg wOhpwdbin £t npnpbp 9S-hg wnwy L hbwn
wfuwwnnn dwnibh pGpdwphdhwlwl ywpwdbwnnptnn:

7.1 3wqwpyyned £ 4S-hg wnwe wfuwnnn dwpdbh dGyndp’

Pasu=Pyi(1-6P ), UM, (3.38)

npuntin 8P -0 6020wl whyndl £ wypdwl fugney:

7.2 Cuwn ybpnGpjwp 6020wl L pbpdwunmphdwOh hwydwnpyynd £ wypdwa
wpqwuhplbph tonpnwhwG * S sy, 42146 C).
7.3 GS-hg htinnn dfuwquagbtiph abynudp Y hap

Pgsp=Fyo(1+0Pgz) , UMw, (3.39)

npwntin &P g5-0 8020wl waynidlb £ ququwyhb innipphlnid:

7.4 UGhpwdtwn £t hwpdwpyt] hgntGunpny pGnwpdwlydwb hGnbwbpny 4S-hg
htiunn wjpdwb wpqwuhpbtiph stipdwuwnhdwbp L EGpwwyhwl hwiwwwwnwufuwlbwpwp®

tass C
hasn Y2/4q:
7.5 hgntbwnpnw otpdwbynidp 4S-nud Y hap
has=hasu-hass, 424q: (3.40)

7.6 bpwywb plnwpdwydwb nbwpnid 9tpdwbyntdp guqwwnnipphGnid hwywuwp
t hgntGupnw plnwpdwlyowb obpdwlydwl L 4S-h GGpphG hwpwpbpwywb OQQ-h
wpwnwnpjwho

Ahgg=ﬂh%3ﬂg3, [/,9/[/(2.' (341)
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7.7 bpwlwb pOnwpdwyniihg hGnn wypdwl  wpquuphplbiph  tGpwiwyhw
hwiwwwwnwufuwbwpwn Y hap’

hasp=hgsy-Ahgs, §2/q: (3.42)
7.8 dbGponud  hwpdwpyynid £ ppwlwb plnwpdwynidhg  hGnn wypdwh
wpquuhplbph otpdwunhdwab nu EGupnwhwG © tags, €, Sags, 4244 C):
Swdwnybtph wpnynibpnid hGwpwynp £ ueneglp 4SS wfuwnwbpw)hG
ghytp i-s L t-s nhwapwdalbph Ypw’

i 20007
R
.--""H’F f
1500 — :
e
o
-rff
_.-r'f-r
10001 —
.’___,__.--" x
T -
T ____,.—-""_
_,a-"f“ e
h _,_,_:——'_"'H_”--
S001— —T
h ____,_.-'—'—"'_'_._F_'__F'_M
=
} } I + } } I
6.8 7 7.2 74 76 78 8 82 =

ULY.3.2. @SS ghyp i-S nhwagpwih Yypw
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T 15007
4
.--""--‘ '
1000 =
T
_‘_.-F"
- '."JP‘-
.a-"'f'.
..‘..‘JF‘-.‘}
T X
500+ e -
o -
@ |- al
.II __F..;—'_'-F‘-_'-'_F._-_‘-'-
N _#__,d-ﬂ-'f
g ! | | ! !
6.8 7 1.2 74 7.6 7.8 8 8.2 s

ULY.3.3. 4SS ghyip T-S nhwgpwih Yypw

8. @8S-h tubpqbunplwlwl gnigwlhyGbnh hwpdwnly

Wu hwodwpyh Gywwnwlyp 4SS-h OQ4Q-h, Yndwpbunph, tintpphbh LW Jwnbhpwjhb
yndwntiunph GGpphGt hgnpnepyntGGGph npn2nudl £ Gpw wiprynibpnid hGwpwdnp £ hGnud
npnyti| 4SS-h GGpphG ogunwywn hgnpnipynilp:

8.1 14q Jwnbihph hwayny Yndwptiunph GEpphG hanpnipynilp YLhGh

N; =Ah(Gon wy + Lo) , Udtn/(lg/y): (3.43)

8.2 QS-h GLipphlG hgnpnipynilp 14q Jwnbihph hwyny hwywuwp £

N; g5=Ahgs(Gon wy + Lo+ 1), Udin/(lg/yf)- (3.44)

8.3 dwnbhpwjhl yndwptunph GGpphG hgnpnipnitbp 14g Jwnrbhph hwyny’

N, y=ARy = 1, Udin/la/]) (3.45)

8.4 UbfuwlGhywlwb Ynpniunltpp hwpyp swnwé GGpphlt oguwlwp hgnpnepynilp
14g Jwnbhph hwdn hwwuwn £ 4S-h GGpphG oguwlywp hgnpnipjntbhg hwOwé
Jwnrbphpwjhl Yyndwntunph L onh Yndwpbunph GGppha hgnpnupynibGtipp

J"|'-|: Ln'_.'.u

Ni=N; g5 — N; ==, Uduin/((1g/), (3.46)

0.96°
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npwntin, 0,96-p hwyyh t wnbnd wjb thwuwp, np Jwrbhpwiht Yndwpbunph
2wndwpbpp, h wmwpptpnepjntt 4SS-h Yndwpbunph sh hwlnhuwGnid ququunipphlp:
dwiwlwlwyhg qwqwuinipphlwiht  wnbGnwywjwbpbtpnid  npwbu  Jwrb hpwjhG
Yndwnbunp oquwgnpéynd GG EGYwnpwlwb wpdwptpGtpnd hgnp Yndwpbunpwjhl
nbnwywjwbpltp: Ntunh dingwé 0,96 qnpéwyhgp hwyyp £ wrlnid @SS qLGGpwwnnph
L JurbhpwjhlG Yndwptunph 2wupdhsh YnpniunlGbpp:

8.5 @SS-h 0949-0 hwywuwn £ GEpphb oqunwlwn hgnpnepjwl L ywnbihph unnphG
pwbOynpwlwb obpdnpjwlb hwpwptpnipjwbp’

Nasy=p % (3.47)

i

8.6 @SS-h hgnpnip)ntlp Yndwptunpnid 14q onh hwyny hwdwnpyyned £ hGunlyw
pwlwdlny’

Ny o=, Udun(ig/): (3.48)

Lywpwapqws dtpnnny hwadwnlltip Ywwwpnn dpwaph hOnbpdtjup L prny-
uubtiwG nLGhEG GY.3.4. L G4.3.5. ywwnlbpdwd nbupkpp®

ULY.3.4 GSS-h tatpgbinpywlywb gnigwlhGtph hwdwnyowb spwagph hGunbpdtju
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OKAWSP.dIl $nLGyghwGtiph

Glwytwnwiha nyubGtph Gepdncdnd
Lwytinwyhb ngywbliph Gop anunwnwth

1. Gpowlw dhowdwynh onh
hwwnynipyncGbtiph hwzdwny

2. Uypdwh wpgqwuhplbbiph
wwpwdbwnpbph npnznid

l

3. Undwpbunph hwadwpy |<

7\

4. dwnbhpwjhb Yndwynbunph hwqwny

5. Undwa fugh hwzguny |<

7\

6. @S-h hwyqwpy

7. 9SS-h tGGpgbinhjuywhb
gnLgwlih20tph hwaquny

Glwybwnwihl nywbGbph wpunwéncd

ULY.3.5 GSS-h thbpgbinphywlywb gnigwbhyGtph hwdwnpydwb 6pwqnph prny-ufubdw
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Nhunwpytip unnpl ppJwéd  Giuybunwht wwpwdbnpbp nllbgnn  GSS

otindw)hb hwadwnyh wpnynclpbtipp’

e Juwnbiihph wyndwl unnphG pwGynpwlwb sbpdncg)nil @4 =50046 42/q,

e dwuwinigynn Junbihph abond’ Pyu»=0,6 UTw,

e Jdwuwinigynn Jwnbihph stipdwunhdwhb’ ty,,=15 C,

e Juwnbithph wybigntywjhl aG2ncdp wypdwh fughg wnwe™ AP, = 0,50 w,

e Undwpbiunpnid 8620wl pwpdpwgiwl wunhdwb’® T, =18,

e wnipphOhg wnwy dfuwqugbtinh 9Gpdwunhdwb’'tgg,,=1200 °C,

e Undwpbunph hgntGupnw OQ49, 1,=86 %,

e quwquwunipphOh GGpphb hwpwptpwywb 044" 1,:=88%,

e Juwnbthpwjhb Yyndwptunph hgntlGwnpnw 0494, 1,,=80%,

e wjnpiwh fugh 0949, 7,,=99,5%,

e 6020wl whyniip wypdwh fugney, dPy;=5%,
e 6020wl wGyniip ququihl tnintpphGned, 8P qw=5%:

Undwpbunp dwwnnigynn onh ISO wwpwdbwnpbph nbwpnd™ 1 dpl. 8GpnLy, 15°C
ppdwunhdwlt L 60% hwpwpbpwywb  funGwynipynil, nhwwpyynn 4SS-h
tGGpgtnhyuwlwb gnigwlhGGph hwdwpyh wpnyniGpbbpb GO°

e Undwpbunph GEpphG hgnpnepynilp pipdwé 149/ Jwnbihph 6wiuup’
N; 4= 21,965 Udwn/(lig/y)),

e quwquwunipphbh Gepphl hgnpnepynilp pEpdwé 1494/ Juntihph dwiuup’

N; 5= 40,291 Udin/lyg/t),

e JuwnblhpwjhG Yndwptunph GGpphlG  hgnpnepynilp  pipdws 1494/ Ywnbihph
dwfuup’
N; 4=0,295 Udun/(ljg/if),
e QSS-h GLphG oquwlwp hgnpnipjnilp pbpwé 1494/ Jwnbihph 6wfuuh, npp
hwyyh sh wnOnid dGfuwbhyuwlwb Yynpniunbbipp

N.=18,018 Udw/(ljg/i}),
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¢ QSS-h 099G
Th;g.g,.=36,003 %,

e Q8S-h hgnpnipynilp ptipdwé Yndwptiunpnid 14/ onh 6wtuup®
N, 0,=0,353 Udur/(q/il)

3.2 QSS-h Latpgbnhywlwb gnigwhGbph Yuhujwénipynilp Yndwptunp GGpdéynn onh
hwpwpGpwywb funGuynipynLihg

Q4SS tOGpqbunphywywb gnigwbhGGph Jpw Yndwypbunp GGpddynn dplninpunwjhb
onh hwpwpbpwywl funGwynipjwlb wgnbignipjwl qlwhwwnndp hwnlywbywlywb
dwuwnigynn onh hnwgdwb opwjhl d2nwwwnidwl hwdwlwpgbph Yhpwebihnipjwb
nbGuwbyynibhg, pwbh np wyn nGwpntd 4SS Yndwpbtunph dnwinpnid onh hwpwptpwywhb
funGwynipjnilp  hwulnd £t 100%-h:  Jwulwlwint hwdwp wyn  waqnbgnip)niln
nhinwnpytlp 3.1-ntd GYwpwopywé wwpwdbwnpbpny 4SS-h EOGEpgbnpywlyw
gnigwbh20Gpp, Gpp npuh onh hwpwpbpwlwb funGwynepynilp thnthnfudnid £ 0-hg 100%
uwhdwObOGpned, huy 9Gpdwunhdwbp hwwuwp £ 15 °C-h, L npw YndwypGunpned 860wl
pwndpwgdwl wunhdwbp thnthnfugnd £ 13...18 dhowlwypnid, huy dbwgwd pninp
Glwytunwihlt ywpwdbwunptpp dGnud G0 hwunwnnea: Un hwdwpybatph wpnynibpGbpp
grwdhyuywb Aaund OGpYwywgywd GG uwnnpl, huy hwpdwpybtph wpnynibplbpp
wuithnthnn wnyniuwybbpp pGpdwé G0 hwybwé 3-nid:

103



, U/ (/)
._8
¥ | ¢
¢
¢
¢
¢
¢
¢
®

40.000
¥ 39.000 ' : ' ' .
d..I
=
38.000 = Y m=ri=13
—f—r11=14
37-000t—i—i—t—t—t—i—ﬁ—ﬁ—i—i
e 11=15
36.000 n=16
T S S S — —
e [ =1 7
35.000 —0—11=18
———————————————————
34.000
33.000 . . ' ' '
0 20 40 60 80 100 ®%

ULY.3.6 GS 149// Jwnbthph dwiuuh ptpdwé GapphG hgnpnipjwb Ywhudwénipynilp
Yndwptunp dwwnigynn onh hwpwpbpwlywb funGwynipjnibhg Yndwpbunpnid 8020w
pwndpwgdwl tnwpptin wunhdwbObGtph nGwpncd

hGswbu Gplnud £ GY.3.6-hg, @SS Undwpbunp dwwnnigynn onh hwpwpbpwywb
funGwynipjwb wdp 4SS 149/ Jwntiihph Sdwiuuh ptipdwé GtpphG hanpnipjwl (V; gz)
ypw nibGOnd £ thnpp wgnbgnipynit: Uyuwbu ophGwly  Yyndwpbunpnd  aG0wb
pwnépwgiwl wunhdwbh 13 wpdtiph nbwpnwd GGpééynn onh  hwpwpbpwlwb
funGwynipjwb 0-hg 100% thnthnfunipynibp hwbqbiglnud b N, ge-h 0,138 Udwn/(lg/tf)
thnthnfunipjwG: buly Gpp YndwpGunpnid 8620wl pwpdpwgiwl wunhdwbp hwjwuwp £
18-h wyn thnthnfunip)nilp hwulnud £ 0,18-h: UjupGpl, Yndwpbunp GGpééynn onh
funGwynipjwb wagntignipynilp Q4SS 14g/4/ Jwnbihph dwiuuh ptipdwdé GEpphG hgnpnipjw
Jpw wylpwl wybih 066 L, nppwl OGS £ Yndwpbunpnd GG0wl pwpdpwgiwl
wuwnhdwln:
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23.000

22.000 §——0—=0 *r—0—0—0—0—o0—9o—»

Ni_t, Udw/(Yq/4)

21.000 F ‘ s ' - . B : —

——11=13

20.000

—l—=14

TN e e . S —— e Y

——n=16
18.000.__.__.__.__.__.__. ——a—=a ey
—o—n=18
r—————————————————
17.000
16.000 : . : : .
0 20 40 60 80 100 ®%

LY.3.7. 149// Juntihph dwfuuh ptpdwé AGSS Yndwpbiunph GGpphG hgnpnipjwl
ywhujwénipnitlp  4ndwpbunp  dwuwnnigynn  onh  hwpwptpwlwb funGwynip)nilhg
yndwypbunpned 8620wl pwpdpwgdwl nnwpptip wunhdwbGtph nGwpnid

LY.3.7.-hg Gpunwd t, np 1494/ Junbtihph dwiuuh pGpqwé Yndwptunph GGpphG
hgnpnipynilp (N 4) dwuwinigynn onh  hwpwpbpwywb  funGwynipjwb  0-hg 100%
thnthnfudwl L Yndwptunpnid 8620wl pwpdpwgiwl wunhdwbh 13 wpdtph nbwpnld
thnthnfuynd t 0,109 Udw/yq/yf)-ny: buly tpp YndwpbGunpnid GG0wl pwpdpwgdw
wuwnhdwlp hwjwuwnp £ 18-h wyn thnthnfunipjnibp hwulnud £ 0,157  Udw/(lg/if)-h:
Wuhlpl, Yndwptunp Gepééynn onh hwpwpbpwlywl funbwynipjwl wdp N; ,-h Ypw

GnyOwbu ntGh wyGpwl wybih 066 waqnbgnip)nil, nppwb dG6 E Yndwpbunpnid aG0wb
pwpdpwgdiwl wunhdwlp:
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Ni, Udwn/(hq/1)
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T —11=13
17.600

——ri=14
x -k - - = -k = - —k = - =d—=T1=15

17.400
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17.200 ——1 -—s—8—8—8—8—8—35—3 fe=r1=17
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17.000
e
16.800 . . . . !
0 20 40 60 80 100 ©.%

ULY.3.8.9SS-h 1494/ Jwnbihph 6wfuuhpbpqwé GGpphG ogquwlwp hgnpnipjwl
Jwfuywénipnitlp, Yndwpbunp  dwwnnigynn  onh  hwpwpbpwywb  funGwynipynibhg
yndwyptunpned 8620wl pwpdpwgdwl nnwpptip wunhdwbGtph nGwpnid

ULY.3.8-p gniyg £ wvwhu, np @SS-h GGpphG hgnpnipynilp pGpdwé g/ Jwnbihph
Swfuuh (N;) Yndwpbunp dwuwnigynn onh stipdwuwnhdwbh pwpdpwgdwlp gnigplpwg
dGéwOnd £, pGn npnid, Gpp Yndwptunpned 8620wl pwpdpwgiwl wunhdwbpn hwywuwn
t 13-h wyn thnthnfunipynibp GGpé6éYnn onh hwpwpbpwywb funGwynipjwb 0...100%
wabint nbwpntd nloh 0,029  Udw/lg//) wnpdtip, huly Undwpbunpnid 6620w
pwpdpwgiwl wuwnmhdwbh 18 wpdbtph nbwpnud' 0,024 Udw/(lq/f). Ujuhlpl, nppwl
wybh 066 £t Ynwpbunpnid 6020wl pwpdpwgiwl wunhdwlp, wjlpwb wybih thnpp
GGp66ynn onh funGwynipjwlb pwpdpwgiwl pwgwuwlwh wagnbignipjnibp 4SS-h GGpphG
hanpnipjwb ypw: Uw wywjpdwlwynpdwé £ wjb thwuwnny, np sGwjwd np Yndwpbunpned
6020wl pwpdpwgdiwl npbt nyjw; wpdbph nbwpnid GEpééynn onh hwpwpbpwywh
funGwynipjwl pwpépwgiwl nbwpnid GJwgnid £ 1 4g/4/ Junbihph dwiuuh pbpdwé L
QSS GtpphG hgnpnipynilp L YyndwpGunph GGpphG hgnpnipynilp, uwlw)b Yndwpbunph
6020wl pwpdpwgiwl  wunhdwOh dGéwgliwlp qniqplGpwg  dwwnnigynn  onh
hwpwptpwywb  funGwynipjwlb  OGSwgdwl hGn  Yuwwydwd Yndwypbunph GGpphG
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hanpnipjwl wGyntdp wybih wpwq £ dGéwhnd pwl 1 4g// Junbihph dwfuuh pGpdwé
QSS GGpphl hgnpnipjwb wGynidp:

g 0.360
% 0.359
g 0.358
5 0357
d"l ——11=13
S 0356 -
= —B-1=14
0.355 —h—11=15
0.354 ~—n=16
L =17
0.353
—o—n=18
0.352
0351| T T T T 1
0 20 40 60 80 100 0%

LY.3.9 4QSS-h  yndwpbunpnud 1494/ onh Swfuuh pGpdwé AQSS  hgnpnipjwl

Ywpudwénipntlp  Yndwpbiunp  dwwnigynn  onh  hwpwpbpwlywb  funGwynipjnilhg
Yndwpbunpned 8G20whb pwpdpwgdwl tnwpptp wunhdwbGtph nGwpntd

ULY.3.9-nd ptipdwé £ GSS-h Yyndwypbunpnd 1 4g/4f onh dwfuuh pbpjwé 4SS-h
hanpnipjwl (N ;) thnthnfunipyniGp GEipédynn onh hwpwpbpwlwb funGwynipynibhg
ywhuwé L Yyndwypbunpnd 860wl pwpdpwgdwl wnwppbp wunmhdwbOObph nbwpnd:
Undwpbunpnud - 6020wl pwpdpwgdwl  gwllwgwd  wunmhdwbh nbwpntd  N; .n
dwuwnigynn onh  hwpwptpwywb funGwynipjwlb  pwpdpwgiwl hGuin  qnigplpwg
aGéwlnud £ Uwwnnigynn onh hwpwptpwywl funGwynipjwb 0...100 % pwpdpwgiwl
htun wwydwlbwynpywé N; ,.-h dEdwgdwb wpdtipp Yndwptunpnid 8620w pwpdpwgdwl
wuwinhdwbhg gptpt Ywpujwsé sk, L npw 13...18 wpdtipltph nGwpntd plGnnilned £
0,0035...0,0038 wpdtipltin:
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ULY.3.10. GSS-h OQ4-h Ywhuwénipyntlp Yndwptunp dwuwnnigynn onh hwpwpbpwywd
funGwynipyntGhg  Yndwpbunpnid 800wl pwpdpwgdwl  wnwpptp  wuwnhdwOGbph
nGwpntd

QSS-h 0Q4-h Yndwpbtunp dwuwnigynn onh hwpwpbpwlwb funGwynipjnilhg
Ywhujwénipyntlp yndwptinpned 8620wl pwpdpwgiwl tnwppbp wunhdwbGGtph nbwpncd
wwuwybpgwds k£ GY.3.10-ntd pipwsé qpwdbhynid: PGswbu nbulnud GOp, 4SS-h O4Q4Q-G
yndwyptunp dwwnnigynn onh hwpwptpwywb funbwynipjwb dGdwgdwh hGwn GJuqgned t,
pln npnud YndwpbGunpnid 8620wl pwpdpwgiwl wunmhdwOh 13 wpdbph nbwpnud
hwpwptpwywb funGwynipjwb 0...100% pwnpdpwgniip hwlgbiglnid £ OQ4-h 0,059%
wbydwa, huy 8620wl pwpdpwgiwl wunhdwbh 18 wndtiph ntwpnid™ 0,048%: UjuhGp,
hGspwl wybih 066 £ Yndwpbunpnid &G20wh pwpdpwgiwl wunhdwOp wjGpwb wybh
thnpp £ GSS-h OQG-h Yypw dwwnnigynn onh funlwynipjwl pwpdpwgliwl pwgwuwlw
waqnbgnip)nclp:
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ULY.3.11.98S-hg htinwgnn 6fuwquwgbtiph stipdwuwnhdwbh Ywfujwdénipintlp Yndwpbiunp
dwuwnncgynn onh hwpwpbpwywb funGwynipjntbhg Yndwyptunpned 6620wl pwpdpwgdw
tnwppbip wunhdwOObph nbGwpnld

QSS-hg hbtnwgnn &Sfuwquwgbtiph stipdwuwmhdwbGh Ypw Yndwpbunpnid aG0whb
pwnépwgdwl wwpptp  wunhdwGGbGph nbwpnid  GGpéédnn  onh  hwpwptpwlwb
funGwynipjwl wagnbgnipjnilp ywwnytipnn gpwdhyp ptipdwé t GY.3.11-nLd: CGnhwlnep
wndwdp GSS Yndwpbunp dwuwnnigynn onh hwpwptpwlwb funGwynipjwb pwpdpwgnidn
hwlqbglnud t 4SS-hg hbnwgnn 6fuwquaqbph obpdwuwnhdwbh pwpépwgiwb: Ujn
pwndpwgdwl wpdtipp Yndwpbunpnid 8620wl pwpdpwgliwl wunhdwOh 13 wpdbph
nbwpntd hwjwuwn t 1,847 °C 0...100% hwpwpbpwlwb funGwynipjwl pupdpugiwd
nbwpencd, huly Yndwpbunpnid 8620wl pwpdpwgiwl 18 wpdbiph nbwpniy™ 1,937 °C
Wuhlpl, GSS-h Yndwpbunp GGpédynn onh hwpwpbpwywl funGwynipjwlb dGdwgnLip
QSS-hg hbtnwgnn 6fuwquwgbtiph otpdwuwmhdwGh JYpw nibh wylpwl wybih OGS
wagntgnipjntl, nppwl wybih 066 bt A4SS-h Yndwpbunpnid 860wl pwpdpwgiwl
wuwnhd@wn:

Swpyh wnlbind dGpp GUupwgpwép wnbih £ wub, np @SS-h Yndwnbunp
Gtpésynn onh hwpwpbpwywb funGwynipjwl pwpdpwgniip 4SS tGLpgbunpywywl L
wpryntbwybnnipjwlt  gnigwlbhGtph Jpw  niOGOnd | pwgwuwlwl, pwyg thnpp
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wqnbtignipjnth, nwunh  Ywpbih £ wub, np @SS-h wpfuwwnwbpwiht nbdhdalbph
(wywpydwb hwdwp yndwypbunp Jdwwnnigynn onh hnqugiwl pwpép 8G2nLdwjhG
hnjwgiwl hwiwywpqh Yphpwrenipjnilp, npp hwbqbglnid £ yndwpbunp dwwnnigynn onh
hwpwpbpwywb funGwynipjwb wsh dhGslk 100 %, |hnyhb Guywwnwywhwnpdwp t:

3.3 4SS-h LaGpqtnhyulwb gnigwhGtph Ywhujwoénipynilp dplGninpuwghl onh
ptipdwuwnhtwlhg

Gpp 4SS-h  Yndwypbunp Jdwuwnigynn onh  obpdwuwnhdwlp  thnthnfuynid
hwydwpywipht  wpdtiphg, tnfugnid GG Gwlb  4SS-h tGGpgGnplwywld L
wpnyntOwyGuinnepjwb gnigwbh0bpp: §3.1-nld GUwpwgpywé wwpwibptpn 4SS-h
otindw)hb hwzywpyh wpmynibplbpp, Gpp npup onh ptipdwuwnhdwbp thnthnfuynid £ 15-hg
35 C, huy hwpwptpwywb funGwynipnilp hwjwuwp £ 60 %-h, npw YndwpGunpnii
6020wl pwpdpwgiwl wunhdwlp thnthnfugnwd £ 13...18 dhowlwypnid, huy dlGwgwé
pninp  GiuytunwhlG  wwpwdbnptpp d0nd G0 hwunwnnda, qpuwdbhyuywb  duny
Gpywywgqwé G0 unnpl: Iwdwnybbph wpnynibpGtpp wathnthywé G0 hwybwé 3-nud
ptpdwd wnyniuwybbpnd:

IS
h
o
o
o

B
o
o
o
o

Ni_QS, Udwn/(4q/4)

36.000 +

34.000

32.000

30.000 T | | |
14 19 24 29 34 t °C

LY.3.12 4GS 14q9// Junthph dwiuuh pipdwé GapphG hgnpnipjwb Ywfugwénipjnilp
yndwpbtunp dwwnnigynn onh stipdwuwnhdwbhg Yndwpbunpnid 8620wl pwpdpwgiw

mnwnpbp wunhdwGGGph nGwpnid
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LY.3.12-ntd pbpdwd £ 1 4g JwnbGhph hwpyny GS-h GGpphG hgnpnipjwl
Ywiuwénip)ntlp Yndwpbunp GGpééynn onh ptipdwunhdwlhg wwwytpnn gpwdphyp
yndwptGunpnud 860wl pwpdpwgiwl wuwnhdwbh 13...18 wnpdtpltph hwdwp: 4SS
Undwpbunp  dwwinigynn onh obpdwuwnmhdwlh 15-hg 35 °C wdbint nbwpnd L
yndwypbunpnud 8620wl pwpdpwgliwl wunhdwbh 13 wpdbph nbwpnid 4S-h 1 Loi/
Jwnbhph dwfuuh ptipdwdé GhpphlG ogunwlwp hgnpnipjnilp wanwd £ 1,398 Udw/(lg/)-
nd: bhuly Gpp Yndwpbunpnd 6620wl pwpdpwgiwl wunmhdwlp hwdwuwp £ 18-h wyn
thnthnfunipynibp Ywaqudnd t 1,974 Udw/yq/l)). UjuhlGpl @SS-h Yndwypbunp dwuwnnigynn
onh stipndwuwnhdwbh thnthnfudwb wanbgnipjnilp 4S-h 1494/ Jwntihph 6wfuuh pGpdwé
GtpphG oquwlwn hgnpnipjwl Yypw wylpwb wybh 066 t, nppwl 066 t Yndwypbunpned
6020wl pwpdpwgiwl wunmhdwbh wpdtpp: COn npnud 9Gpdwunmhdwbh pwpdpwgniip
ntah npwlwb wanbgnipynih 4S-h GGpphG hgnpnepjwb Ypw:

25.000

24.000

23.000

22.000

21.000 ——r=13

Ni_lj, Udwn/(Yq/4)

20.000 —i—n=14

=ir=11=15
19.000

=—=11=16
18.000

—fe=11=17

17.000

=0—1=18

16.000

15.000 | | | |
14 19 24 29 34

t,°C

LY.3.13. 1494/ Junbihph o6wfuuh pGpdwé 4SS Yndwpbtunph GGpphG hgnpnipjwl
Ywhujwénipynilp Yndwnpbunp dwwnnigynn onh stipdwuwnhdwbhg Yndwntunpnid 8620wl

pwndpwgdiwl tnwpptin wunhdwbOGtph nGwpnid

1 4g// Jwnbihph 6wfuuh ptpdwdé QSS-h Yndwpbunph GtpphG hgnpnipjnilp
GGp66ynn onh stipdwunhdwbh pwpdpwgiwl hbwn Gnylwbiu dGSwlnud £ (GY.3.13): LOn
npnid, nppwl wybih 066 £ yndwyptunpnid 6020wl pwpdpwgdwl wunhdwbh wpdbpp,
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wybpwl wybih 066 £ wyn wqnbgnipynibp: Ujuwtiu, GGpééynn onh stipdwuwnhdwbh 15-hg
35 °C pwpdpwlwint nbwpencd, Gpp Yndwpbunpnid d620wh pwpdpwgdwl wunhdwdp
hwywup t 13-h Yndwypbtunph GEpphG hgnpnipynilp dGéwhnid £ 1,898 Udw/(lq/i/Fnd, huly
Gpp 6020wl pwpdpwgiwl wunhdwbp hwywuwn £ 18-h" 2,606 Udw/(lq/t/}nu:

18.200

18.000

17.800

17.600

Ni, Udwn/(4q/)

17.400

——11=13

17.200 ~&-n=14

—le—11=15
17.000

i T{=1 6

16.600 —n-18

16.400

16.200 | | | |
14 19 24 29 34

Ly.3.14 A4SS-h 1494/ Jwnbtihph &6wfuuhptipdwé GGpphG oquwlwp hgnpnipjwl
Jwhujwénipynilp, Yndwyptiunp dwwnnigynn onh stipdwuwnhdwbhg Yndwpbunpnid 6620w
pwndnpwgdiwl tnwpptn wunhdwbOGtph nbwpnid

hGswbu wnbulnud GOp, Yndwpbunp GGpédYnn onh obpdwunmhdwbh pwpdpwgiwb
hGunLlwlpny dGoéwlnd £ 9S-h GGpphG ogquwlwp hgnpnipynilp, pwjg L dhLGnyG
dwiwlwy JdGéwlnd t Yyndwpbunph GGpphG  hgnpnipynibp, pGn npnud 8G20wG
pwpdpwgiwl  gwllywgwdé  wunhdwlh  nbwpnd  pbpdwuwnhdwOh  dplbnyyG
thnthnfunipjwl nbGwpnid Yndwptunph GGpphG hgnpnipynibp wybih 066 wpdbtipny t
aGowlOnud, hOsnd £ wwypowlwynpdwé E, np GGpdédynn onh  obipdwuwnhdwlh
pwndpwgnip  pOnhwlnip wpdwdp  pGpnid £ @SS oquwlwp  hgnpnipjw
Gywqoiw(ay.3.14): Un GJwqgniip 15-hg 35 °C pbipdwuwnhdwbh pwpdpwgiwl nbiwpntd,
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Gpp Yndwypbunpnid 8620wl pwpdpwgdwl wunmhdwlOp nlGh 13 wpdbp Ywginud £ 0,5
Udwn/(ha/tf), huy 18 wpdtiph nbwpnid™ 0,632:

640.000

,°C

620.000

t_ GS_h

610.000

— ——pi=13

600.000 —&—pi=14
—&—pi=15

590.000 - - - - pi=16
e e N e S e S Pi=L7

580.000 oo e —o—pi=18

570.000

560.000 | | | |
14 19 24 29 34

t,°C

ULY.3.15 GSS-hg htinwgnn Sfuwquqtph stipdwunhdwbh Ywhujwénipynilp Yndwpbiunn
dwuwnitgynn onh obpdwuwnmhdwlhg Yndwpbunpnud &G0wl  pwpdpwgdwl  wnwpptin
wuwinhdwbbtph nGwpnid

LY.3.15-ntd wwwnybpjwéd t 4SS-hg hbnwgnn Sfluwquqgbtiph otpdwuwnhdwlh
ywhujwénipyntlp GSS-h Yndwptunp dwuwnnigynn onh obpdwuwnhdwbhg, npwlnid
6020wl  pwpdpwgliwl wwpptnp wuwmhdwOGbph nbwpnid: IGrwgnn  Gfluwqugbph
pipdwuwnhdwlp Ojnwu Giuwybwnwiho ywjdwbaGtph hwunwwnnid dGwine ywpwaquyned,
GGpééynn onh obpdwuwnmhdwbh pwpdpwgiwlp gniqplbpwg Gnuylwbu pwpdpwlnid E:
Gpp, @020wl pwpdpwgiwl wunhdwlh wpdbpp Yyndwypbunpnud hwwuwp £ 13-h
Gbpééynn onh otipdwuwnhdwbh 15-hg 35 °C pwpépwgniip hwigbiglnid £ 4SS-hg
hbnwgnn Stuwquabph obpdwuwnpdwbh 1,782 °C-ny pwpdpwgdwl, huly 8G0wWG
pwpdpwgiwl wunhdwbh 18 wpdbph nbiwpntd® 1,793 °C-nd:
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36.500

36.000

nQ-SS, %

35.500

35.000

——1=13
—\—r=14

34.500
=fe=T11=15

34.000 n=16
=17

33.500 =0—n=18

33.000

32.500 | | | |
14 19 24 29 34
t,°C

ULY.3.16 G@SS-h 04G-h Ywfuywoénipjntbp Yndwnpbunp dwuwnnigynn onh stipdwuwnhdwbhg
yndwyptunpned 8620wl pwpdpwgdwl tnwpptip wunhdwbGtph nGwpnid

QSS-h 0Q4-h Ywhujwénipjntlp Yndwpbunp GGpdddnn onh obpdwuwnmhdwlhg
npwlnid 8020wl pwpdpwgiwl wunhdwbh wmwppbp wpdbplbph nGwpnid pipdwdé
0y.3.16-ntd Wwwnytpqwdé gqpwdhyncd: Lanhwlnip wndwdp 4SS-h 0Q4-0 Yndwnbunp
GGp66ynn onh opdwunhdwbh pwpdpwgiwl hGnbwbpny Gwgnid t: LEPESYNn onh 15
°Chg 35 °C pwpépwlwint nbwpnid, bGpp Yndwpbunpnid 6G20wh  pwpdpugiwb
wuwnh8wbp hwjwuwn t 13-h, 4SS-h 044-4G Gwgnid £ 0,999 %-nd, huly Gpp dG0wWG
pwnpépwgiwl wunhtdwOp hwjwuwp £t 18-h" 1,262 %-nd: Ujuhlpl, GGpdédynn onh
ptipdwuwinhdwbh pwpdpwgiwl pwgwuwlwb wagnbignipynilp 4SS-h 044-h Yypw wjlpw
wybh 066 E, nppwl OGS £ ASS-h Yndwypbunpnd 6620wl pwpdpwgiwl wunhdwbh
wndtipn[88]:
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—0.360

4q/

—0.355 -

Udan/

0.350 -
- ——r1=13
S

10.345 ——r=14
o
d“l —h—11=15
s

0.330

0.340 — .\ n=16
)
i N —p11=17
0.335 = ~5

0.325 . .
14 19 24 29 34

LY.3.17 GQSS-h Uyndwpbunpnud 1494/ onh 6wfuuph pbGpJwé QSS  hgnpnipjwl
Ywiudwénip)nitlp Yndwpbunp dwuwnnigynn onh stpdwuwnhdwbhg Yndwpbunpnid 8020w
pwpdpwgdiwl tnwnppbp wunhdwbGGph nGwpnLd

QSS-h  hgnpnipyntlp  yndwpbunpnid 1 4g onh hwydnd, GGpddYynn onh
ptipdwuwinhdwbh pwpdpwgiwl nGwpnid Gjuaned £ Un Ywhudwénipynibp yndwpbunpned
6020wl pwpdpwgiwl wunhdwOh wmwpptp wpdtpbbph nGwpnud ppdwé £ 04.3.17-nL0:
Undwpbunpnutd onh 1 494/ 6wpuuh pbpjwé QSS  hgnpnipjntlp  GGpddynn onh
oipdwuwnhdwbh 15-hg 35 °C pwpépwlwinig Gwaqnid £ 0,021 Udw/lg/if)-ny, bpp
yndwypbunpnid 860wl pwpdpwgiwl wunhdwbp Yndwpbunpnd hwwuwn £ 13-h L
0,026 Udw/(liqg/t/}nd, tipp 8020wl pwpdpwgiwl wunmhdwOp hwjwuwp k£ 18-h:

QSS-h wnnipphbh GGpphG hgnpnipjwl djntu wdbkOwltd uwywrhsp Yndwptunphg
hGnn hwlnhuwGnud £ JwrG hpwhG yndwpbunpp: Uwlw)ld dwiwbwlwyhg 4SS-GGph
aninn  JwnbihpwihlG Yndwptunph wpdwptp b hwlnhuwbnid L. 2wpdhsp, nLuwnnh
qwnbhpwjht Yndwyptunpp uwywnenid t, ng pb wOdhopwwtu @S hgnpnipynilp, wyp 4SS
qtibGpwwninph hgnpnipjwb dh Jwup: 4SS JwnbihpwihG Yndwpbunph hgnpnipynilp
wiuJwé st Yndwpbunp GGpdSUnn on  pLipdwuwnhdwlhg: Gph, hwdwpblp, np
JwnbthpwhG Yndwpbunp GGpé6éynn Jwnbhph stpdwuwnmhdwlp dGnid £ hwunwnndd,
www Jwrbhpwjht Yndwntunph hgnpnipjntlp Ywpujwdé b GSS Yndwypbunpned 8620w
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pwnépwgiwl wunhdwbh wpdtphg: Wn YJwhujwénipinitbp Yyndwptunpnd dG20whb
pwndpwgliwl wuwnhdwbh 13-hg 18 wpdbtipltiph nbwpncd ptipdwé £ G4.3.18-nL0:

Ni_dY, Udwn/(49/4)

0.350
0.250 &

0.200

0.150 =—=Ni_ 4, Uduy/(l1q/1])

0.100

0.050

0.000

13 14 15 16 17 18

LY.3.18 4SS-h Jwntiihpwjhl Yyndwyptunph 14g Jwrbihph hwyyny GGpphG hgnpnipjwl
Ywhuwénipynilp Yndwnpbunph 8620wl pwpdpwgiwl wunh@wOh wnwppbp wnpdtipltiphg

3.4 4SS tatipqtimhywlywb gnigwbhGtph hwdwpyh dowyywé dtpnnh unnegnu’
“Ypuqnuwi-5” EGipqupnyh 4SS-h ophlGwyh ypw

“[puqnub-5" taGpqupnynd inbnwywyjwé t 142,855 Udwur hgnpnipjwip Ujunnd
paytpnipjwb wpunwnpwoé ququuunipphbwjhG inbnwlwjwhp: EGGpqupnyh
Yuwpquptpdwl wfuwnwbpbbph wjwpunhg hGnn @SS wpunwnpnn paytnpnipjwb Ynndhg
hpwywlwgyb] b OGwfuwqéwhG GpwfuhpwhG gnigwlhyGph wdthnihhs  unnegnud
thnpdwplydwh dhongny: Wn  thnpdwpyowb  wprynibpnid  hwynbh G0 nupdb
mbnwywjywé 4SS-h htitnlyw| hhdbwywb gnigwbhbbpp

- obpdnipjwl nbuwywpwp Swiuup GSS-nLd 9750 42/44ind,

- Q4SS hgnpnipnlp 142,855 Uduwn:

Lpwé dtonpyntbGbtpp hwdwpydtp G0 dplninpuwght wwjdwbGGph  hGnbywg
wnpdtipGtiph hwdawp

- obipdwuwnhdwh 15 °C,
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6Gyniy 0,822 Puwp,
hwpwpbpwywb funGwynipyntlt 60 % :

Onpdwplydwlb pbpwgpnid 4SS dwuwnigynn Jwnbhph uwnnphlG  pwGynpuyw
otindnLp)nLbp nilbghb| £ 46910,7 42/ wndtipn, huy onh dwfuup Yndwptunpnid Yuqub &
429,6 g/

Pwlh np, 1 44dind=3600 42, nunnh eotipdnipjwl wnbuwlwpwp dwhuuhg Ywnbh
hwpyt| 4SS 049-0

3600

ﬂﬂgﬁzﬁ 1ﬂﬂ%=36,92 % . (349)

Ppwywlwglblp “[pwaqnub-5” taGpgqwpinyh 4SS-h otpdwjhl hwydwny dwlyjwod
dGpnnh dhongnd: pw  hwdiwp Guybunwiht wwpowbObpp  YnebGGwb  hGnlywg

wpdtipbtipnp

Nuh onh etpdwuwnhdwl’ t,=15 C,

nnuh onh GlnLd” Pre=0,81 dpd,

nnuh onh hwpwptinwluwb funGwynipntl’ ¢,,=60 %,

Jqurtihph wpdwb unnphG pwGynpwlwb sbpdncg)nll’ @4 =46910,7 42/,
dwuwnncgynn Jwrtithph aG2ntd” Pyye=1 UM,

dwuwnncgynn Jwrbihph stipdwunhdwb’ ty,,=15 C,

qunthph wybigniywjhl aG2nudp wypdwh fughg wnwe™ AP, =0,5 U,
Yndwptiunpned 8620w b pwpdpwgiwlb wunhdwl' m;=15,4,

wnnipphGhg wnwy Sfluwquaqbiph etpdwunmhdwb'tgg,=1111 C,
Undwntunph hgntGunpnw 0Q49° 1,=88 %,

ququwunipphOh GGpphG hwpwptpwlywb 044" 15:=89 %,

qurthpwjhb yndwptunph hgntGwnpnwy 049" 1,,=80 %,

wynpdwb fugh 049" #,,=99,5 %,

8020wl waynop wypdwa fugnid” dPyR=5 %,

020w b wayntop ququihlb nnpphlnd 8P ,»=2,1 %:

Ltpdnwétind G2dwé wpdtipGtpp hwdwnpyuwihb 6pwghp, unnwlbwbp 4SS hGwnpjw
gnigwbh0Gpp

Undwntunph GtpphG hgnpnipynibp pipdwdé 1 49/ Juntihph Swfuuh'N; ,=20,02
Udun/(lg/1),
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e quaquunipphGh GepphG hgnpnipynilp pbpdwé 1 49/ Junbiihph dwiuup'N; gz=
37,31 Udw/(g/i)),

e JuwntithpwjhG Yndwnbunph GGpphG hanpnipynitbp pbpdws 1 44/ Jwntihph
Swluuh® N, ;,=0,115 Udu/(lyg/t)),

e GSS-h GGppG ogquwlwp hgnpnipjntbp pbpdwdé 1 44/ Jwnbihph Swfiuuh, npp
hwyh sh wnrbnid dGfuwbhywywb Yynpniunbbinp N=17,17 Udw/(yg/l),
e QSS-h 099-0" 1gz,= 36,6 %,
e GS8S-h hagnpnipynilp pbpwé Yndwpbunpnud 1 44/ onh Swfuuph”™ N, ,.=0,33
Udun/(hg/),
[wdwnytlp 4SS hgnpnipjwl L OGG-h wnwowplyynn dtpnnh dhongny hwywpyh
ufuwGGph tninynubbipp

36,92-36.6
36,92

Q@SS hgnnpnipjntlp Ywnbh £ hwadtp Yndwyptunpnud 1 4g/4/ onh dwfuuh ptipqwé GSS-h
hanpnipjwl (N, ;) wnpdtipp Jwntihph dwiuuny pwqiwwwwnybiny
N=0,33*429,6=143,5 Udwn:
Q4SS hgnpnipjwb hwdwnyh ufuwh hwdwp Yunwbwbp
ON

on=

100%=0, 0. .
0,87 % (3.50)

_123.5-142,855
122,855

100%=0,46 % : (3.51)
Rw2qwpyywé ufuwh ninynubbipp qunnGynid G0 Swpnwpwqhnwywb hwdwpybtpned
pnywwnpbih ufuwh uwhdwGGGpnid, hGnbwpwp wewowplynn dGpnnp Yupbih

Yhpwnt| hGunwquw niuntdGwuhpnepyntGGGph hwadwnp:

4. QU2USNHPAPLUSPL SENUYUSULLP YAUTNrEUNN LENSOYNN O AENPUUUShGULP
oNONuNHISUL URNESNHA3NFLE CNAEQAURU3PL SENUUUSULLP UCIUUSULLP 4Nu

4.1 @SS Yniyptiunp GEpédYnn onh gtipdwuwnhdwbh wantignipnilp oqunwhwlhy
Jwpuwyny A4S wfuwwnwlph Yypw

Muwnpgbint hwdwn, pt hGswhuh wagnbgnipntb £ nlGGGnd @SS Yndwpbiunp
Gbnd6ynn onh ebipdwuwmnhdwlp gninpawihb ghyh wzuwwnwlph Ypw, Gwfu nhinwnytp
wyn wagntgnipjntp 4SS Yndwptunph 8020wl pwpdpwgdwl wunhdwbh ypw:

QuquwunipphlwihlG  wnbGnwywywGph (4SS) hnbwjwywb ghyp Ywaqijwé ¢
yndwypbunpnid ubnddwb hgntOGwnpnwy wpngbiuhg (1-2s), wnpdwb fugnid obpdnipjw
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hwnnpniwl hgnpwn wpngbtiuhg (2s-3s), innipphlGnd hgntGunpnw pGnwpéwyniihg(3s-4s)
L 4s-1 wwjiwlwlwb wpngbup thwynd £ ghyp (GY.4.1): bPpwlwb GSS-nLy,
wwjdwbwynpywé 2thdwl L wy wohwlwnwpdbih Yynpniunbbpnd, ypngbiulb pbpwbnud k
tGnpnwhwjh wdny L nLGh 1-2-3-4 wnbiupp (GY.4.1) [89]:

1

Y

S
LY.4.1. Mwpq 4SS-h wouwwnwbpwihl ghyp T-s nhwgpwih Yypw

Epp pwpdpwlnud £ Yyndwypbunp GGpédynn onh eobpdwuwnmphdwOp, 1 YGwp GnyG
hanpwpny wbnwwpdyntd £ nbwh wo (1-1°, Gy.4.3): Undwpbunph GGpphG
hwpwpbpwywb 094G-h thnithnfunepynilp, Ywudwd GGpéddynn onh 9tipdwuwnhdwbhg,
wbbwh £ L Ywpnn £ wOnbuyb: Undwypbunpnud 8620wl pwpdpwgdwl wunhdwOh
ywhujwénipynilp GGpédynn onh stipdwuwnhdwlhg qlGwhwwnbint hwiwp nhunwnpyblp
0y.4.2-ntd wwwnytpdwd dphohtG hgnpnipjwlb “GE  Frame 7F” QSS-h  Yndwpbunp
dwwnncgynn onh ptipdwuwnmhdwOhg Ywfujwé npw Gipenid dG20whb wpdtplbph nhwgpwin
[90]:

P .UM
1,38 1

1319

] phag® *4
1,24 1

1_1?§ w-

1.1 1

1,03 4 "
15 189 217 24.4 27.2 30 328 35.6 t,°C
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Ly.4.2. GT Frame 7F qwquwuwunipphGh yndwptunph Gentd 6020wl Yufudwonepinilp
nnpuh onh ebipdwuwnhdwlhg [90]

Pwlh np 48S-Ghpp npwbu YnGnG Gwfuwqdynid GG Gepddynn onh 15°C
pindwunhdwbOh hwdwp, wyn oGpdwuwnhdwbh nbwpncd Yndwptunph Gpncd onh 8G2nLdp
ntah hp wawlwlwb wndtpp: LY.4.2-nL0 Wwwnybpdwé nhwagpwihg ybpgltind 8G20wb
wndbiplbpp L wpnwhwjnbind npwbp nnynubGbpnd™ 15 °C sbpdwunpdwbh nbwpncd
wOjwlwlwb 8620wb Gyuwwndwdp YnibbGGwbp wn.4.1-nud ptpdwdé ndyubtipp:

Unyniuwy 4.1
GT Frame 7F quqwuwunipphGh Yyndwpbunph Gencd 8620wl Ywiugwénipinilp
ndwnbtunp GGpéddynn onh spdwuwnhdwlhg

yndwnbiunn BhynLd
Gtpésynn onh | Yyndwpbunph
pipdwuwnhdwh | G pniy,
t°C P %
15 100
18,9 99,2
21,7 96,5
244 95,5
27,2 93,9
30 92,8
32,8 91,7
35,6 90,1

Un.4.1-nid  OGpYuwywgwéd wngwbbph  dnunwpydwld dhongny uwnwbnid GOp
thnpdbwlwb pwlwdl (4.1), npp pGnipwgpnid £ dhohlG hgnpnipjwlb qugunipphbh
yndwptunph  GpwjhlG @G20wh  thnthnfunipyntGp  GGpédynn  onh  obpdwuwnhdwGh
thnipnfudwG 15... 35,5 °C nppnypnid’ wpnwhwyndwé %-nd wijwlwlwb 860w
GYywwndwip:

P+,=0,363t-6056,541/t?+440,075/In(t)-40,948, (4.1)
npintin t-0 Yndwpbunp Gbpdéynn onh obipdwunhdwh b °C, Py-p Yndwnpbunph Gpncd
602nL00 £ wpnwhwjndwé tnnynubtinny Gruytunwihb 6G20wb Gyuwwndwadp [91]:

SnipphGh Gepphl hwpwptpwywb O44-0 wwydwlwynpgwé E quaquihb nnnpphbh
dniinpnid  6fuwquabph  ptpdwuwnhdwlny, npp dwiwlwlwyhg ququunipphlbwjhb
nbGnwywjwbpbtpnud pbrOowéph” wbwbwlwbhb dnn inhpnypnid d0nid £ hwunwnnd,
wyuhOpl” wGywfu £ Yndwptunp GGipddynn onh ppdwunhdwbh wpdtiphg:
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Qwuwnnpkb, Gpb Yndwnbiunp GEpédynn onh 15 °C obipdwunhdwbh wwjdwbbGbpnid
4SS-h wfuwwnwbpwih ghyip nGh 1-2-3-4 nbupp, www Gepéddynn onh 15 °C-hg pwpdén
wpdtipltph nGwpnid wjb YyniGGlw 1°-2’-3’-4’ inbupn:

T

L J

S

LY.4.3. GSS-h wfuwwnwbpwihlG ghyh thnthnfunipjntlp npuh onh pipdwuwnhdwbh
pwpdpwgdiwl hGinlbwbpny

Swyyh wrGbind JGpp Gupwapwép™ GSS ebipdwihG hwdwpyph drwyywé
atpnnhywl Yupbih £ yppwnt yndwnpbunp GGpddynn onh pwydwpwp tipdwunhdwbwjhb
inhpnypntd @SS hgnpnipynilp, hGswbu OGwb opwyhG O2nwwwndwb  hwdwlwpgh
Yhpwndwb hbGnbwbpny Ytpwlwbgbynn hgnpnipjwl dténipynilp qlwhwunbint hwdwp:

4SS etipdwjhG hwzwnyh gintfu 3-nid wnwownyynn hwzqwplwjhlt wignphpdh
dhongny, dh wpp tOGpgGunhywywh gnigwlhyGtph 2wppnd hwdwnpyynid £ Gubl
npjwé wywjdwhbtph nGwpnid onh funnipintlp (p), 1 4q Jwnbihph wjpdwl hwdwn
mbuwywbnpbl whhpwdtiin onh qubqywén (Lo), 1 4g-h hwyyny onh wybigniywyhh
6wfuup (gon_wy), L 4SS-h hgnpnip)ntlp Yndwpbunpnid 1 4g onh hwpyny (Ni_on),
npnbp  YJwplbnp nbp GO fuwnnd”  obpdwuwnhdwOh  thnthnfudwl  wqnbignipynilp
2nqbtincdwyhG ghyh Jpw qUwhwwnbint hwdwn: Gpp pwpdpwlnd £ 4SS Yndwpbunp
dwuwnnigynn onh obpdwunhdwlp, pwpdpwlnid £ Gwl 4SS-hg htinwgnn Sfluwgquwqbiph
pipdwuwnhdwbp, hGunbwpwp L Eopwiwypwl: Uwlwid pwbh np  Yndwpbunpp
hwuwnwwnnid dwywwjhb dbptbw E, L onh stpdwuwnmhdwlh dGéwgnidp hwGqbiglhnud
npw funnipjwl  thnppwgdwl, nwunh 4SS Yndwpbunpnd quwlqwoéwjht  Gwfuup
Gtpé6ynn  onh  etipdwuwnhdwlbh wdht gnigplpwg  Owqgnid  E: NFunnh, onh
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ptipdwuwinhdwbh thnthnfunipjwb htwn Yuwwé 2nqbintdwyhl nnbnwywjwbph hgnpnipjwa
thnthnfuntpjwl qOwhwwniwb hwidwp wbtwp £ hwydbp 4SS-hg htnwgnn Stuwquwaqtinh
ptindwjhb EGGpqhwjh thnthnfunipyniOp:

Gnwgnn Sfuwquqgtiph htwn wnwpynn otipdnipjwlb pwlbwynipintGp hwjwuwp
htinwgnn 6fuwquaqbph tGpwiwhwjh L Swiuuh wpunwnpyw hG

Q=Gm*hqsh, 42/, 4.2)

npuntin hash-0 Sfuwquiqtiph tGpwjwhwb £, Gm-0 hGinwgnn 6fluwquqbph éwfuub t Yg/y-ny,
npp Jnipwpwgnip ninepphth hwdwnp hwqwpyynd £ GGGNY Gpw wGjwlwlwG
hgnpnipjnibhg L Giwytunwihl wwjdwbbbph nbwpentd hwdwnyhg, nph wpnynibplbbphg
ogwnytiny” hwyqwnpyyned £t @SS-h yndwpbunpnid onh qubgywdéwjhb dwfuup (Gym) L,
hwyh wnltind onh funnipjnitlp wyn wwjdwbGbpnid, npnpdnid £ GSS Yndwpbunph
Swywiwjhh dwhuup (GLv), npp hwuwnwwnnib £ inpwé GSS-h hwdwp’

GUM=Ne/Ni on, 4/, (4.3)

npwntin Ny -p Giuwybnwiht wwjdwGGtpnid @SS-h hgnpnepyniGa t:
Glv= Gym/ p, P/, (4.4)
Gm= Guv*p+ Glv*p/( gon_wy+ Lo) 4g//. (4.5)

NFGGEOGwnd Q dténipyntOp Grwybunwiht wwydwGbbpnd L wyn nbwpnd™ G4S-h
2nqtiinnipphGh hgnpnipynilp, L hwdwpytingd npuph onh guwllwgwé stipdwuwnhdwhh
nbwpntd Q dtonpjwl wpdtipp, L wl hwditdwwmbind GrwybGunwiht wwjdwbaGph hp
wnpdbiph htw, uptih £ qGwhwwnbp ongbnnipphbh qupqugydtihp hgnpnipyntp tnjuig
pindwuwnhdwlh nbGwpnd [92]:

Unwowpnyynn Gnwlwyh Ohongny qlwhwwnblp 6pREYU-h Gnp  tGGpqupinyh
pGpwpuwnpwlpp  wnwpw pGpwgpntd  oGpdwunmhdwOh  Gwhuwqdwihbhg pwpdn
mhpnepyneu:

4.2 QSS Yndwypbtiunp Gapééynn onh stipdwuwnmhdwlnd wywjdwlwynpywé CAS
hganpnipjwl ptipwpunwnpnipynilp L npw thnfuhwwnnignidp opwyhl A2nLwwwniwl
hwiwywnpgh Yhpwrdwdp (6pREY-h ophlGwlh Ypw)

GEpREU-h 2nqliququjhl wnbnwlwjwlph uygpnibpwihbt 9tipdwjhb upubGdwl nubh
Gy.4.4-nLd ptpwé wnbiupp: Iwpdwnyblp Gplwbh wwydwbbGbpnd nmwpw pGpwgpntd
yndwypbtunp 0GGpd&Ynn onh pwpdp etipdwuwnmhdwlh hbGn Yuwywsé tGGpqupinyh
pbGpwpuwnpwlpp:  EGGpqupnyp Owfuwqéytp £t wpqwéd  wnwpblwb  dhohl
obpdwunpdwbh L hwpwpbpwlywt  funGwdnipjwlG  hwdwp® 12 °C L 56 %
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hwiwwwwnwufuwbwpwn, huly pwpnititnpwywb 86G2ntdp Gplwb pwnwpnd uqginid k
91,202 4w Oqunybiiny §2.3-n1d Gdwd 4SS hhdlGwlwb wwpwaitwnptphg hwdwnpybip
4SS hhdbwywb EaGpgbnplwywb gnigwbhpbGtipp Yndwyptunp dwuwnnigynn onh GoJwéd
wwjdwbbtph hwdwp:

w2 . EL 177
1 |}

S i P

5 — —T—O >

PER 8@ &
Y |

*‘ |‘ H |_,r: A I AL !.\

AU Y Y Uy Y Y FY ( -

4[ A ‘A A -1 f K I.I
Ogunwhwihy Juwpuw

Ly.4.4 6pAtY-h hwdwlygwéd ghyny tGpqupnyh UAAU, 4S-ququjhb nnipphd,
GS-yngtinnipphl, 4-qGGGpwwnnp, YU-yndwypbunp, Ulu-wjpdwb funig, Y-nGwbpwwnnn,
PBO-pwpdn 6020wl pdpnly, 8600-gwép aG0wh pdpniy, LA- pwulnigiwl pwp, UEN-
ubnn tL.wyndw, YN-YnbnbGuwwnwihl yniw
QEndwjhb hwwpyp Giuwybunwihl ywydwbaatph hwdwp YniGbhGwp
e Mpuh onh stipdwuwnhdwl’ t,,=12 C,

nnuh onh dGnLd” Pre=0,91 dpd,

e npuh onh hwpwptipwywb funGwynip)nil’ ¢,,=56 %,

]
i
N

S
>

e Juwnbihph wypdwb unnphG pwGynpwlwb pbpdncpnilG’ @4 =47480 42/ q,
e Jdwuwinigynn Jwnbiihph abnd’ Pyun=1 UM,

e Uwuwintgynn Jwnrthph stpdwunhdwl ty,,=15 C,

e Juwntihph wybigntywjhl GG2ncdp wypdwh fughg wnwe™ AP, =0,5 UTw,

e Undwpbiunpnid 8620wl pwpdpwgdwl wunhdwb’ m,;=15,4,
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e wnLpphlhg wnwy dfuwquqgtiph spdwunhdwb'tgs,=1095 °C,
e Undwpbunph hgntGupnw 049" 1,=88 %,

e ququwunipphGh GepphG hwpwpbpwlywb 044" 145:=89 %,

e JuwnbihpwjhG Yndwptunph hgntGunnpnwy 049" 1,,=80 %,

e wjndwh fugh 049" 14,,=99,5 %,

e 6020wl whynidip wypdwh fugnid” dP =5 %,
e 6020wl whyniip ququhl wninipphlnud” 8Pg»=2,7 %:

B00wb wayndp ququwjhlG wnipphlGnud unwbnd Ghp oqudbin oquwhwbhy
Jwpuwned 8020wl wbynidhg L npwbhg htwnn 60G2nLdhg:

LoJwé Gruwybnmwihl wwjdwbabph hwdwnp 4SS obpdwjhl hwdwpyh wpryniGpGGnG
GG

e Undwptunph GapphG hgnpnipynilp pipdwé 1 4g/4/ Jwnbhph 6wfuuh’N; ,=20,459

Udun/(lg/tf),
e quwquwunipphbh GGpphG hgnpnipynilp pipqwé 1 494/ Juntithph dwiuup'N, g5=
37,91 Udwn/(g/t)),

e JuwnbthpwjhG Yndwpbunph GGpphG hgnpnipjnilp ppdwé 1 4g/4/ Jwnbihph
swliuuh® Ny ,=0,129 Udun/(ljg/1)),

e QSS-h GtphG oquwlwp hgnpnipnilp pbpdwé 1 44/ Junbihph Swfiuuh, npp
hwyyh sh wnbnid dGfuwbhywywb Yynpniunbbipp N=17,319 Udw/(yq/y),

e QSS-h 04QQ-0" nggy= 36,47 %,
e GS8S-h hgnpnipynilp pbipdwdé Yndwpbunpnud 1 4g/f onh Swiuup™ N; ,,=0,326

Udun/(4a/y):

Nhuwpyynn quqwuwnipphlbwihlG nbGnwywjwbph Yndwypbunpnid onh dwywwjhG
dwhuup 15 °C ebpdwunhdwbh L 60% hwpwpbpwdiwb funGwynipjwl wwpwaquw)ntd
hwywuwp £ 523,08 4q// [93]: Bwlh np wyn wwjdwGGGpnid onh funnepnilp Yugoned £
1,22 4g/F, www Undwpbunph SwlwjwjhG Swiuup YGwqond b 428,65 44 U
Swywjwjhl dwfuup 00nud £ hwunwnndG:

Guinbwpwp @SS hgnpnipynilp Gpwé Gwhuwqdwiht wwjdwGaGpnid hwdwuwp YhGh
155,2 Udur. Uu GOnylO wwjpowbGObpnud 6pREY-p hwdwygwéd ghyiny  wfuwwnnn
ElGyunpwlwjwlnid pnqbtitnnipphGh hgnpnipyniGp hwywuwp £ 63,4 Udur. Q dténip)nilp

wyn wwjiwbabatpnd hwjwuwn £ 410878,5 42/
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QlGwhwuwnblOp L. tOGpghwjh  pGpwpunwnpnepintp wpw Yunpdwépny onh
obpdwuwnphdwbh 12 °C-hg pwndp |hGGnt hbnblwbpny: dbpgGhbp dhohlt hwpwpbpwlw
funGwynipyntlp Gplwlb pwnwph hwidwp w0 wdhulGGphb, npnbg pGpwgpnid dhohG
ptipdwuwinhdwlp pwpép £ 15 ‘C-hg, pwlh np npwbhg gwén sbpdwunhdwbGtph nbwpnid
hnqugiwl hbGunbwbpnd 4SS Uyndwpbunph dnwnpnid unwgyned G0 Juwbgquwynp
pindwuwnhdwbbbp, yuwwwsé vwnguwwbwb hGwpwynpnipjwlb hGwn: Ypwlp dwpinhg
GnjGdpGp wdhubbpb G0: Uwlw)G dwpn L OGnGdpGp wdhulGphG 15 ‘C-hg pwndn
pindwuwnhdwbGtph dhoht wnbnnwywbnipynitbp hwjwuwn £ pnwobGp 6,72 dwd, ntunh
wjn  wohubGbpp nnipu GO qwihu nhwnwpldnn qnunig: UhphlG  hwpwpbpwlwb
funGwynipyntlp dO0wgwéd nhinwplyynn wdhubtiph pGpwgpntd (hGnid £ 49,857 % [94]:

Unyniuwy 4.2.
UhohU wiublwl oGpdwumnhdwbbGtph tnbnnwiwbnepyniGGGpp pun widhulbph Gpluwb
pwnwph hwdwn [95]

Qtpdwunhdw Udhutitp

-hg | uhtsh 3 4 5 6 7 8 9 10 11
15,1 20 0,2 | 6,7 16,8 7,9 0,6 0,8 12 8,5 0,08
20,1 25 0 0,3 7 17,4 12,9 13,9 14,1 0,5 0
25,1 30 0 0 0 4,1 16,4 15,9 1,5 0 0
30,1 35 0 0 0 0 1 0.4 0 0 0

Unyniuwy 4.3
Uhohl wiublwl ptipdwuwnhdwbGtph wnbinnuwbnipyntGGbpp puwn dwitph Gplwb
pwnwph hwdwn

Uhohl dulbp

gtpuwu | 3-pn | 4-py | S-pn | 6-py | 7-pn | 8-pn | 9-py | 10-pn | 11-pn | Qm-
nhfwb | wdhu | wdhu | wdhu | wdhu | wdhu | wdhu | wdhu | wdhu | wdhu | dwp

17,5 - 160,8 | 403,2 | 189,6 | 144 | 19,2 | 288 | 204 - 1279,2
22,5 0 7,2 168 | 417,6 | 309,6 | 333,6 | 3384 | 12 0 1586,4
27,5 0 0 0 98,4 | 3936 | 3816 | 36 0 0 909,6
32,5 0 0 0 0 24 9,6 0 0 0 33,6

Unpniunbbpp qGwhwwnynid GG pun gbipdwuwnmhdwlOwihG wphpnypbtph™ 5 °C
pwjny: WupOpl, Gwhu hwpdwpydnid £ Ynpneuwnp wywjdwbwynpdwé 17,5°C dhohG
ptipdwuwnhdwbh wnbnnuywlnipjwb nbwpncd, hbwnn® 22,5 °C dhohlG nbnnwywlnipjw
htin Juwdwd L wyG: Pninp YnpneunGtph gnudwpp YhGh dhohl wnwpblwb Ynpniuwnp
Juwwywé obpdwunhdwbh pwpép |hGGne htwn: 17,5 °C dhohG gipdwuwnhdwb GYwwnyntd
E wwpbywb 1279,2 dwd: Uyn gtipdwunhdwbh nbwpnid @SS Yndwpbunpnid 6020w
pwndpwgiwl wunhdwOp hwqwpyyned £ (4.1) pwlwdbny L hwwuwp £ 15 ‘C-nLd hp
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nLtgwdé wndtiph 99,4 %-hG" 15,3: Gwnenigblp wnyniuwly, npnid wpnwhwjndwé Y hata
wn.4.3—n1d Gowd obpdwunphdwbbtph b tnbnnwywlnipjniGGGph nGwpnitd nhnwnplynn
tGGpqwpinyh quqwunipphbwihb L pngbintdwihl nbnwywjwbGpltph hgnpnipyncGbtipp
qOwhwwnywdé Ytpp Gwpwapjwé dtpnnny, wpnwnpwlpp L wreb hph dwiuup (wn.4.4):

hGswbu gnug GO nwhu wn.4.4-nud pipdwdé hwqupybbph wprynibpbbipp 6pEY-
h Gnp tGGpqwpnyp nhwnwpyynn stipdwunmhdwlwihlt wnbnnuywbnipjwip nhpnipynid
wpuwnpnud b 783,7 dib. fdwn.d ). tGGpghw: Uwlwyb Gpt npw hgnpnepynilp (hGGp
hwywuwp hp GwfuwgéwjihGhG, wyn GnuyG inhpnypnid wjb Yuwpunwnnbp 832,6 ds6. §dwn. ¢
k.  tGGpghw:  WuphGplG nhunwpyynn 3808,8  dwdbnhs plpwgpnid  Juywbh
pbGpwpuwnpnipnibp Ywqanid t 48,8 4. {dwn. dwd:

Agnpnipjwl inbuwGyynibhg wn.4.4-nd ptpwé indyuGbpp yywynod GG, np 17,5 °C
dhohl obpdwuwnhdwbh GOYwwynn 1279,2 dwdbph pGpwgpnid 4SS  hgnpnipjnilp
Ywqguinud £ Guiuwqéwihbh 95,9 %-n, huy 2nqbwinnipphGhlp 98,2 %: buly 32,5 °C dhohl
pipdwuwnhdwlOh nhunwpydnn 33,6 dwdtinh pGpwgpnid @SS hqgnpnipjnilGp pGyGnud
0h0sL Owfuwqéwjhbh 86,2 %-h0 hwjwuwn:

Ujdd, GOpwnptlp, np tOGpqwpinyh 4SS-h Jpw wnbnwywyybp £ Yndwpbunp
dwuwnigynn onh opwjiht d2nwwwndwb hnwgdwb hwiwywpqg: Ujn nbwypnid 4SS
dwiwinnitgynn onp hnjugyned £ apGsl indyup dplnnpunwyhb 6620wbp hwdwwwwnwufuwb
L nhuwpydnn  wnbnnwywlnipjnbbtpnd  dhohlt  9tpdwuwnhdwbGtGph  nbGwpnld
hwunmwwnynn  funbwy  otpdwswihh  9GpdwuwnmhdwbhG:  bull  hwpwpbGpuwywb
funGwynipynilp hwulnud £ 100 %-h: Uyn stipdwuwnhdwbGtpp L npwlg nbwpnid 4SS
otipdwjihl hwydwnyh wprynibplbipp, untinéqwé hgnpnipintlp L Jwnbihph Swfuubipp
ptpdwdé GO wn.4.5-nL0:
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Unyniuwy 4.4

Eptu-h ququwuinipphlwjhtG L ynqbindwjhlG wnbnwlwywbplbph hgnpnipynlGbbpp L

gnidwpwihlt  wpwnwnpwlpp nhunwpydnn  nbnnuywlnipjwip  obGpdwunhdwGGGph

nbiwypnLd

t,°C 17,5 22,5 27,5 32,5
T 15,3 14,9 14,4 14,1
Ni_on, Udw/g/4))| 0,319 0,313 0,308 0,303
Ni_qs, Udti/(g/)) | 38,35 38,28 38,17 38,12
Ni_y, Udin/(yg/]) | 21,06 21,21 21,33 21,50
Ni_y, Udun/yg/f) | 0,129 0,124 0,119 0,116
n, % 36,14 35,67 35,19 34,75
Ni, Udw/(g/i]) 17,16 16,94 16,71 16,49
Q, 424 403523,6 | 399460,2 | 395781,5 | 391986,7
N_qs, Udwn 148,8 143,6 138,6 133,9
N_cs, Udwn 62,3 61,6 61,07 60,5
T, ¢ 1279,2 1586,4 909,6 33,6
Ws, {dun o 270x10° | 325,6 x10° | 181,6 x10° | 6,5 x10°
Gyz, 1 39,9 x10° | 48,4 x10° | 27,2 x10° | 0,98 x10°

Unyniuwy 4.5

Ep2tU-h ququuunnipphbwjhb L 2ngbintdwjhlb inbnwywjwbpbtph hgnpnepyniGGtinp L

gndwpwjihl wpwnwnpwbpp nhinwnpyynn inbnnuiywbnipjwip stipdwuwnhdwbbbph

wWwjdwbbtpnid hnduwgdwl hwdwlywpgh Yhpwrdwb nbwpnid

t,°oC 17,5 22,5 27,5 32,5
th, °C 11,54 15,65 19,77 23,92
T 15,4 15,4 15,1 14,7
Ni_on, Udun/lg/f)| 0,327 0,323 0,319 0,315
Ni_qs, Udt/ljg/f) | 37,82 38,20 38,21 38,08
Ni_y, Udin/(yg/)) | 20,36 20,85 21,04 21,10
Ni_y, Udin/yg/f) | 0,147 0,147 0,127 0,123
n, % 36,46 36,23 35,89 35,48
Ni, Udun/(yg/]) 17,31 17,20 17,04 16,85
Q, 4/ 412340 | 406686 | 403063 | 400341
N_qs, Udin 155,8 151,07 146,8 142,7
N_gs, Udn 63,6 62,7 62,2 61,8
T, ¢ 1279,2 1586,4 909,6 33,6
Ws, §din o 280,7x10° | 339,2 x10° | 190,1 x10° | 6,9 x10°
Gyz, 11 41,6 x10° | 50,2 x10° | 28,2 x10° | 1,02 x10°
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POswtu wbulnd Ghp wn.4.5-nid pbpdwé wnyw btiphg, 4SS Yndwpbunp
dwuwnigynn onh hnqugiwl opwhlG 02nwwywwnidwl  hwdwlwpgh Yhpwrenipjw
wpnynitpniy, nhunwpydnn dwiwlwywhwndwdénid hGwpwynp £ wpnwnpt; 816,9 4;4.
ydwn.d t|. tGbpghw: WuhGpl pinyp hnqwgiwl hwdwywpgh Yhpwnrdwb wpnynibpnid
wpunwnpnid £ hp GwhuwgbwihG wpunwnpwOph 98,1 %-p, dhOsntn wnwlg hnjugdw
hwiwywnpgh wjt wpunwnpnud £ 94,1 %-p: dbpwlwbqbwé wpunwnpwlpp Ywqginud
33,23 dyb. ydwn.dwd, Ywi pbpwpnwnpywé k). tGipghwyh 68 %-p L wyn thnfuhwunnigywé
wpunwnpwlph hwdwp Jwrebhph dwhuup Yuwqindd £ 131,2 gn.quq/ljdin.d

Uwnnigblp  qpwdhy, npnud wwwmybpjwd Yyphoeh GpREY-h  hwdwlygwéd
tGGpqwpinyh  gnudwpwyhG  hgnpnepyntbGGbpp wpwlg  hndugdwl L hnwgiwl
hwdiwlwnagh Yphpwrdwdp nhinwpyynn dhohb obGpdwunhdwbbGtph nbwpnid(ay.4.5):

225 7
20 1

215 7

2
o 210 T
g
=8
3
£ 205 + .
200 +
185 _
wnwlig houuwg Gwl
190 -+ T T : . .
15 17 19 a1 23 25 27 29 n E 35

onh sbpdwuwnhdwib, *C

Ly.4.5 GpRAYU-h hwiwygdwd EGGpgwpinyh  hgnpnepjwlb  Ywpudwénipynilp
yndwntiunp GGpddUnn onh pipdwuwnhdwbhg:

LY.4.5-ntd GEpYwywgdwd Ywhujwénipjwl hpdwl ypw Ywqidbp G0 ntgrtuhnG
pwlwdlbtn, npnGg dhongny hGwpwynp £t qOwhwwnb] 6pREY-h hwdwygwéd ghyny
wpfuwwnnn  EOGpqwpinyh  gnudwpwihG  hgnpnepynlGGbpp . Ywfujwé  npuph  onh
ptindwuwnhdwbOhg hnjwgdwl hwiwlwnpgh pwgwyuwjnipjwl b wriwjnipjwb nbwpbph
hwiwp: Uuwbu 4.6 pwlwdlh dhongny Ywpbih £t hwdb hgnpnipjnitlp wnwlg



hnjwgiwl hwdwywpgh, huy 4.7 pwlwdund hnjwgiwl hwiwywpgh wfuwwnmwbph
nGwpnc:
N=-1,11*t+230,4, (4.6)
Np=-0,98*t+236,4: 4.7)

4.3 4SS YniyptiunplGtipééynn onh 9pwiyhb G2nLwwwwniwl hwdwlywpgh Yhpwrdwh
nbGfuGhjwunlnbuwywb hwdwpyp (6pREU-h ophlGuyh Ypw)

4SS Undwpbtunp GGpé6éynn onh hndwgiwl hwiwlwnpgbph Yhpwrbinipjw
nbhuGhywywb L wadwnwbgnipjwl uwhdwOGbph dwuhlO dwOpwdowulb GEpYwjwgyb)
wnwohl qfunid: Ujdd nhunwpytibp npwbghg opwihl d2nwwwnmdwl hwdwlwnpgh®
Yhpwnbihnipjwb whwytnnipjwb uwhdwbGGpp: Puphl W2nwwwnidwlb hwdwlwpgh
w2fuwwnwlph dwiwbwy Swiuudnid £ L. tGGpghw L phdhwwbu dwppdwd onip, npp
wwuwnpwuwnynid £ yuywbh phihwlywb wpnmwpwdwuned, hoswtu Gwb hwdbpyw yuntb hp:
Rwidwlwpgh yhpwrdwb ogniinp hwlnhuwlnid £ npw ptipwé hgnpnepjwlb wybjwgdiwl
hwyhl wpnwnpwé k. tGGpghwb: Iwdwlwnpgh nwpbywh pwhwgnpédwb dwfuubiph
hwiwp Yupbih Eaopby

3=0*K+3, (4.8)
npwntin 3-0 nmwpblywb dwhuubpb GG, o-0 uwhww| GepnpnudGtph GigbGowb gnpéwyhgl
£, K-G0 ywwhww GGpnpnedbtipp, 9-0 mwptlywb whwqnpéiwb dwfuubinp:

Injugiwl hwdiwlwpgh uwnbnéwé hwybpyw] GYwdnwnp (M) Y hGh npw
w2fuwwnwlpny wwjpowlwynpwsé wybp wpunwnpwdé L. tGGpghwih Jwdwnphg
qhjwgwd GYwdnuwnp:

IndJwgiwl  opwhlt  donwwwnidwld  hwdwlwpgh  wnGnwywjdwb  wnpdbpp
hwqwpyynid £ pun tpuwbpunwiht qGwhwwndwb wpdbph, npp Ywqdnd £t 4 $4dwn
mbnwywjdwd hgnpnipjwl pun OGwfuwqéwihlG hgnpnipjwb [96]: UjuhGpl, GpREU-h
nbwpntd wyn hgnpnepjntlp Yuagdnd £ 172000 44, npp hwlGnhuwGnud £ dhwjl GSS-h
hanpnipynilp, pwGh np hnjugdwl hwiwlwnpgh dup Ywfuwdé sk @SS-h hwdwlygywoé
wd wwpq ghyind wfuwwnbint thwuwnhg: IGnbwpwp hnjugiwl hwdwlwnpgh
nbnwywjiwb wpdtpp Y hGh 330,24 ds4. np:

K=330240000 np.

Swptlywb whwanpéiwl dwiuubph L hwybpyw| GwdnunGtph hwdwnp Ywpnn GGp

anG|’



9 =0,+0 9+ 3, (4.9)

O =Wi*cy T, (4.10)
3 9 =Gy*c,'T, 4.11)
9y =Gp.y.*cyT, (4.12)

M =M, (4.13)
My, =AN*cy*T, (4.14)

npinbn 1 -0 hnwgiwl hwdiwywpagh Yhpwrdwb wnbnnnipjntGa £, AN-p hnjugdw(
hwidwlwngh Yhpwrdwlb hGnbwbpnd wybiwgwd hgnpnipjwlb swhG £ (Ydw), cy-0 k).
tGtpghwyh hGplwndtpp (nn), co-0 phihwwbu dwppdwé onh hlplwndtpl £ (nn), cy-b
qwntithph qhGG £ (np), Wy-0 hnjugdwl wnbnwywjwbph hgnpnipyntbl £ (Y4dwn), Ge-G
hnquwgdwl hwdwp Swfuudnn oph pwlwynipyntGl k£, Gpy-0 hwdbpw) Swfuuynn
Junbhph pwGwlyh k:

Lhipwwbu wnwagnpydwsé oph  hlplhwndtipp hwadwnyyty t Ipwqnwbh 5-pn
tGGpgwpnynd wnbinwywywéd phiwlywl wpunwnpwiwuh wnwgpyiwb nbnuywjwbph
nwbGpph hpdwb Jpw: Rwbh np Juwywbh uwlwqlh dby wpnbl huy GGpwnjwé
wpwnwnpynn phipwwbiv wnwagpydwé oph hGplwnpdtipp, L, nph dte hp htipphl dwnlnud
GG ppopwlwl wpunwnpwiwuntd  wnbnulwywéd uwppwynpndlbph  Juwhuw
GGpnpnuabbpp, wdnpunmhqughnt  dwfuubpp L wyl, nwwmph  funbwy hnuwgdwh
hwiwywpgh hwdwp oquwagnpéynn  9oph  hGplwpdbpp wwpgbint  Guwwwnwyny
wlhpwdtyn £ hwydwpyt; dhwyd wwhwbpynn hwdbpw| oph wpunwnpnipjwlb Ypw
Swfuuynn Gynepbipp L hned 9ph qGGpp htinn juwJwd Swiuubpp:

Uyuwhuny, puwn Ipwqnubh 5-pn EGEpqupnynd imbnwywjywd oph wnwagpydwh
nbnwluwjwlph wGaGwgpwihlG wndjwiGhph 1000 & phihwwbu wnwugpywsé onip
unwGwint hwdwp wGhpwdtin £ 1650 2 hnd pnip: Npwtu  hned onip GplawGh QE4-p
ogwnnwagnnpontd £ fudtiint onip, nph wpdbipp pun GpLlwb2nip pGyGpnLpjwb Ynnihg
uwhowGws uwlwqlh Ywqontd t 170,256 /4P Mwhwboynn gnu pwnwnphsGtiph
pwlwybtpp L wpdtplbpp GEpYwjwgywé Ga wn.4.6 —nLu:



Unyniuwy 4.6.
Lhihwwbiu wnwapyyws (BU) oph ywwnpwuwndwb hwiwp wohpwdbwn ntqtiGnbtph
wadwlnabtpp, wwhwboynn pwlwynepyntGbtbpp L qbtipn:

2U onh ﬂhwqh;mh
on qhGp 747 U
wpwwnpnipjwlb | PwGwynipynih ﬂg}jaunqiﬁmhhﬁ onh
hwdwn nhqhin wnunwnnnLp-
wwhwboynn jwl hwdwnp
nbwqblunh swih. swith. swith.
whdwhnd dhwy | dGénip. | dhwy | dGénLp. | dhw | dG6NLp.
np np ynp
IhwynpnphnOCT
1 11086-76 on/iP | 9,720 | $/4q | 0,660 | np/P| 3,1
o | thOnGween, TOCT | g | 23600 | §/4g | 3240 | P | 36,7
Lwuwnphniip

3 | hhnpnpuhn, whGn | /4P | 21,400 | $/4q | 1,800 | no/P| 18,5
FOCT 2263-79
Lwwnphnidh
4 | dbwwphunt$hin | gP | 1,530 | $/4q | 3,600 | npiP | 2,6
OCT 11683-76
Unwantjwbwn’
5 wyntihGh gn/iP | 58200 | $/Lq | 2,700 | pp/iP| 75,4
wnihnpuhp|nphn
6| puuntiwomdbi | g | 2020 | €/4a | 3444 | ppiP| 53
Pwpwphyp 2.5" x | Aun/ 5/

40" 5 s Fo| 000067 1 s

48,00 | n/P| 154

Un.4.6—nd pbpywé nuwibtph L hnd oph qOGh hhdwG Jpw hwdupybtph
wpryntGentd 1 ¢ phihwwbu wnwapyws oph hwdwn unwnud bGp 438 7/4° wpdbpp:
Injugliwl nbnuywjywbph hgnpnipjwb (W) hwidwp Ywpbih t gpb)
W, =k B,

(4.15)

Znym,’
npwnkin P-G 9nipp dnnn wndwh quipquignpwé 8Ganudh b, Dw, Gy-G oph dwhuub b, P//4ny,
k-0 2wpdhsh wwowph qnpéwyhgb t, 7,-06 L 7,-0 hwiwwwwnwufuwbwpwp wyndwh L
2wndhsh OQQ-GGnG GG:

Epp dhohl gbpdwuwnhdwbp hwdwuwp £ 17,5 °C, mbnqulwbnipniGp” 1=1279,2
dwd: Mndwh qupqwgnpwd 80ndp wybpwb £, hGspwl, np wwhwbpynid £ hnwgiwh
hwiwywpgh wzfuwwnwbph hwiwp® P=20 UNuwr. k-G plnnibnud Gop hwdwuwnp 1,2-h:
Ny=85 %, 71,786 %: Cuwnn 91,202 47w pwpnibinpwlwl 660wl L 49,857 %

hwpwpbpwywb funGwynipjwb, 17,5 °C sbpdwunhdwGht hwiwwwwnwufuwb funGuwy



pindwswthh gtipdwunhswlp hwywuwn t 11,54 °C: G,-0 hwpqwnpytiint hwidwn, ognynid

GOp ASS obtipdwjht hw2dwpyh wignphpihg, npnud hwdwnyyned £ indjw dplninpunwhb
wuwjydwbbbph nbwpntd onh qulqwdéwihb funbwdwwwpnibwynepynilp® dye-0: Lwfu
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<U45L4uUoc

<wybjwé 1. SS-h Latipgtunhjuywb gnigwbhGtph hwdwnyh épwghp

Public Class Forml

Declare Function wspPST Lib "OKAWSP6.d11" (ByVal t As Double) As
Double

Declare Function wspPSUBT Lib "OKAWSP6.d11" (ByVal t As Double) As
Double

Declare Function wspgNEWID Lib "OKAWSP6.d11" () As Integer

Declare Function wspgHIDT Lib "OKAWSP6.dl1l" (ByVal id As Integer,
ByVal t As Double) As Double

Declare Function wspgADDGASV Lib "OKAWSP6.d11" (ByVal id As Integer,
ByVal id As Integer, ByVal v As Double) As Double

Declare Function wspgADDGASM Lib "OKAWSP6.d11" (ByVal id As Integer,
ByVal id As Integer, ByVal m As Double) As Double

Declare Function wspgSIDT Lib "OKAWSP6.d11" (ByVal id As Integer,
ByVal t As Double) As Double

Declare Function wspgVFIDID Lib "OKAWSP6.d11" (ByVal id As Integer,
ByVal id As Integer) As Double

Declare Function wspgMMID Lib "OKAWSP6.d11" (ByVal id As Integer) As
Double

Declare Function wspgTIDPS Lib "OKAWSP6.dl1l" (ByVal id As Integer,
ByVal p As Double, ByVal t As Double) As Double

Declare Function wspgTIDH Lib "OKAWSP6.dl1l" (ByVal id As Integer,
ByVal h As Double) As Double

Declare Function wspgSIDPT Lib "OKAWSP6.dll" (ByVal id As Integer,
ByVal p As Double, ByVal t As Double) As Double

Declare Function wspgVIDT Lib "OKAWSP6.dl1l" (ByVal id As Integer,
ByVal t As Double) As Double

Declare Function wspgVIDPT Lib "OKAWSP6.dll" (ByVal id As Integer,
ByVal p As Double, ByVal t As Double) As Double

Dim aCH4() As Double = {146.696186 * 10 ~ @, -65.6744186 * 10 ™ O,
20.2698132 * 10 ~ @, -4.20931854 * 10 ~ O, 0.606743008 * 10 ™ 0, -
0.0612623969 * 10 ~ O, 4.30969226 * 10 ~ -3, -2.06597572 * 10 ~ -4,
6.4262581 * 10 ~ -6, -1.1680563 * 10 ~ -7, 9.4095893 * 10 " -10}

Dim bCH4() As Double = {-209.233731 * 10 ~ 9, 206.925203 * 10 ~ @, -
135.704831 * 10 ~ @, 56.4368924 * 10 ~ 0, -13.4496111 * 10 ~ O,
1.39664152 * 10 "~ 0}

Dim POCH4 As Double

Dim TOCH4 As Double

101325 'Pa‘’
100 'K’



Dim MMCH4 As Double = 16.0426

Dim Rg As Double = 8.31451

Dim RCH4 As Double = Rg / MMCH4

Dim S@ _CH4 As Double = 17.9779 * RCH4

Dim ho_CH4 As Double = 3.9823 * RCH4 * TOCH4
Dim delta As Double = 0.001

Public Function Cp@_CH4_t(ByVal T As Double) As Double
Dim aSum As Double 0
Dim bSum As Double = ©
Dim TR As Double = T / TeOCH4
For i = @ To 10
asum += aCH4(i) * (TR ~ i)
Next
bSum = ©
For i =1 To 6
bSum += bCH4(i - 1) * ((1 / TR) ~ i)
Next
Return (aSum + bSum) * RCH4
End Function

Public Function h@ _CH4 t(ByVal T As Double) As Double
Dim integral As Double = @
For i = TOCH4 To T Step delta
integral += Cp@_CH4_t(i) * delta

Next
Return (integral + he_CH4)
End Function
Public Function S@ CH4 t(ByVal T As Double) As Double
Dim integral As Double = ©
For i = TOCH4 To T Step delta
integral += Cp@ _CH4_t(i) / i * delta

Next
Return (integral + SO _CH4)
End Function

Public Function S@ _CH4 p t(ByVal T As Double, ByVal P As Double) As
Double

Return (SO _CH4 t(T) - RCH4 * Math.Log(P / POCH4))
End Function

Public Function Secant(ByVal P As Double, ByVal T As Double, ByVal SO
As Double)
Dim x(7) As Double
x(1) = 100
x(2) = 700
'Dim SO As Double = S@ CH4 p t(T, P)



For n = 2 To 6
'x(n + 1) = x(n) - (x(n) ~7 -1000) / ((x(n) ~7 - x(n - 1)
~7) /7 (x(n) - x(n - 1)))
x(n + 1) = x(n) - (S@_CH4 p t(x(n), P) - S0) /
((S@_CH4 p t(x(n), P) - SO CH4 p t(x(n - 1), P)) / (x(n) - x(n - 1)))

Next
Return x(7)
End Function

Private Sub Forml_Load(sender As Object, e As EventArgs) Handles
MyBase.Load

End Sub

Private Sub Buttonl Click(sender As Object, e As EventArgs) Handles
Buttonl.Click

Dim inp_T_d_od As Double = TextBox_T_d_od.Text

Dim inp_P_d_od As Double = TextBox_P_d od.Text

Dim inp_fi_d_od As Double = Textbox_fi_d_od.Text

Dim inp_Q _s b As Double = Textbox Q s b.Text

Dim inp_P_v As Double = Textbox_P_v.Text

Dim inp_t_v As Double = Textbox_t_v.Text

Dim inp_Delta P_v_k As Double = Textbox_Delta P_v_k.Text
Dim inp_Pi_k As Double = Textbox_Pi_k.Text

Dim inp_t_GT As Double = Textbox_t_ GT.Text

Dim inp_etta_k As Double = Textbox_etta_k.Text

Dim inp_etta_GT As Double = Textbox_etta GT.Text

Dim inp_etta_v_k As Double = Textbox_etta_v_k.Text

Dim inp_delta P_a_k As Double = Textbox_delta P_a k.Text
Dim inp_delta_P_GT As Double = Textbox_delta P_GT.Text
Dim inp_etta_a_k As Double = Textbox_etta_a_ k.Text

Dim P_s d od As Double = wspPST(inp T d od + 273.15)

Dim d_d_od As Double = (wspgMMID(4) / wspgMMID(13)) * inp_fi d od
*P s dod/ (inp_ P_d od * 101325 - inp fi d od * P. s d od / 100) / 100

Dim x1_d_od As Double = d_d od / (1 + d_d_od) * 100

Dim x_d_od As Double = wspgMMID(13) / wspgMMID(4) * d_d_od * 100

Dim id_d_od As Integer = wspgNEWID()

Dim xx As Double = wspgADDGASV(id d od, 13, 1)

Dim yy As Double = wspgADDGASV(id d od, 4, x_d _od / 100)

Dim h_d_od As Double = wspgHIDT(id d od, inp T d od + 273.15) /
1000

Dim s_d_od As Double = wspgSIDPT(id _d od, inp P_d od * 101325,
inp T d_od + 273.15) / 1000

Dim ro_od As Double = 1 / wspgVIDPT(id _d od, inp P_d od * 101325,
inp_ T d od + 273.15)

Dim x02v As Double = wspgVFIDID(13, 1) * 100



Dim xH2v As Double = wspgVFIDID(13, 12) * 100

Dim VOn As Double = 2 / (x02v - 0.5 * xH2v) * 100

Dim VON2n As Double = wspgVFIDID(13, @) * Von

Dim VOCO2n As Double = wspgVFIDID(13, 3) * von + 1
Dim VOH20n As Double = VOn * xH2v / 100 + 2

Dim VOArn As Double = wspgVFIDID(13, 10) * V@n

Dim MMtopl As Double = MMCH4 ‘gm/mol’

'Dim rotopl As Double = MMtopl * PO / Rm / TO * 1000
Dim L® As Double = VOn * wspgMMID(13) / MMtopl * 1000
Dim id@ps As Double = wspgNEWID()

Dim N2add As Double = wspgADDGASV(id@ps, ©, VON2n)
Dim CO2add As Double = wspgADDGASV(id@ps, 3, VOCO2n)
Dim H20add As Double = wspgADDGASV(id@ps, 4, VOH20n + Von *

x_d od / 100)

Dim Aradd As Double = wspgADDGASV(id@ps, 10, VOArn)
Dim h@psngt As Double = wspgHIDT(id@ps, inp_t GT + 273.15) / 1000

Dim pnk As Double
Dim snk As Double

inp_P_d_od * 0.101325
wspgSIDPT(id_d_od, pnk * 1000000, inp T d _od

+ 273.15) / 1000

1000) -

273.15)

1000000)

273.15,

1000

Dim Pkk As Double = inp_Pi_k * pnk

Dim tkk® As Double = wspgTIDPS(id_d_od, Pkk * 1000000, snk *
273.15

Dim hkk® As Double = wspgHIDT(id _d od, tkke + 273.15) / 1000
Dim deltahk® As Double = hkke - h_d od

Dim deltahk As Double = deltahke / (inp_etta_k / 100)

Dim hkk As Double h d od + deltahk

Dim tkk As Double = wspgTIDH(id_d _od, hkk * 1000) - 273.15
Dim skk As Double wspgSIDPT(id_d_od, Pkk * 1000000, tkk +
/ 1000

'vareliqgayin kompresori hashvark'

he CH4 t(inp_t_v + 273.15)
SO CH4 p t(inp_t_v + 273.15, inp P_v *

Dim hvar As Double
Dim svar As Double

Dim ptopl_ks As Double = Pkk + inp_Delta_P_v_k

Dim tktke As Double
svar)

Dim hktke As Double = h@ CH4 t(tktke)

Dim deltahtk® As Double = hktke@ - hvar

Dim deltahtk As Double = deltahtk® / (inp_etta v _k / 100)
Dim hktk As Double = hvar + deltahtk

Secant(ptopl ks * 1000000, inp t v +

"Ayrman kamerayi hashvark'
Dim hnv_ngt As Double = wspgHIDT(id d od, inp_t GT + 273.15) /



'l kg vareliqi bervac odi avelcuki gorcakic@'

'bolor entalpianer@ berenq Qsb-i voroshman jermastichanin, ayn e
0 °C'

Dim h@ _CH4 gsb As Double = h@ CH4 t(273.15)

Dim hkk_gsb As Double = hkk - wspgHIDT(id d od, 273.15) / 1000
"kJ/kg'

Dim h@_ps ngt gsb As Double = h@psngt - wspgHIDT(id@ps, 273.15) /
1000 'kJ/kg’

Dim hktk_gsb As Double = hktk - h@_CH4 _gsb 'kJ/kg'’

Dim hnv_ngt_gsb As Double = hnv_ngt - wspgHIDT(id_d_od, 273.15) /
1000 'kJ/kg'

Dim gv_izb As Double = (hkk_gsb * L® - (L@ + 1) * ho_ps ngt gsb +
hktk_gsb + inp_Q_s b * 1000 * inp_etta_a_k / 100) / (hnv_ngt_qgsb -
hkk_qgsb)

Dim alfaks As Double = (gv_izb + LO) / LO

Dim idr As Integer = wspgNEWID()

Dim vv As Double = wspgADDGASM(idr, id_d_od, gv_izb)

Dim ccc As Double = wspgADDGASM(idr, id@ps, (LO + 1))

Dim hngt As Double = wspgHIDT(idr, inp_t_GT + 273.15) / 1000
'kJ/kg'

'balansi stugum'
Dim hnt_gsb As Double = hngt - wspgHIDT(idr, 273.15) / 1000

Dim stugl As Double = (((gv_izb + LO@) * hkk_gsb + hktk_gsb +
inp Q s b * 1000) * inp etta_a k / 100 - (gv_izb + L@ + 1) * hnt_qgsb) /
(gv_izb + L® + 1) / hnt_gsb

Dim stug2 As Double = ((1 + alfaks * L@) * hnt_gsb - (alfaks * Lo
* hkk_gsb + 1 * (inp_ Q s b * 1000 + hktk gsb)) * inp etta a k / 100) /
(alfaks * L@ * hkk_gsb + 1 * (inp_Q s b * 1000 * inp_etta_a k / 100 +
hktk_gsb))

'Gazaturbini hashvark'

Dim pngt As Double
Dim sngt As Double
273.15) / 1000 'KJ/(kgecC)'
Dim pkgt As Double

Pkk * (1 - inp_delta P_a k / 100) 'MPa’
wspgSIDPT(idr, pngt * 1000000, inp_t_ GT +

inp P d od * ©0.101325 * (1 + inp_delta P GT

/ 100) 'MPa’
Dim tkgt® As Double = wspgTIDPS(idr, pkgt * 1000000, sngt * 1000)
- 273.15 '°C’

Dim hkgto® As Double

wspgHIDT(idr, tkgte + 273.15) / 1000
'Kj/kg’

Dim deltahgt® As Double = hngt - hkgte 'Kj/kg’

Dim deltahgt As Double = deltahgte * inp_etta_GT / 100 'Kj/kg'’



273.15)

Dim hkgt As Double
Dim tkgt As Double
Dim skgt As Double
/ 1000 'KJ/(kge°C)®
Dim X02_yx As Double

'GTT-1i energetikakan

Dim
Dim

Ni_k As Double =
Ni_gt As Double

MVt/ (kg/v)"

Dim
Dim
Dim
Dim
Dim

Ni_vk As Double
Ni As Double = N
etta_gtt As Doub
Ni_od As Double
Q As Double hk

hngt - deltahgt 'Kj/kg'
wspgTIDH(idr, hkgt * 1000) - 273.15 '°C’
wspgSIDPT(idr, pkgt * 1000000, tkgt +

wspgVFIDID(idr, 1) * 100 '%'

cucanishneri hashvark'

deltahk * (gv_izb + LO) / 1000 ' MVt/(kg/v)'
deltahgt * (gv_izb + L0 + 1) / 1000 '

deltahtk * 1 / 1000 " MVt/(kg/v)'
i gt - Ni_k - Ni_vk / 0.96

le = Ni / inp Q. s b * 100

= Ni / (LO + gv_izb)

gt * (428.652016738557 * ro_od +

428.652016738557 * ro_od / (L@ + gv_izb))

TextBox_Ro.Text ro
TextBox Q.Text Q

TextBox_N_i k.Text

TextBox N i GT.Text
TextBox_N_i_v_k.Text
TextBox N _i.Text = N
TextBox _etta GTT.Tex
TextBox_Ni_od.Text

TextBox_Stug 1.Text
TextBox_Stug 2.Text
TextBox_d d od.Text
TextBox_N_GT.Text

End Sub
End Class

_od

Ni_k
Ni_gt
Ni_ vk

i
t

etta_gtt
Ni_od

stugl

stug2

d_d_od
428.652016738557 * ro_od * Ni_od



Glwytwnwihb ndyu GGp

pwquj hl 8GynLd

PO_CH4 :=101325Pa
pwquwyj hG sEpdwunhdwb
TO_CH4 = 100‘K
anLtUniywp Yz2hn

gm

MMCH4 = 160426m0|e

wnbuwlwpwp ququjhl hwuwnwunni b

joule
8.31451
Repys = moleK Rop = 518.2769625871118-¢
T T MM cre m o kg -K <wybJwsé 2. Ubpwilh

inbGuwywpuwp tGinpnwhw pwqujhb pbGpdwunhdwbh nGwpentd

joule
S0 CH4 = 17.9779R:h. So cHa =9317.53140569483 oK

inbGuwywnpuwp thpwiwhw pwquw)hb pbGpdwunhdwbh nGwpntd

Po_cHa = 3.9823RcH4 To_chHa opdwdhghywywb wwpwikinptph hwqwnpyh

103-joule 6nwaghn
hg cHsa =206.3934348110656——
- kg

hwywuwndwb gnpéwyhgltin

146.6961861 00

-65.674418610° .
20.269813210° -209.23373M10

_4.2093184810° 206.92520310°

0.60674300810°

| . ~135.7048310"
acH4=| -0.061262396490

bohg = 0
4.3006922610 ° 56.436892410
_4
20659757210 13.449611410°
6.426158410 ° 0
1 1es0seag”7 1.3966415210

10

9.409589310



dnLlyghwbbph inGupn

inbGuwlwpwp hgnpwp 9Gpdntbwynipynch

CpocHat (T) = |TR«
To_cHa4
10 . 6 N
|
Res « Z (acmi~TR) + Z bcmi_1~(ﬁj
i=0 i=1
Res-RCH4
inbuwywpwp tGpwwhw
T
ho cHa +(T) 5=J' Cp_ 0 cHa4_t (1) dt+ hg chy
To cHa

inGuwywnpuwn tGunpnwhw

T
Cp 0 cH4 t (1)
So_cHa.t(T) = — dt + sg cha

To cH4

P
Po_cHa

Scra pt (P, T) =80 cha t (T) - RCH4'|n(

Swywnwnd $nLlyghwltn

pbGpdwuwnhdwbn, npwtu $nLbyghw nbuwwnwn EGpwiwhwihg

t « 298.15K
root(hg cra ¢(t) —hO. 1)

tcHa no(h0) ==




ptipdwuwnhawlp, nnwtu $nLGyghw inbuwlwpwp tGnpnwhwihg

toha so0) == |t < 298.15K
root(sg_cra t(t) — 0. 1)
toha ps(P-$0) = [t « 298.15K

r00Y(ScHa_pt(P>1) — 0 ,t)

Qpwdhywlywb Yuiuncdbtip
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<wybwé 3
Unyntuwy 1.

Mwnq ASS-h fuGpgbnhywywb gnigwbh06ph Ywiujwénipinibp @SS Yndwpbunp GGpééynn onh hwpwptpwyw
funGwynipyntbhg, Yndwptunpned 2620wl pwpdpwgiwl wunhdwbh tnwnptn wpdtpltnh nGwpnid

my [ t, C | 0,% | Ni_y, Udw/(ygA)) | Ni_asS, Udwn/(4gA]) | Ni_dy, Udwn/(4gh]) | Ni, Udw/(4gh]) | Ni_QS_on, Udwn/(yg/]) | naSS, % | t aS_h, °C
13|15 | 0 17.263 34.432 0.235 16.924 0.356 33.816 | 627.780
13| 15 | 10 17.252 34.418 0.235 16.921 0.356 33.810 | 627.966
13| 15 | 20 17.241 34.404 0.235 16.918 0.356 33.804 | 628.151
13| 15 | 30 17.231 34.390 0.235 16.915 0.357 33.798 | 628.336
13| 15 | 40 17.220 34.377 0.235 16.912 0.357 33.793 | 628.521
13| 15 | 50 17.209 34.363 0.235 16.909 0.357 33.787 | 628.706
13| 15 | 60 17.198 34.349 0.235 16.906 0.358 33.781 | 628.890
13| 15 | 70 17.187 34.335 0.235 16.903 0.358 33.775 | 629.075
13| 15 | 80 17.176 34.321 0.235 16.900 0.358 33.769 | 629.259
13| 15 | 90 17.165 34.307 0.235 16.897 0.359 33.763 | 629.443
13 | 15 | 100 17.154 34.294 0.235 16.894 0.359 33.757 | 629.627




M| teC | e% | | q':'n'/—(lﬁ’q/ g | NZ9S, Uy | N, Usnd(igh)) | Ni Ustan/(4g) | NS on, Ustun/(4ghd) ”ij/fs’ t—cfsc—h’
14| 15 | 0 18.259 35.722 0.248 17.204 0.356 34.377 | 614.426
14| 15 | 10 18.247 35.707 0.248 17.202 0.356 34371 | 614.614
14| 15 | 20 18.235 35.692 0.248 17.199 0.356 34.366 | 614.801
14| 15 | 30 18.223 35.678 0.248 17.196 0.357 34.360 | 614.989
14| 15 | 40 18.211 35.663 0.248 17.193 0.357 34354 | 615176
14 | 15 | 50 18.199 35.648 0.248 17.190 0.358 34.349 | 615.363
14| 15 | 60 18.187 35.633 0.248 17.187 0.358 34.343 | 615.550
14| 15 | 70 18.175 35.619 0.248 17.184 0.358 34.337 | 615.736
14| 15 | 80 18.164 35.604 0.248 17.182 0.359 34332 | 615.923
14| 15 | 90 18.152 35.589 0.248 17.179 0.359 34.326 | 616.110
14 | 15 | 100 | 18.140 35.575 0.248 17.176 0.359 34.320 | 616.296
M| toC [ 0% | q':'n'/—(ﬁ’q | NZOS, Ut/ | NS, Usta(yghd | Ni, Uslnd(gghl) | NLOS_on, Ulani(hgh) ”Cﬁ/fs’ t—cfz,—h’
15| 15 | 0 19.233 36.957 0.261 17.451 0.355 34.870 | 602.171
15 | 15 | 10 19.221 36.941 0.261 17.448 0.356 34.865 | 602.360
15 | 15 | 20 19.208 36.925 0.261 17.446 0.356 34.859 | 602.550
15 | 15 | 30 19.195 36.910 0.261 17.443 0.356 34.854 | 602.739
15 | 15 | 40 19.182 36.804 0.261 17.440 0.357 34.848 | 602.928
15 | 15 | 50 19.169 36.879 0.261 17.437 0.357 34.843 | 603.117
15 | 15 | 60 19.156 36.863 0.261 17.435 0.358 34.837 | 603.306
15 | 15 | 70 19.144 36.848 0.261 17.432 0.358 34832 | 603.495
15| 15 | 80 19.131 36.832 0.261 17.429 0.358 34.826 | 603.683
15| 15 | 90 19.118 36.817 0.261 17.426 0.359 34821 | 603.872
15 | 15 | 100 | 19.105 36.801 0.261 17.424 0.359 34.815 | 604.060
m|teC| 0% | qthl/_(lﬁl;/ g | NZ9S, Uaiyg/) | N, Usni(yghl) | Ni Ulan/(hgl) | NS on, Ustan/(4ghd) ”?;/fs' t—cfsc—h’




16| 15 | 0 20.190 38.144 0.273 17.669 0.354 35.306 | 590.859
16| 15 | 10 20177 38.127 0.273 17.666 0.355 35300 | 591.050
16 | 15 | 20 20.163 38.111 0.273 17.664 0.355 35205 | 591.241
16 | 15 | 30 20.149 38.095 0.273 17.661 0.356 35200 | 591.432
16 | 15 | 40 20.135 38.078 0.273 17.658 0.356 35284 | 591.623
16 | 15 | 50 20.121 38.062 0.273 17.656 0.356 35279 | 591.814
16 | 15 | 60 20.108 38.045 0.273 17.653 0.357 35274 | 592.005
16| 15 | 70 20.094 38.029 0.273 17.651 0.357 35260 | 592.195
16 | 15 | 80 20.080 38.013 0.273 17.648 0.357 35263 | 592.386
16| 15 | 90 20.067 37.996 0.273 17.645 0.358 35258 | 592.576
16| 15 | 100 |  20.053 37.980 0.273 17.643 0.358 35253 | 592.766
mteC| 0% | qlll/_(gly g | LGS, Utw/(UghD) | N, Ulind(gh)) | Ni Uslnd(gq/l) | NL9S_on, Ust(4q/d) ”qo/fs’ t—oj‘z—h’
17 15 | 0 21132 39.290 0.285 17.862 0.353 35601 | 580.367
17 | 15 | 10 21117 39.273 0.285 17.859 0.354 35.686 | 580.559
17 | 15 | 20 21102 39.256 0.285 17.857 0.354 35681 | 580.752
17 | 15 | 30 21.088 39.238 0.285 17.854 0.354 35676 | 580.945
17 | 15 | 40 21.073 39.221 0.285 17.852 0.355 35671 | 581.137
17 | 15 | 50 21.058 39.204 0.285 17.849 0.355 35.665 | 581.330
17 | 15 | 60 21.043 39.187 0.285 17.847 0.355 35660 | 581.522
17 | 15 | 70 21.029 39.169 0.285 17.844 0.356 35655 | 581.714
17 | 15 | 80 21.014 39.152 0.285 17.842 0.356 35650 | 581.906
17 | 15 | 90 20.999 39.135 0.285 17.839 0.357 35.645 | 582.098
17 | 15 | 100 | 20.985 39.118 0.285 17.836 0.357 35640 | 582.290
m|teC| 0% | ‘{Tr:/_(%q/ g | N9S, Uy | N, Usand(igh)) | Ni Ustan/(4gi) | NSS_on, Ustun/(4ghd) ”Cﬁ/fs’ t—cfi:h’
18] 15 | 0 22.060 40.400 0.296 18.033 0.352 36.032 | 570.501
18 15 | 10 22.044 40.382 0.296 18.030 0.352 36.027 | 570.785




18 15 20 22.028 40.364 0.296 18.028 0.352 36.022 | 570.980
18 15 30 22.012 40.346 0.296 18.025 0.353 36.018 | 571.174
18 15 40 21.997 40.328 0.296 18.023 0.353 36.013 | 571.368
18 15 50 21.981 40.310 0.296 18.021 0.354 36.008 | 571.561
18 15 60 21.965 40.292 0.296 18.018 0.354 36.003 | 571.755
18 15 70 21.950 40.274 0.296 18.016 0.354 35.998 | 571.949
18 15 80 21.934 40.256 0.296 18.013 0.355 35.994 | 572.142
18 15 90 21.918 40.238 0.296 18.011 0.355 35.989 | 572.335
18 15 100 21.903 40.220 0.296 18.008 0.355 35.984 | 572.528
Unyniuwy 2.

Mwnq @SS-h [uGpgtinhywywb gnigwbh06ph Ywiujwonipinip Yndwptunp GEpéédynn onh obpdwunpdwbhg, YndwpGunpnid
£020wl pwpépwgiwb tnwnppebp wunhfwbabEph nGwpntd

Ni_y, . . . Ni_aS_ox, nass, t GS_h,
o 0,

my | th,°C | ¢0,% U/ (/) Ni_aS, Udw/(4g/) | Ni_d4, Udw/(4gh]) | Ni, Udwn/(4g/]) Udn/(lgqhl) % oC
13 15 60 17.198 34.349 0.235 16.906 0.358 33.781 628.890




13| 16 | 60 17.293 34.420 0.235 16.883 0.357 33.734 | 628.925
13| 17 | 60 17.388 34.492 0.235 16.859 0.355 33.687 | 628.964
13| 18 | 60 17.483 34.563 0.235 16.835 0.354 33.640 | 629.008
13| 19 | 60 17.578 34.634 0.235 16.811 0.353 33.502 | 629.056
13| 20 | 60 17.673 34.706 0.235 16.787 0.352 33.544 | 629.109
13| 21 | 60 17.768 34.777 0.235 16.763 0.351 33.495 | 629.167
13| 22 | 60 17.864 34.848 0.235 16.739 0.350 33.447 | 629.231
13| 23 | 60 17.959 34.918 0.235 16.714 0.349 33.398 | 629.300
13 | 24 | 60 18.054 34.989 0.235 16.690 0.348 33.348 | 629.375
13| 25 | 60 18.150 35.060 0.235 16.665 0.346 33209 | 629.456
13| 26 | 60 18.245 35.130 0.235 16.640 0.345 33.249 | 629.544
13| 27 | 60 18.340 35.200 0.235 16.614 0.344 33.198 | 629.639
13| 28 | 60 18.435 35.270 0.235 16.589 0.343 33.148 | 629.740
13| 29 | 60 18.530 35.339 0.235 16.563 0.342 33.006 | 629.849
13| 30 | 60 18.625 35.408 0.235 16.538 0.341 33.045 | 629.965
13| 31 | 60 18.720 35.477 0.235 16.512 0.340 32.993 | 630.089
13| 32 | 60 18.814 35.545 0.235 16.486 0.339 32.941 | 630.222
13| 33 | 60 18.908 35.613 0.235 16.459 0.338 32.888 | 630.363
13| 34 | 60 19.002 35.680 0.235 16.433 0.337 32.835 | 630.513
13| 35 | 60 19.096 35.747 0.235 16.406 0.336 32.782 | 630.673

M| toC | 9% | o q’ll/_(lﬁll | NZ9S, ULa/(ugh)) | N, Utn/(Ugh)) | Ni, Ul(ygh) IT:I—L(:;E:/?D ”Cf/fs’ t—cfsc—h’
14| 15 | 60 18.187 35.633 0.248 17.187 0.358 34.343 | 615550
14| 16 | 60 18.289 35.710 0.248 17.163 0.357 34204 | 615.584
14| 17 | 60 18.391 35.788 0.248 17.138 0.355 34244 | 615623
14| 18 | 60 18.493 35.865 0.248 17.113 0.354 34.194 | 615.666
14| 19 | 60 18.595 35.941 0.248 17.088 0.353 34144 | 615714
14| 20 | 60 18.697 36.018 0.248 17.062 0.352 34.093 | 615.767




14 21 60 18.800 36.095 0.248 17.037 0.351 34.042 | 615.825
14 22 60 18.902 36.172 0.248 17.011 0.350 33.991 | 615.888
14 23 60 19.004 36.248 0.248 16.985 0.348 33.939 | 615.958
14 24 60 19.107 36.325 0.248 16.959 0.347 33.887 | 616.033
14 25 60 19.209 36.401 0.248 16.933 0.346 33.835 | 616.114
14 26 60 19.311 36.477 0.248 16.907 0.345 33.782 | 616.202
14 27 60 19.414 36.553 0.248 16.880 0.344 33.729 | 616.297
14 28 60 19.516 36.628 0.248 16.853 0.343 33.676 | 616.399
14 29 60 19.618 36.703 0.248 16.826 0.342 33.622 | 616.508
14 30 60 19.720 36.778 0.248 16.799 0.341 33.568 | 616.625
14 31 60 19.822 36.852 0.248 16.772 0.340 33.513 | 616.750
14 32 60 19.923 36.926 0.248 16.744 0.339 33.458 | 616.884
14 33 60 20.024 37.000 0.248 16.717 0.338 33.403 | 617.026
14 34 60 20.125 37.073 0.248 16.689 0.337 33.347 | 617.177
14 35 60 20.226 37.145 0.248 16.661 0.336 33.291 | 617.337
| tmeC | 0% | qll'/—(llll’q/ n Ni_asS, Udw/(jg/]) | Ni_du, Udw/(4q/]) | Ni, Udw/(4qh]) J}f{jﬁﬁgﬁ) n%/f > t‘%i;_h’
15 15 60 19.156 36.863 0.261 17.435 0.358 34.837 | 603.306
15 16 60 19.265 36.946 0.261 17.409 0.356 34.786 | 603.340
15 17 60 19.374 37.028 0.261 17.383 0.355 34.733 | 603.378
15 18 60 19.483 37.111 0.261 17.356 0.354 34.681 | 603.421
15 19 60 19.592 37.194 0.261 17.330 0.353 34.628 | 603.469
15 20 60 19.701 37.276 0.261 17.303 0.351 34.575 | 603.521
15 21 60 19.811 37.359 0.261 17.276 0.350 34.521 | 603.579




15 22 60 19.920 37.441 0.261 17.249 0.349 34.467 | 603.643
15 23 60 20.029 37.524 0.261 17.222 0.348 34.413 | 603.712
15 24 60 20.139 37.606 0.261 17.195 0.347 34.358 | 603.787
15 25 60 20.248 37.688 0.261 17.167 0.345 34.303 | 603.869
15 26 60 20.358 37.769 0.261 17.140 0.344 34.248 | 603.957
15 27 60 20.467 37.851 0.261 17.112 0.343 34.192 | 604.052
15 28 60 20.576 37.932 0.261 17.084 0.342 34.136 | 604.154
15 29 60 20.685 38.013 0.261 17.056 0.341 34.080 | 604.264
15 30 60 20.794 38.093 0.261 17.027 0.340 34.023 | 604.381
15 31 60 20.903 38.173 0.261 16.998 0.339 33.966 | 604.507
15 32 60 21.012 38.253 0.261 16.970 0.337 33.908 | 604.641
15 33 60 21.120 38.332 0.261 16.940 0.336 33.850 | 604.783
15 34 60 21.228 38.411 0.261 16.911 0.335 33.791 | 604.935
15 35 60 21.336 38.489 0.261 16.882 0.334 33.732 | 605.097
my | tn,°C | 0% Uq'l'/—(ﬁ’q ) UE@ZS(}/ ) UITI';/‘({;/ " Ni, Udw/(4q/]) | Ni_QS_on, Udwn/(hqh]) ”Cf/fs’ t‘%s(’;h’
16 15 60 20.108 38.045 0.273 17.653 0.357 35.274 | 592.005
16 16 60 20.223 38.134 0.273 17.626 0.355 35.220 | 592.038
16 17 60 20.339 38.222 0.273 17.599 0.354 35.165 | 592.076
16 18 60 20.455 38.310 0.273 17.571 0.353 35.110 | 592.119
16 19 60 20.571 38.399 0.273 17.543 0.352 35.054 | 592.166
16 20 60 20.687 38.487 0.273 17.515 0.350 34.998 | 592.218
16 21 60 20.804 38.575 0.273 17.487 0.349 34.942 | 592.276
16 22 60 20.920 38.664 0.273 17.459 0.348 34.886 | 592.339




16 23 60 21.037 38.752 0.273 17.430 0.346 34.829 | 592.408
16 24 60 21.153 38.840 0.273 17.402 0.345 34.772 | 592.484
16 25 60 21.270 38.927 0.273 17.373 0.344 34.714 | 592.565
16 26 60 21.386 39.015 0.273 17.344 0.343 34.656 | 592.653
16 27 60 21.503 39.102 0.273 17.315 0.342 34.598 | 592.749
16 28 60 21.619 39.189 0.273 17.285 0.340 34.539 | 592.851
16 29 60 21.735 39.276 0.273 17.256 0.339 34.480 | 592.961
16 30 60 21.852 39.362 0.273 17.226 0.338 34.420 | 593.079
16 31 60 21.967 39.448 0.273 17.196 0.337 34.360 | 593.205
16 32 60 22.083 39.533 0.273 17.166 0.336 34.300 | 593.339
16 33 60 22.199 39.618 0.273 17.135 0.335 34.239 | 593.483
16 34 60 22.314 39.703 0.273 17.105 0.334 34.178 | 593.635
16 35 60 22.428 39.787 0.273 17.074 0.333 34.116 | 593.798
T t,oC | 9% | qthl/_(lﬁl}/ 0 Ut'{\tl—/zsq/ D Ni_du, Udw/(4g/]) | Ni, Udw/(4q]) | Ni_QS_on, Udw/(g/]) ”?;‘/fs’ t‘%sc’;h’
17 15 60 21.043 39.187 0.285 17.847 0.355 35.660 | 581.522
17 16 60 21.166 39.281 0.285 17.818 0.354 35.603 | 581.555
17 17 60 21.289 39.375 0.285 17.789 0.353 35.546 | 581.592
17 18 60 21.412 39.469 0.285 17.761 0.351 35.489 | 581.634
17 19 60 21.535 39.563 0.285 17.732 0.350 35.431 | 581.681
17 20 60 21.658 39.657 0.285 17.702 0.349 35.372 | 581.733
17 21 60 21.782 39.751 0.285 17.673 0.348 35.313 | 581.791
17 22 60 21.905 39.845 0.285 17.643 0.346 35.254 | 581.854
17 23 60 22.029 39.939 0.285 17.614 0.345 35.195 | 581.923




17| 24 | e0 22.152 40.033 0.285 17.584 0.344 35.135 | 581.998
17 | 25 | 60 22276 40.126 0.285 17.554 0.342 35.075 | 582.079
17 | 26 | 60 22.400 40.219 0.285 17.523 0.341 35014 | 582.168
17 | 27 | 60 22,523 40.313 0.285 17.493 0.340 34.953 | 582.263
17 | 28 | 60 22647 40.405 0.285 17.462 0.339 34892 | 582.365
17 | 29 | 60 22.770 40.498 0.285 17.431 0.337 34.830 | 582.476
17 | 30 | 60 22.894 40.590 0.285 17.400 0.336 34768 | 582.594
17 | 31 | 60 23.017 40.682 0.285 17.369 0.335 34.705 | 582.720
17 | 32 | 60 23.140 40.773 0.285 17.337 0.334 34.642 | 582.855
17 | 33 | 60 23.262 40.864 0.285 17.305 0.333 34579 | 582.999
17 | 34 | 60 23.384 40.954 0.285 17.273 0.332 34515 | 583.152
17 | 35 | 60 23.506 41.044 0.285 17.241 0.331 34451 | 583315
M| t,oC | 0% | | t{thl/_(lﬁly N Ut'{\ﬂl—/ﬁfq/ o | NE U gg/l) | N Un(gg/) | NLSS_on, Ustu(ygh) ”Cf/fs’ t—cfsc—h’
18| 15 | 60 21.965 40.292 0.296 18.018 0.354 36.003 | 571.755
18| 16 | 60 22.095 40.391 0.296 17.988 0.353 35.944 | 571.788
18| 17 | 60 22.225 40.491 0.296 17.958 0.351 35.884 | 571.824
18| 18 | 60 22.355 40.591 0.296 17.928 0.350 35.824 | 571.866
18] 19 | 60 22.485 40.691 0.296 17.898 0.348 35763 | 571.913
18| 20 | 60 22615 40.791 0.296 17.868 0.347 35702 | 571.965
18 21 | 60 22.746 40.891 0.296 17.837 0.346 35641 | 572.022
18| 22 | 60 22.876 40.991 0.296 17.806 0.344 35579 | 572.085
18| 23 | 60 23.007 41.090 0.296 17.775 0.343 35517 | 572.153
18| 24 | 60 23.138 41.190 0.296 17.744 0.342 35.455 | 572.228




18 25 60 23.269 41.289 0.296 17.712 0.340 35.392 | 572.310
18 26 60 23.400 41.389 0.296 17.681 0.339 35.329 | 572.398
18 27 60 23.531 41.488 0.296 17.649 0.338 35.265 | 572.493
18 28 60 23.661 41.586 0.296 17.617 0.337 35.201 572.596
18 29 60 23.792 41.685 0.296 17.584 0.335 35.137 | 572.706
18 30 60 23.923 41.783 0.296 17.552 0.334 35.072 | 572.824
18 31 60 24.053 41.881 0.296 17.519 0.333 35.006 | 572.951
18 32 60 24183 41.978 0.296 17.486 0.332 34.941 573.086
18 33 60 24.313 42.074 0.296 17.453 0.331 34.875 | 573.230
18 34 60 24.442 42171 0.296 17.420 0.329 34.808 | 573.384
18 35 60 24.571 42.266 0.296 17.387 0.328 34.741 573.548







